No.85 Yungu Road,Changshou,
Zhouzhuang Town,Jiangyin,Jiangsu,P.R.China

AREIRETREERKECMESSS

+86 510-86366206
+86 510-863666117
+86 510-86366260

sales@conedrive.com.cn

(C) Cone Drive

BY TIMKEN

[El 4 ENRRIRT =

SLEWING DRIVE
SOLUTION

ME=(IF)EHNERAE

Cone Drive (Jiangsu) Power Transmission Co.,LTD




CONTENT H x

CODE DESCRIPTION  4%#315 88 01
MOTORS OPTION  Eh 3%k 02
COMPANY INTRODUCTION A E] &4 03
PROJECT CASE T HEZ#I 05

W SERIES WZ7FI

W7 -oemmmmm e 07
WG --emmmmm e 08
Wz AR e 09
W e S P 10
iy o FE T ZENRE 11

Vo™ S = LS e 12
W2T oo T AN el 13
kot~ PERLED RN | WO NP 14

e . BRI 15
[ 16
WET4 --ommemmmmmmeem oo 17
s 18
e 19
e e ST B e 20
WEDGRL e AR T 21

WEA SERIES WEAZZ

Wiowehs e, . 22
WEAQ ----smm-smmmmmem oo 23
e 24
N 25
WEAT4-2 --ommmmmemmmmmeemo oo 26
WEATS ---snmmmmmmmeommemo e 27
e e e et 28
WEATT-2 ~=mmrmmmmmmemmomm oo 29
WEAIOBS = 2 s n il 30
WEARI s L 31
A . 32
e e i e SRR 33
e Pl R SR e e S oy 34
DS e Ui e 35

WEB SERIES WEBZJ

- 36
WEBQ -----snmmmmmmmmem oo 37
WEBT2 - 38
= 39
17 R —— 40
WEBTS ----sn--mmmmmemm oo 41
WEBTT ----smemnsmssansems s 42
WEBT7-2 --s--smmrsmmmmsansemmenneaseesoes 43
= 44
ERD il g 45
T 46
WEB25 ---en-mmssssemssamssnaes s, 47
T ER R 7 = 48

SE/PE SERIES SE/PEZ7!

SE3CIPE3C oo 49
O e 50
S PE T - 51
SEer e e S T =
SRR A =2 o S 53
SR A P 4 e 54
SETTAIPETTA ------mmmemmmmcmec e 55
SE21/PE21 --------omm oo 56
DI e 57

SEA/PEA SERIES SEA/PEAZZI

SlE N EE L et T et T LI L e 58
SEAT2/PEATR - 59
SEAT4/PEATS - 60
SEATH AT B st et o1
e e T 62

SEA2B[PEADS -----snxscsassassansasneas 63

SEB/PEB SERIES SEB/PEB#:7!

SEB7/PEB7 --------mmmmmmmmmmmmmeeeeeaoee 64
SEBO/PEBQ ---------=-==-=mmmmeeeeeeeaee 65
SEB12/PEB12 -------------mmomommoooomee 66
SEB14/PEB14 ------------omoomomoe e 67
SEBI7C/PEBITC <---evemmmmmmmmmmmmeeeeeaee 68
SEBLWPEER] - - 69
SEB25/PEB25 - 70

HSIE = 71
e 72
e 73
e et 74
)= 75
)= 76
) =7 77
7 S — 78
HSEZD e R TS 79
(S ER b RN LS 1l L 80

HESPN SERIES HESPNZ:7!

HESPN-0223 -----------an-omoemoemoe oo 81
HESPH-0480 -------------om-no-oomeooeee 82
1000 SERIES 1000%%1 83

4000 SERIES 40007 84



R85 BB cooe oescriron G W BE Lorozs oprion

Encoder 4®i32%

Code 1.2 3 4 5 6 7 8 1 12 13 14
[ [ [ [ | |
Description: Model code Gear Worm shaft & S Motor OEM
Order information: - - - ‘ 160 ‘ A‘ 24.15.200 ‘ - ‘ 7z ‘
(Example)
Option: OEM customer special applies. EPUSHRER
—.
24.15.200 Motor code. RS AC Motor /)(\;ﬁEE,*ﬂ,
None For hydraulic Motor or no motor. WEDIAS T
A Away, hydraulic port direction. EDXHEROGE: 885
| In, hydraulic port direction. BEDKHEHOSE: #A.
u Up, hydraulic port direction. BEDKHEROAME: $BE.
D Down, hydraulic port direction. BEDKHEROSE: 8T,
None For electric Motor or no motor. BT
160 Hydraulic motor's displacement, cc/rev. (by design) WREDILHEE, cofrev. (IGHHEE)
None For electric Motor or no motor. BT
R Right, motor position kG,
L Left, motor position =y
F Front, motor position LhikRi%,
B Back, motor position OikFE,
None Worm number, None means one worm. IR, BAAY
2 Worm number, "2" means two worms IRITEE, HE: 2.
—‘—\t
AC Motor 3Z7REEA
None End cap L AN I,} I,L' ,,,,,,
H Hex extrusion L e3Py Shav=-E N
E Encoder RIS (AIER), IFMAG.
None Mounting motor LR EDIA
B SAE 6B spline SAE 6B
12 12mm hole with keyway 12mmAFIEER .
16 16mm hole with keyway 16mmAFIRIES .
25 25mm hole with keyway 25mmAHISEET, .
None  Metric blind screw hole. a7l
B Imperial blind screw hole. A, SMBESEEIR ST .
T Thru hole on inner ring and Metric blind screw hole on outer ring. REEHFL, SMNBEAFIREEF.
| Metric thru screw hole on inner ring and metric blind screw hole on outer ring. NHEIREGEFL, IMBEABIBRIETL .
BT Thru hole on inner ring and Imperial blind screw hole on outer ring. @A, SMNBEHIRN SR .
Bl Imperial thru screw hole on inner ring and imperial blind screw hole on outer ring. RBZEENRSGETL, MBS
85  Reduction ratio, see code 3. IR, 4RG3 DC Motor E;ﬁ%*}l
A Lip seal(S & W)or advanced (V) BAEHERE (S&W) , itk (V)
c Dual seal W R
@ WRELEH
None %
3 Size in inches of ball path diameter,reduction ratio:62. WERREFLER, PO, BR: 62,
5 Size in inches of ball path diameter,reduction ratio:62. WEREROER, SR, MR 62,
7 Size in inches of ball path diameter,reduction ratio:73, 60, 47. WERREROER, PN, HEL: 73, 60, 47.
9 Size in inches of ball path diameter,reduction ratio:61, 62. WERREFLER, PO, Aiktk: 61, 62,
12 Size in inches of ball path diameter,reduction ratio:78, 79. WEREROER, SR, MR 78, 79,
14 Size in inches of ball path diameter,reduction ratio:85, 86. WEGREROER, SN, Rkt 85, 86,
17 Size in inches of ball path diameter,reduction ratio:102, 81, 104. WEREFLER, PO, Hiktk: 102, 81, 104.
19  Size in inches of ball path diameter,reduction ratio:93, 115. MEREROER, SR, REH: 93, 115,
21 Size in inches of ball path diameter,reduction ratio:125, 90. WEREFLER, PN, Hit: 125, 90,
25 Size in inches of ball path diameter,reduction ratio:150, 144, 104, 94, 108, 54. WEREFLER, PO, BiRtL: 150, 144, 104, 94, 108, 54,
E Enclosed housing slewing drive. E=R BN E . :—‘—J_ D_] A
EA Oil seal ek Hyd rau“C MOtor AQ j:_ J$
EB Dual oil seal DG
None  Open-housing slewing drive. BRI EIE IR E
s Helical gear. FHAR
w Worm gear. Losec)
z Zero backlash. FRpE
P! Precision, low backlash. BEE, (KER
HS Heavy load, worm gear. BHE, RN
sD Dual axis, helical gear. SUHEL, FHA
WD Dual axis, worm gear. TUHEY, RS
PD Dual axis, helical gear, precision. WA, {EiEps
WDP  Dual axis, helical gear, zero backlash raceway, precision. XUhEY, #H5, KER, RETER




BME= (I7%) E8RAE (R&: "IR®
ErFeeRERIRERMRAT") , I T2008%F,
B EBCK B RERD T A2 M4 B % 5L 28 U B R So 1
WV, RET2HRIRHARTWENTHRASEEE
HKBEAE, MEERFBEATNEHERAR, T2,
FaRkRETENRR, AELEL CRFEelE.,

MBERFUEPIFRARZD, SRITHA.
BREFNEMARS N—IK, BXTRALSIMITI R
Tt AERFEUFEMA RRERSHIENERTT
RNEFUN S RERS.

Cone Drive (Jiangsu) Power Transmission Co., LTD (Original
name"Jiangyin Huafang New Energy. High-Tech Equipment
Co.; LTD"), founded in 2008 ,Cone Drive is:a US based world
leader in precision motion control technology whose parent
company is Timken, a world leader in engineered bearings
and power transmission ‘products.-Inheriting the advanced
technologies, processes, products and the Quality Manage-
ment Systems from the parent company.

Cone Drive has been unremittingly pursuing innovation and
excellence and has become a world leader in solar tracking
systems and industry equipment applications. By cohesively
integrating R&D, intelligent manufacturing, and service,
which is centered with customers and products, Cone Drive is
focusing on technology development so as to lead the indus-
try, and provide most efficient slewing solutions and custom-
ized high-quality services! for the global-green and sustain-
able initiatives.




I*E?EWIJ PROJECT CASE

BEZEFCEEH, Truck Crane

B=EZE  Aerial Work Platform

IREFTIREEZE  Concrete Mixer

=L C3=] i ; . . —
BEIEEY] Roadway Repair Machine ZINREELHL  Multi-purpose Drill E5ZE  Sewage Suction Truck BZSE%E vaclum PUmp ek



SLEWING DRIVE [EI§5=tiEiES SLEWING DRIVE [EI§5=t %S

UNITS/E {i:mm UNITS/#  fizmm

1inch=25.4mm 1inch=25.4mm
Weight:29kg Weight:40kg
FRONT VIEW INPUTIEREE FRONT VIEW INPUT NGNS
EME EAE
Cover
A +0, 66 Cover A ! 66
wrE\ A 5 0 Sover | pin2
55 5 = £ R
+0.065 ‘2\ +0.065 N SSS
<4 @25 +0025 /() B < @25 w0025 /) ////= I ~
| g g
§ 1241 92 1241 %2
2 g Q== =B g ke S HHESME N = =g
N T Y =N g ” 3 TN g
0 oo nﬂ%@&§‘ S 0 oo BN Q
5 @ .‘\\ = - e Equally Spaced @ P -
I L Equally Spaced N = + q ié?ﬁp N - e
s 2-M12x1.75 27.5 2-M12x1.75 27.5
11-N L ¢ 15-N
142.5 Based On 12 Equally Spaced @25 244 - Based On 16 Equally Spaced @25
20657 B125119% 52 [ Input s\ 1167197 5
| t A ‘0. | 22 +0. ]! 22
[Input NG 225.32 %05 i SIDE VIEW 2220 225.32 105 0
SIDE VIEW 0175 2 \@ ¥ S| \z= A T Teis] | 15.018 0215925 YO S| \e=
m 20 =] . . % - I = I . +0.3 N N I
uE 2132 11-014 S S 2145 i T Based On 16 Equally Spaced =
——[,| | Based On 12 Equally Spaced — L7+ Nl e ®167.19%0 ] L7+ N) ]
N 1761 & © = 17¢1 &| 18
12501597 I Q % ol eg 1 Q o
0|6 . : 10 S o §% : 10 S
o - S & -
[« s | : |
©
2-M12x1.75 275 © 2-M12x1.75 275
6B Splinettss 6B Splinettst
G =] _— TRk ounting Holes Option —— _ =] _ S i ounting Holes Option
7# & 7IEEE] MOMENT LOAD CHART FTEEFLEIR v Holes O 7R & JIEEE] MOMENT LOAD CHART L4 FL%IR Mounting Holes Opt
= 15 (11.07) Code M . N . R = 36(26.57) M N
¢35 125(9.23) K55 (Outer Ring 5M) (Inner Ring M) 35 30(22.14) : (Outer Ring 4ME&]) (Inner Ring &)
g ga
2 g 10 (7:39) M12x1.75 Tap (I&iF)22 M12x1.75 Tap (IiF)22 E % 24007.71) M16x2 Tap (IZ%)30 M16x2 Tap (IZ%)30
- X _ x X x _ X %
é E 75 (5.54) . ap (BUR) . ap (BUR) é g 18(13.28) ap (BGR) ap (BGR)
g E 5 (3.69) T M12x1.75 Tap (I%)22 @14 Thru (J&@FL) 2 o 12 (8.86) T M16x2 Tap (IZ%)30 @18 Thru (1&@7FL)
o B o =
g5 2008 B | 1/2"-13UNC-2B Tap (IiF)22 | 1/2"-13UNC-2B Tap (BF)22 £ B 81w B | 5/8"-11UNC-2B Tap (BUF)30 | 5/8"-11UNC-2B Tap (BF)30
F =
= 4445 88.89 113.33 177.78 222.22 BT | 1/2"-13UNC-2B Tap (BLR)22 14 Thru (18 100 200 300 400 500 600 BT | 5/8"-11UNC-2B Tap (Bi%)30 @18 Thru (i
(10) (20) (30) (40) (50 AETEINEASED (T @14 Thru (iE3L) (22.5) (45) (67.5) (90) (112.5) (135) ap (5%) ru (B)
Axial Load a1 farkN (x 103 Ibf) Axial Load 3@ kN (x103 Ibf)
'Eﬁg%ﬂ% Slewing Drive Performance Parameters ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters
Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
HHEEE B H%E RIFNE AR REgHE | mEmEET | fEmEET | RSt | BESR | Z8 e REHE RIFHE MOEET | REEBRET | BEDET | FEmEE | OmEL | BESER | 2=
3.5 kN.m 14.2 kN.m 20 kN.m 220 kN 90 kN 63 kN 48 kN 8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN
47:1 | <0.15° | 2%g 62:1 | <0.15° | 40kg
2583 Ibf.ft 10.5x10°%Ibf.ft | 14.8x10°Ibf.ft| 49.5%10°Ibf 20.2x10° Ibf 14.2x10°% Ibf 10.8x10% Ibf 5904 Ibf.ft 26.3x10%Ibf.ft | 25.5x10%Ibf.ft | 129.9x10%Ibf| 48.3x10%Ibf | 30.6x10°%Ibf 25.9%10° Ibf
o A ©Please be sure to remain under the curve BERSTESFASERATER. 3 o A ©Please be sure to remain under the curve BRI EELFA G EAOER.
. QE\V;%AELEXEU‘&I”S QJI}JI;T,WED & * This drawing is just for your refenece. LA B4RVt &% : . %E\VQI%IXLJF’;;L{TA"’S Q]I}I;”.%WED A * This drawing is just for your refenece. LL LIRS X . 1
& e This drawing is susbject to change due to new design without prior notice. AxA SHR B HGH = REAF | & e This drawing is susbject to change due to new design without prior notice. AN EHRERHH = SRAURF] |
, 5 WABSTE. 3 , 5 WABESTEA. 1
SPECIAL DESIGN BASE ON ClgS/‘[OMI_EB§ REQUIREMENT E * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CEJS,IOM_EB? REQUIREMENT i * Please contact the technical department for dimensions and performance parameters of the drives. |
ARIEENE R TIFR Rt et sl iy | ARERENERIETIFFRIT 2

NRFEEBNIIMERIMMESEY, ESRARIIKER.




SLEWING DRIVE [EI§5=tiEiES SLEWING DRIVE [EI§5=tiRiEsS

UNITS/E fi:mm UNITS/E {iz:mm

1inch=25.4mm 1inch=25.4mm
Weight:52kg Weight:62kg
FRONT VIEW INPUTIERNGEHE] FRONT VIEW INPUT Nl
EWRE TERE
Cover +0.08 66 Cover +0.08 66
RS 8 +0.02 H BRI\ 8 +0.02 H
Grease Nipple @05 100es © f\ -‘sh\
T i = T — =
a i 1241 92 ) 3o
ol | il e TV O8] N 1= © ® H— ©
~ N N
@ 18-M go N s & 18-M N @
- Equally Spaced © "l/\’\\\!& al S Equally Spaced RN S
oo} ANNNNNY — A
2 55 & S — ) A )
, 19-N 2-M12x1.75 275 23N 2-M12x1.75
Z 1 1 Based On 24 Equally Spaced T
Based On 20 Equally Spaced @25 12247197 @25
207197 Y
52 i 52
N Input %N 4051 | 22 Input I\ +0.51 | 22
©25.32 +0.3 & ~ ©25.32 +03 ~
SIDE VIEW 0. ‘ r NN B SIDE VIEW gggg 1 ) r N B
AR @310 19-18 T S g e ©255.27 e > g
[@259] 2 ©2255.27 __1i[|Equally Space So
0929 | Based On*20 Equally Spaced E — 4744 gl g | vl i — »L»17t1 gl 8
1%207L197% 3 | o ol 1 | o £8 ‘ &
ol 3 UN; - | 10 S 9© {E'B 1 ] © g - | 10 S
E @} ' : € ’ - B 2265 ) g ’ -
© 2-M12x1.75 275 S350 © 2-M12x1.75 275
o 422 L
6B Splineftig 445 6B Splineftig
—— iFE J35EE] MOMENT LOAD CHART——— — ZZ%EF| IR Mounting Holes Option ——— —— &EH J35EE] MOMENT LOAD CHART————— — ZZIF|IBIA Mounting Holes Option —————
0 & 60 (44.28) i T T . 72(53.14)
%‘i 50 (36.9) K@ (Outer Ring 4M&) (Inner Ring FIEE) % g 60(44.28)
E % 40(2052) 5o 48(35.42
= % — M16x2 Tap (BGF)30 M16x2 Tap (BGF)30 E X ( ) — M16x2 Tap (BGF)30 M16x2 Tap (I:%)30
2 > 30(2214) § E  36(26.57)
é; Q 20 (14.76) T M16x2 Tap (Bi%)30 @18 Thru (i®7L) é £ 24017.71) T M16x2 Tap (BUF)30 @18 Thru (J&@7L)
2R @
g i 10 (7.38) B | 5/8"11UNC-2B Tap (IF)30 | 5/8"-11UNC-2B Tap (IF)30 2 B 12 (8.86) B | 5/8"-11UNC-2B Tap ()30 | 5/8"-11UNC-2B Tap (BZiF)30
= [
150 300 450 600 750 " . S > L= 200 400 600 800 1000 " " S 3
(3575) (67.5) (101.25) (135) (168.75) BT | 5/8"-11UNC-2B Tap (B0F)30 @18Thru (&7L) 2 3% 5%, 809 o9 BT | 5/8"-11UNC-2B Tap (BGF)30 @18 Thru (&%)
Axial Load $HIE KN (x103 Ibf) Axial Load S[E KN (x103 Ibf)
'Eﬁg%ﬂ% Slewing Drive Performance Parameters ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision

e REHE RIFNE MEEREE | ARSEET | HEDRET | fEmEET | OREt | BESR | Z58 BILEEIE REHE RIFHE HMEHHE | FABHE | HEsEE | fEmEET | REt | BESR | B8
9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN 10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN
79:1 <0.15° 52kg 86:1 <0.13° 62kg
7011 Ibf.ft 42.1x10°Ibf.ft | 32x10°Ibf.ft 171.1x10%Ibf|  62.9x10%Ibf | 42.7x10°Ibf 33.3x10° Ibf 7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10°Ibf| 80.9x10%Ibf | 51.7x10%Ibf 44.9%10° Ibf

o A\ ©Please be sure to remain under the curve BEREETESFASERATER. 3 o A ©Please be sure to remain under the curve BRI R LFA G AOER.
. QE\V;%AELEXEU‘&I”S QJI}JI;T,WED & * This drawing is just for your refenece. LA L B4RVt &% : . %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A * This drawing is just for your refenece.LL LIRS , |
é © This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI § » This drawing is susbject to change due to new design without prior notice. AN EHR BB BUH = RAIRGF]
, o TABBTE. : , o MABBTEM. 3
SPECIAL DESIG,fNEASEEEgN %’J&S,I?Q:ER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘;EBASEEB(;N %L;;Igg/l;R iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. !
FIRRRUE IR R ARy 5 NREBEEMNUR TSRS SN, BERABIIEER, | FIRIBRE SR EH TR = |

NRFEEBNIIMER IS EY, ESRARIIKER.




SLEWING DRIVE [E§53E %28 SLEWING DRIVE [E§miES

UNITS/E fi:mm UNITS/E {iz:mm

1inch=25.4mm 1inch=25.4mm
Weight:82kg Weight:95kg
FRONT VIEW INPUT DN FRONT VIEW TEDINIE]
EHE EE]
. 66
Cover  |a 8 1008 Cover +008
GrE\ "t o R 02
) ! @25 +0.025
Grease l?hpple @25 ﬁggg @ f\@ s ‘ S _
ARG I r
<
8 < [t} [ ©
% S)HE . s TlonTid)
N 20-M So - \),),,,, N 32-M $°
Q|4 Equally Spaced $ -\\\‘l\\\ L E Equally Spaced $ Q\‘ <
& @%©@ .‘= 31N 1970 « 2-M12x1.75
20-N
2-M12x1.75 275 Based On 32Equally Spaced
Equally Spaced U ?§32¥E1’£J?g ° @25
[nput BINGR - @25
52 Input NIR
. ! 22
SIDE VIEW 2422.9 | 225.32 105 i —
. . S ‘ LE
MARE 2365.1 | 20-218 4051 ‘ r + SIDE VIEW @470 ‘ $S
Equally Spaced 221.59 +03 & < I MALE @420 Q
Bt <TES @380 31-018 ©
+ o
|y o 2 o <l i 171 8] f || |Based On 32 Equally Spaced
3l % @3 iR ss 2 0 < OOI oo ] 2 i =327 051
Ak re) — B © / fﬁ\ AN i TS @21.59 +03
2 L - & o) 3 'O 125.32 +0.51
. © 2-M12x1.75 275 i @470 .32 403
525 : 0520
2535 6B Splinetti gggg 6B Splinetti
———— A& &P XEE] MOMENT LOAD CHART——— ———— THEAEIR Mounting Holes Option ———— —— FEH BB MOMENT LOAD CHART————— LEEFL IR Mounting Holes Option
L 150(1107) - " N L, E 200(147.46) M N
% («i 125(92.25) (h¥] (OUter Ring gl\) (Inner Ring m) 3 (:)2 160 (117_97) (Outer Ring 9|‘) (Inner Ring |7\])
= % 100 (73.8 e e
£ E 75 (;5 35)) — M16x2 Tap (B%)30 M16x2 Tap (KF)30 € £ 120 (8848) — M16x2 Tap (BGR)32 M16x2 Tap (BR)32
E Z : 2z
S @ 50 (36.9) T M16x2 Tap (KF)30 @18 Thru (E7L) S = 80 (5898) T M16x2 Tap (BF)32 @18 Thru (i&@7L)
£ R 25 (1845) " . 25 40 (29.49) -
cEH ’ B | 5/8"-11UNC-2B Tap (BiF)30 | 5/8"-11UNC-2B Tap (BUR)30 Zm B | 5/8"-11UNC-2B Tap (I%iF)32 | 5/8"-11UNC-2B Tap (BiF)32
& &
4535 907.1 BT | 5/8"-11UNC-2B Tap (BIF)30 @18Thru (&7, 300 600 900 1200 1500 BT | 5/8" ;
&g (018 (523 2055) (5o P (R 650 (67 44) (158.38)(205 32)(269-76) (339.2) 5/8"11UNC-2B Tap (5F)32 | @18 Thru (&)

Axial Load i@ &7a7kN(x103 Ibf)

14 &EZ 4L Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
R B H%E RIFNE ISR D=2 A EhE e RamHEE | R | BESR | Z82
12.96 kN.m 142.4 KN.m 58 kN.m 1166 kN 435 kN 280 kN 231 kN
104:1 <0.1° 82kg
9564 Ibf.ft 105x10%Ibf.ft | 42.8x10°Ibf.ft| 262x10°Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10° |bf

“A” VIEW AS INPUT IS ALLOWED

BNRAFE ‘A" @RE

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRZT

* Please be sure to remain under the curve. BT iEHHREFRE R ZSEEIN o

 This drawing is just for your refenece.lA B4Rt S %,

» This drawing is susbject to change due to new design without prior notice. 482X SR 88 B 7= SaFIALF)

MABSTEN.

* Please contact the technical department for dimensions and performance parameters of the drives. !

MRFBEBENIMERIMMEES T, BESRATIIKER.

Axial Load 3 fsTkN(x 103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision VVeight
Enfatesie) REHE RIFHE HEERETE R WEmEE | ROmEE | RR | BESR | =2
18.5 kN.m 170 kN.m 80.1 kN.m 1400 kN 525 kN 290 kN 250 kN
94:1 <0.1° 95kg
13653 Ibf.ft | 125.5%10°Ibf.ft | 59.1x10%Ibf.ft | 314.7x10°Ibf 118x10° Ibf 65.2x10° |bf 56.2x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBAYFE A" ERE

* This drawing is just for your refenece.LA B RS %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AREMENE R TIFRET

MRFERBNIIMER IS EY, BESRARIIKER.

A * Please be sure to remain under the curve. 5B R SR LR A ELSBEMA
4
3
f
iz

» This drawing is susbject to change due to new design without prior notice. 22X S} 88 B R AIIF]
MABSTEA. |
* Please contact the technical department for dimensions and performance parameters of the drives. !



SLEWING DRIVE [E§53E %28 SLEWING DRIVE [E§miES

UNITS/E fii:mm UNITS/E fiZ:mm

1inch=25.4mm 1inch=25.4mm
Weight:139kg Weight:176kg
FRONT VIEW INPUTIEDRNGE] FRONT VIEW INPUT RN
EME ERE
A Cover
Cover
HiRE l 4-R10 66 [aE 4-R10 66
‘ % %//\\\é Fo
g \\\\ © g ©
9 /A’/ 12:1%0 o e 1241 %
N -7 i : o - i ©
& ///////// g 3 2106.4 o
© +0.065 <] \“ Q Y +0.065 > \\\ Q
N 4 ®25 +0.025 ////"///\\\\\\ g25 +0.025 //II////\\\\\\
12x1.75 Tap( BGH 21 12x1.75 Tap( BGR 21
87 Based On 36 EquaIIy Spaced P(EL ) it )
1#%367L19% _ k]
@25 nout _— @25
Input N 4-513 nput I 4-R10 o
$$ \ ! =R ! !
SIDE VIEW & SIPE VIEW ggé; , Q - é%@%
MARE 0526 ‘ © s o e \ 9| &z 8
214667 ‘ © & 2525 24-¢22 O TR L5 224159
0425 ) 35-922 } = ; EquaI%Spaced S ES N — T 8
Based On 36 Equally Spaced +0.51 % 2106.4 olo ! XN o i +051 % o
= , 1367197 22159 03 3 "E, I 22159 103 S
oI +0.51 -~ o L g
el ' @25.32 +03 f +
e @, 02532 103 2-M12x1.75 Tap( BGR )21 22532 w03 2-M12x1.75 Tap( BUE )21
120
P @750 [
2652 6B Splinefzi 6B Splinefz#
—— &&E 6B MOMENT LOAD CHART—————— — FTEEFLIEIR Mounting Holes Option ——— —— 7&& JI%EE MOMENT LOAD CHART————— — FEFLIEIA Mounting Holes Option
o g 240 (177) M N o g 352.3(260) M N
g5 200(147.5) v (Outer Ring 4M&) (Inner Ring PIE) 52 208.1(220) : (Outer Ring 4M&) (Inner Ring PIE)
o O o O "
= % 160 (118 Ll
g 120 ((88 5)) — M20x2.5 Tap (BGR)40 M20x2.5 Tap (BGR)40 g §  257.5(190) — M20x2.5 Tap (BUR)40 M20x2.5 Tap (BUR)40
£ =z - € Z
22 &0 (59 T | M20x2.5 Tap (BGR)40 @18 Thru (&3L) s g 2168(160) T | M20x2.5 Tap (BGR)40 @22 Thru (&3L)
o B o
R R
S 409 B | 34"-10UNC-2B Tap (IZR)40 | 3/4-10UNC-2B Tap ()40 gm0 B | 3/4™10UNC-2B Tap (UR)40 | 3/4™-10UNC-2B Tap ()40
= =
1200 1500 1800 BT | 3/4"- I 1 500 1000 1500 2000 2500 BT 4"-10UNC-2B Tap (iR)4 22 Thru (i
629 (13B) 202 2)(260.8) (557) (464 %) OUES 1R e B22Thru (B3.) (112.4) (224.8) (337.2) (449.6) (562) 3/4"-10UNC-2B Tap (H)40 @22 Thru (&7L)
Axial Load i@ & aTkN(x 103 Ibf) Axial Load #ira#arkN(x 103 Ibf)
'Eﬁg%ﬂ% Slewing Drive Performance Parameters ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters
Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘'/eight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
R B H%E RIFNE ISR RFEgHE | mEmEET | fEmEET | OREt | BESR | Z8 e REHE RIFHE MOEEST | FREEBRET | BEDEET | FRomEE | OmEL | BESR | 2=
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN
90:1 <0.1° 139%g 104:1 <0.1° 176kg
21180 Ibf.ft 105x10%Ibf.ft | 78.1x10°Ibf.ft| 359x10°Ibf 144%103 Ibf 87x10°Ibf 75%10° Ibf 25240 Ibf.ft | 229%10° Ibf.ft 117x10° Ibf.ft 531x10% Ibf 212x108Ibf 133x10° Ibf 106x10° Ibf
o A ©Please be sure to remain under the curve BEREETESFASERATER. 3 o A ©Please be sure to remain under the curve BRETBERESFEFENSTEAR. 00
. éi@%ﬁlﬁgqu’s QJI}J;,WED & * This drawing is just for your refenece. LA B4RVt &%, : : \igjivg;—ﬁgng Q]I}I;”.%WED A * This drawing is just for your refenece. LL LIRS X . |
§ © This drawing is susbject to change due to new design without prior notice. A A EI{REB B P~ RAIALFI & e This drawing is susbject to change due to new design without prior notice. ANAEHRERBIH = SRAURF] |
, 5 MRBSBTEN. : , 5 WABESTEA. 3
SPECIAL DES_IIG’f%;%SEEEgN %';ES,I?Q:ER iREQUIREMENT r('i * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT i * Please contact the technical department for dimensions and performance parameters of the drives. |
RIS KA AR T NSREREONYRIMLESEYN, BSHAD IKE. 3 PRI E A AT % :

MRFERBOIMER IS EY, ESRARIIKER.




SLEWING DRIVE [EI§5=tiEiES SLEWING DRIVE [EI§5=t %S

UNITS/E fizmm UNITS/& {i:mm

1inch=25.4mm 1inch=25.4mm
Weight:48.5kg Weight:61kg
FRONT VIEW INPUTIERNGEE] FRONT VIEW INPUT RNl
ERE TFRE
Cover A +0.08 66 c A +0.08 66
R175.5+2 8 +002 over R218+2 8 +0.02
prE)L . o o 19 BIPEN | . ln
rease Nipple +0.065 7 7 s / V Z
; @25 0, N == =
T 00 (©) % - ) .S(/li\\\\ -
l; 8 N\WZl=) 8
. NN | 1251 22 G| | 1211 22
N ) S 0
N2 S N S
16-M 0 -'L.\\\\‘\\‘ | '-'L.‘\\\‘\\‘ 3
Equally Spaced & L .‘E 2 “E
2 2-M12x1.75 27.5 - o 2-M12x1.75 275
15-N I I - I I
Based On 20 Equally Spaced
Based On 16 Equally Spaced
t 2447 #167L157% @25 o P~ 1£207L19% @25
" -1 52
Input EINIH +051 It 22 ! " | 2
@25.32 +03 £ ~ Input N . +o:51 &
+ +0.51 [ — r —-
?IE‘E VIEW R133 @255 -é @21.59 +0.3 4 3 . SIDE VIEW ®340f§ 3 T
e 15-918 o mE  R173 (9259 | So
8 2145 ‘ : . —Hd7e1 & 8 - 9| @229 i 19-218 . [lizer o 78
2 X Based On 16 Equally Spaced 0 5] : — 8 o i Based On 20 Equally Spaced ] il 18 <&
= © R167L19% $s 0 ) ~ }ﬁzo%ﬂ’aﬁ S f ] &
~ @% ‘_*— o < Z I I 5 {g ¥ S 10 g ]
- g T 2:M12x1.75 7 @3 ' g =
= - x1.
222252 215 “ 215
@270 o .
2325 6B Splinefzs 6B Splinefti

—— &E J35EE] MOMENT LOAD CHART————— L %EF|IEIA Mounting Holes Option ———

—— R E JI5EE] MOMENT LOAD CHART—————

ﬁ%;biﬁlﬁ Mounting Holes Option

— 36(2657 -
o E ( ) Code M N Y & 60 (44.28) N
72 30(22.14) e (Outer Ring 4MNE]) (Inner Ring &) 32 50 (36.9) (Inner Ring PIFE)
g 2arm M16x2 Tap (BF)30 M16x2 Tap (BOF)30 2 $ 408 M16x2 Tap (B0F)30 M16x2 Tap (B%)30
X _ N " oy _ 2 Tap (R 2 Tap ('R
2E 18(1329) ap (BUF) ap (BUF) S5 we P (BOR p (BOF
= w 12 (8.86) T M16x2 Tap (BU%R)30 @18 Thru ({@7L) 22 20(1476) T M16x2 Tap (BR)30 @18 Thru (3&7L)
j=2 o
% @ 6 (4.43) B | 5/8"-11UNC-2B Tap (BUF)30 | 5/8"-11UNC-2B Tap (BIF)30 § @ 10 (7.38) B | 5/8"-11UNC-2B Tap (BGR)30 | 5/8"-11UNC-2B Tap (BIF)30
=
100 200 300 400 500 600 BT | 5/8"- ! KR j = 150 300 450 600 750 BT | 5/8"-11UNC-2B Tap (KR 18 Thru (3
(22.5) (45) (67.5) (90) (112.5) (135) ORI A ED s I DN (33.75) (67.5) (101.25) (135) (168.75) 5/8"-11UNC-2B Tap (BZ#)30 @18 Thru (B7L)

Axial Load #i[a #efeTkN (<103 Ibf) Axial Load fiE)#fsTkN(x 103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output

Tilting Moment

Holding

Static Axial

Static Radial

Dynamic Axial Dynamic Radial

Gear

Tracking Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
R REHE RIFNE MEEREE | ARSEET | HEDRET | fEmEET | OREL | BESR | E58 BHEEEE REHE RIFNE HMEHHE | FABHE | HEsEE | fEmEE | OREt | BESR | B8
8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN 9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN
62:1 <0.15° | 48.5kg 79:1 <0.15° 61kg
5904 Ibf.ft 26.3x10°Ibf.ft | 25.5x10°Ibf.ft | 129.9%10° Ibf 48.3x10%Ibf | 30.6x10°Ibf 25.9x10° Ibf 7011 Ibf.ft 42.1x10%Ibf.ft | 32x10°Ibf.ft 171.1x10% Ibf 62.9x10%Ibf | 42.7x10°Ibf 33.3x10%Ibf
o A ©Please be sure to remain under the curve BERESTESFASERATER. o A ©Please be sure to remain under the curve BRI R LFA G AOER.
. QE\V;%AELEXEU‘&I”S QJI}JI;T,WED & * This drawing is just for your refenece. LA L B4RVt &% : . %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A * This drawing is just for your refenece.LL LIRS , :
é © This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI § » This drawing is susbject to change due to new design without prior notice. AN EHR BB BUH = RAIRGF]
, o MABSTEM. ! , o  MABS{TEM. 1
SPECIAL DESIGN BASE ON ClgS/‘[OMI_EB§ REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CEJS,IOM_EB? REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. |
AIREIRE R K TIRRR T S NETEEEMNERTTINAS T, BRI T, ! AIRIER SR ERETIFRRIT 4

NRFEEBNIIMER IS EY, ESRARIIKER.




SLEWING DRIVE [E§5= RS2

FRONT VIEW
ERE
Cover

PR,

380

190

R235.5+2

UNITS/# {i:mm
1inch=25.4mm

Weight:68kg

INPUT N

+0.08 66
8 +0.02

+0.065

@25 +0.025 @

g xeniz

.2

382.55 o

28.3 0

ki

23-N 1 T

Based On 24 Equally Spaced

30152 1%:24719% @25
| 52
Input I\ 051 22
1 51 ) —— _
SIDEVIEW  R1g3 @380 : - 2
MARE o $o
e %—-{‘ 23-018 L1741 %l +$
~ Based On 24 Equally Spaced ! Qo
- : ®243L19% : 10 8
on :

— R&EIIEE viomenT Load cHART—————

2-M12x1.75

6B Splinetzsz
_— §§;Liﬁlﬁ Mounting Holes Option —— 8

Code

M N
e (Outer Ring 4MNE]) (Inner Ring &)

— M16x2 Tap (BG#)30 M16x2 Tap (BiF)30

T M16x2 Tap (BOF)30 @18 Thru (i®7L)

B | 5/8"-11UNC-2B Tap (BZiF)30 | 5/8"-11UNC-2B Tap (%)30

—  72(53.14)
0 &
s = 60(44.28)
e g 48(35.42)
- X

€
g E 36(26.57)
g o 24(17.71)
2R 12 (8.86)
g o

&

200 400 600 800 1000
(51)  (101) (152) (202) (253)

BT | 5/8"-11UNC-2B Tap (BG%)30 @18Thru (&FL)

Axial Load 3#[a)3 kN (x103 Ibf)

14 &8 Z243E Slewing Drive Performance Parameters

SLEWING DRIVE [E§5% iR %ES2

FRONT VIEW
TFRE
Cover 'T‘

BairE

o

R280.5+2

Grease Nipple

UNITS/& {iz:mm
1inch=25.4mm

Weight:90kg

INPUT RN

+0.08 66
8 +0.02

BRI

0 20-M 8
S Equally Spaced L
Nl ki)
T T
285
Equally Spaced
349 7 a f;];ﬁp @25
I ea ) s 52
Input 3N 0,51 22
SIDE VIEW as0’d 7 -
M| %7 ] 2 N 3
e R233 @351, | | rec
2 o 20-018 4 Mll7e1 & '8
Equally Spaced 8 ! S ]
‘—% —— < > 10 Q
< @ 7 % te) — L
«
5 b 2
@430  © © 275
24794 o
2535 6B Splinefez
— & IEE MOMENT LOAD CHART————— THFLIEIRA Mounting Holes Option
o & 150(110.7) N
§§ 125 (92.25) (Inner Ring FIE)
e 2
2 100(738) — | M16x2 Tap (LR)32 M16x2 Tap (IR)32
E 2 75(55.39)
22 50 @69 T M16x2 Tap (BF)32 @18 Thru (i&7L)
gR
g 084 B | 5/8"-11UNC-2B Tap (B0F)32 | 5/8"-11UNC-2B Tap (KF)32
h 2267 4535 680.3 907.7 1133.9 BT | 5/8"-11UNC-2B Tap (BZi5)32 18 Thru (3
{80.9) (101.9) (152.9) (203.9) (254.9) 5/8"-11UNC-2B Tap (K%)3 @18 Thru (iB7L)

Axial Load i@ #k1aTkN(x 103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision
R B H%E RIFNE AR (D=2 A Eh & REmHEE | R | BESR | Z82
10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.13° 68kg
7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10°Ibf|  80.9x10%Ibf | 51.7x10°Ibf 44.9x108 Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

* This drawing is just for your refenece.lA B4Rt S %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRZT

MABBTEN. :
* Please contact the technical department for dimensions and performance parameters of the drives. !

MRFBEBENIMERIMMEESE L, BEERATIIKER.

& * Please be sure to remain under the curve. S8Rt iE B R SCRRE I E BRI o
z
e}
3
[e]
m
4

» This drawing is susbject to change due to new design without prior notice. 482X E1{R 88 B 7= G2 FIRLF)

Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘Veight
BHEEEE REHE RIFNE HEERETE R WEEES | ROmEE | REl | BESR | =2
12.96 kN.m 142.4 kN.m 58 kN.m 1166 kN 435 kN 280 kN 231 kN
104:1 <0.1° 90kg
9564 Ibf.ft 105%103 Ibf.ft 42.8x10%Ibf.ft | 262x10°%Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10%Ibf

“A” VIEW AS INPUT IS ALLOWED
BNGBAYFE A" ERE

* This drawing is just for your refenece. LA B4 RS %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AREMENE R TIFRET

MABSBTEM.

NRFEEBNIIMER IS EY, ESRARIIKER.

A * Please be sure to remain under the curve. 5B R SR LR A LS BEA

§ » This drawing is susbject to change due to new design without prior notice. 482X S5 88 B0 S AIRLFI
a
=3

* Please contact the technical department for dimensions and performance parameters of the drives. !



SLEWING DRIVE [E§53EiR%E28 SLEWING DRIVE [E§=miES

UNITS/# {i:mm
1inch=25.4mm

UNITS/2 {i:mm
1inch=25.4mm

Weight:169kg Weight:199kg

FRONT VIEW INPUT DN FRONT VIEW INPUTE NS
ENRE IEAE
R388+3
Cover R33943 4-R10 66 Cover ’T‘ 4-R10 66
rE 8o\ e S
’ ) ///J 7 - ////ﬁ‘fé
< i 8 H < "i‘\ 8
) g ///f = 2 | 12617 o ///// 124178
< 21064| _ < < I 2
§ 0.065 ' ///‘// % © 0.065 /////// %
+0. s \\\\\\\ +0. ‘ \\\\\\\
'Q Equally Spaced @25 +0025 < /“////\\\\\\ § || 975 @25 +0025 X ////“////\\\\\\\
N 9% 12x1.75 Tap(HGR )21 1 35.-N 12x1.75 Tap(BLE)21 |35
35-N / Based On 36 Equally Spaced
Based On 36 Equally Spaced 12367197
1%367L19% @25 325
Y N . \ "
Input HiNiw i:g\f 52 Input I\ 52
g2 : W
SIDE VIEW oo o (060 //4?:‘\2= . SIDE VIEW 2
AR E = | < : so g 2650 2:1%°
2466.7 | 35-022 & 8 //A ///I 285 i @S] 35-022 - : 3
A ~ ) L i
2425 Based On 36 Equally Spaced +0.51 2106.4 // Y g 5 i| |Based 0;1 I;% }Eﬁ%alzg/ Spaced A 8
N o - | ] 5] \\
Rt Ty Tl et TG " Tl p==
A< Tl BESSE 102 2-M12x1.75 Tap(B0R)21 ' a 121,75 Tap(H7 )21
o540 8 120 0630
584.2 _ oot _
2628 6B SplineftsE ! 6B SplineftsE
—— &E J35EE] MOMENT LOAD CHART————— L %EF|IEIA Mounting Holes Option —— —— FEH FI5EE] MOMENT LOAD CHART—————— — FEEFIEIA Mounting Holes Option
o g 240 (177) M N g g 352.3(260) M 5
T 200(147.5) ¥ (Outer Ring 4hE]) (Inner Ring M) o 298.1(220) : (Outer Ring 41&]) (Inner Ring FIFE])
S o L2
£ $ 160 (118 =1
=% 190 ((88 5)) — | M20x2.5 Tap (R0 M20x2.5 Tap (BR)40 5 E 257.5(190) — | M20x2.5 Tap (BUF)40 M20x2.5 Tap (B%)40
E = . £z
2 @ 80 (59) T M20x2.5 Tap (BG#)40 @22 Thru (G&7FL) Em ;é 216.8(160) T M20x2.5 Tap (BGF)40 @22 Thru G&E3L)
2R 4o (295 5@ 176.1(130) o -
g g (29.5) B | 3/4"-10UNC-2B Tap (Ii#)40 | 3/4"-10UNC-2B Tap (KIR)40 = g B | 3/4"-10UNC-2B Tap (I&i%)40 | 3/4"-10UNC-2B Tap (KR )40
= =
1200 1500 1800 BT M T 1 500 1000 1500 2000 2500 BT | 3/4"-10UNC-2B Tap (BiF)4 22 Thru (i
G99 (13B) 202 2)(260.8) (557) (464%) e B22Thru (B3.) (112.4) (224.8) (337.2) (449.6) (562) 3/4"-10UNC-2B Tap (B)40 @22 Thru (&7L)
Axial Load #ifa) & /a7kN(x103 Ibf) Axial Load #ira#/arkN (%103 1bf)
'Eﬁg%ﬂ% Slewing Drive Performance Parameters ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters
Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision ‘'/eight Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
R B H%E RIFNE AR REgHE | mEmEET | fEmEET | RSt | BESR | Z8 BHEEEE REHE RIFHE MOEET | REEBRET | BEDET | FEmEE | OmEL | BESER | 2=
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN
90:1 <0.1° 169kg 104:1 <0.1° 199%g
21180 Ibf.ft 150x10%Ibf.ft | 78.1x10°Ibf.ft| 359x10°Ibf 144%10° Ibf 87x10°Ibf 75%10° Ibf 25240 Ibf.ft | 229%10° Ibf.ft 117x10° Ibf.ft 531x10% Ibf 212x108Ibf 133x10° Ibf 106x10° Ibf
o A ©Please be sure to remain under the curve BERESTESFASERATER. 3 o A ©Please be sure to remain under the curve RS BERESFEFERSTEAR. 0
A \éli\vgﬁl;i#\lgt{&lws %I};JWED & * This drawing is just for your refenece.lA B4Rt S %, i A \%I;\VQI%IXICIFI\EL{FAI"S %;;‘%WED A * This drawing is just for your refenece. LA B4 RS %, i
§ © This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI 5 This drawing is susbject to change due to new design without prior notice. A\ E{R BB B = SRAINF
, 5 MRBSBTEN. : , 5 WABESTEA. 3
SPECIAL DESIGN BASE ON CEJS/‘[OMI_E‘R§ REQUIREMENT r('i * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CL\JSIOM_EB:S REQUIREMENT i * Please contact the technical department for dimensions and performance parameters of the drives. |
ARIEENE R TIFR R ot vrtps il iy | ARERENERIETIFFRIT 2 |

NRFEEBNIIMER IS EY, ESRARIIKER.




SLEWING DRIVE [E$53miESS

UNITS/E {izmm

SLEWING DRIVE [E§53t %22

UNITS/E {i:zmm

1inch=25.4mm 1inch=25.4mm
Weight:403kg Weight:35kg
FRONT VIEW INPUTIERNGIE] FRONT VIEW INPUTIERNGE]
IERE R467+3 B
Cover n K Cover 8100 66
14*0.12 M?P% lA = "
BRE 4.R10 14005 4. - 'J R138+2 i ,.g:,,/ =
NS e~ ~
/ \ < rease Nipple ‘.\
e JIRS G .
0 o TR\ — \/ R °
8 o X j 0 q
[ts) / - oN
© +0.065 7 N &’ <4 0
9 @50 +0.025 s © Q
3 4-M16x2Tap( BOR )32 f = N 10-M L )
Equally Spaced 180x180 3 o
30N a tijﬁp Equally Spaced 2-M12x1.75
3 i"«]?ﬁ T T
Based On 40 E%ally Spaced 1‘]12 11-N 25
! - 5 Based On 12 Equally Spaced
Input EINE 206.5 -1 1£127119% ‘ 52
e lnput &G 5 n 22
Eh " & - =
SIDE VIEW @700 ) @ SIDE VIEW 2195 2 % s 1
e G i 39326 . e e 2135 1-g14 W T2
| Based On 40 Ec%ally Spaced ‘ol @105t 3 {174 ol
© S 124071197 ~ Based On 12 Equally Spaced 28 I S
2o 5 ; 1#12711975 7 : 10 “
e = 27| %] /9 D) |/ g — )
oLy . 0 : O L =
e > A g ® & 2-M12x1.75
@730 2 g : 275
@760 @50 2175 |
2810 g;g? 6B SplinefeiE
—— R JIFEE MOMENT LOAD CHART———— ——— ZERFLIEIR Mounting Holes Option ———— — R HIEE VMOMENT LOAD CHART——— — REETLSEIR Mounting Holes Option
o & 600 (442.74) Code M N . 15(11.07) N N
3 2 500(368.95) v (Outer Ring 4hE&]) (Inner Ring PIfE]) o & 125(9.23) (Outer Ring 4M&]) (Inner Ring PIE])
S 5 400(295.16) M24x3 Tap (BZiF)36 M24x3 Tap (IZF)36 % 10(38) -
5 T 300(2217) — ap (BOR) ap (BOR) =X 75554 — | M12x1.75 Tap (B0%)25 M12x1.75 Tap (B3%)25
£ 2 : §E 756
S g 200(147.58) U et 2 T §2 5 (369 T M12x1.75 Tap (BF)25 @14 Thru (@3L)
2 w
é @ 100 (73.79) B | 7/8"-9UNC-2B Tap (BGi%)36 | 7/8"-9UNC-2B Tap (BiR)36 2 % 2.5 (1.85) B | 1/2"-13UNC-2B Tap (BGF)25 | 1/2"-13UNC-2B Tap (BiR)25
= 1000 2000 3000 4000 BT | 7/8"-9UNC-2B Tap (Ii%)36 @26Thru (B F & 4445 8889 113.33 177.78 222,22 "
(2047) (4494) (674) (8988) P () (&) 450 8880 11538 1778 2223 BT | 1/2"-13UNC-2B Tap (iF)25 @14 Thru (L)

Axial Load $#im 75 kN (=103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

Axial Load i arkN(x 103 Ibf)

RS ELFE Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
R REHE RIFNE MEEREE | ARSEET | HEDRET | fEmEET | OREL | BESR | E58 HHEE REHIE RIFNE HMEEREE | AESEET | HEmRET | fEmEET | OREt | BESR | 58
40 kN.m 600 kN.m 250 kN.m 3400 kN 1360 kN 850 kN 680 kN 3.5 kN.m 14.2 kN.m 20 kN.m 220 kN 90 kN 63 kN 48 kN
110:1 | £0.15° | 403kg 47 :1 <0.15° 35kg
29516 Ibf.ft | 443x10°Ibf.ft | 184x10%Ibf.ft | 764x10°Ibf 306x%10° Ibf 191x10%Ibf | 152.8x10°Ibf 2583 Ibf.ft 10.5x10%Ibf.ft | 14.8x10°Ibf.ft | 49.5x10%Ibf | 20.2x10°Ibf | 14.2x10°Ibf 10.8x10° Ibf
o A ©Please be sure to remain under the curve BERESTESFASERATER. o A ©Please be sure to remain under the curve BRI R LFA G AOER.
. QE\V;%AELEXEU‘&I”S QJI}JI;T,WED & * This drawing is just for your refenece. LA L B4RVt &% . %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A * This drawing is just for your refenece.LL LIRS ,

» This drawing is susbject to change due to new design without prior notice. 2~/ SR 88 B 7= R AVHF)
MABBTEN. :

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR.

S e This drawing is susbject to change due to new design without prior notice. <A E)R 88 B0 = R HIRLF
o MABBTEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRBERENINERIMRESEH, BERABIIKR.

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRET

[}
=]
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT 7

AIREMENE R TIFRRT E4




SLEWING DRIVE [EI§s=tiREiES SLEWING DRIVE [EI§5= %S

UNITS/E8 fi:mm UNITS/E {izmm

1inch=25.4mm 1inch=25.4mm
Weight:53kg Weight:66.8kg
FRONT VIEW INPUT RN FRONT VIEW INPUT Nl
IEMRE IEMLE
+0.08 66 A +0.08 66
Cover ’?‘ R180+2 8 +0.02 Cover | | R222.5+2 8 +0.02
i bis .i:,’/ N PP, \, bis ,.sa,,/ [
TR Nippl / ) n / i
Grease Nipple //§§ ) i II //§= .
$§@(&"\‘ 1241 So % R & 12+1 %0
' i 2 L s
" \\\‘\\\\»\\\}] g 4 18-M \\\\\\\\\»\\\}] &
DN -{I’il -\Q Q 3 r DN -‘/.I"élh N Q
© "6@7777)& L 2. Equally Spaced & s L
8 L Z-— 5 Q L
2-M12x1.75 27.5 A 19-N 2-M12x1.75 27.5
15-N f ! 222.5 f !
Based On 20 Equally Spaced
Based On 16 Equally Spaced 2 -
I§16}I?i‘aa‘ﬁy : @25 x286'5 - 1%207L19%5 25
t 52 Input BINIH 52
Input NI +051 1! 22 +051 L 22
S B N @300 S _ N\
SIDE VIEW 0220 ©4 ] SIDE VIEW — FRNVCE )
M o175 15-018 S g MARE —-—W 19- 18 8 g
@145 1 a Based On 20 Equally Spaced of g
Based On 16 Equally Spaced n. E 1741 S 9 qually 5p n. _ VL, 1741 ml v
167,197 5 o ST ~ I ‘ ‘ %207.89% X x N
s b : |10 8 © (@ uf * 8 ¢ : |10 S
@ © L L o - e 0 L
N N N
© - - = Q@ = - -
© 2-M12x1.75 275 @310 © 2-M12x1.75 27.5
2358
6B Splinetti 2391 | 6B Splinetti
— & &F 5EE] MOMENT LOAD CHART————— = #ER%IR Mounting Holes Option ——— —— R IFEE MOMENT LOAD CHART———— — TERFLIEIR Mounting Holes Option ———
— = 60 (44.28
Y E 36 (26.57) m % o E ( )
32 30(2214) ' (Inner Ring PIFE) g2 50 (369
o O o O
=5 24 (17.71) = 3 40(29.52) = =
X o \ -— TS N
= — M16x2 Tap (BUR)30 M16x2 Tap (BUR)30 €z — M16x2 Tap (BIR)30 M16x2 Tap (IZiF)30
2 12 (886) T M16x2 Tap (BUF)30 @18 Thru (&7L) 2 w 20(1476) T M16x2 Tap ()30 218 Thru (&7L)
o B o
é % 6 (4.43) B | 5/8"-11UNC-2B Tap (KF)30 | 5/8"-11UNC-2B Tap (KiF)30 é @ 10 (7.38) B | 5/8"-11UNC-2B Tap (KiR)30 | 5/8"-11UNC-2B Tap (K#)30
= =
N 100 200 300 400 500 600 " g S 3 150 300 450 600 750 BT | 5/8"-11UNC-2B Tap (Ki®)30 @18 Thru (G&#L
(22.5) (45) (67.5) (90) (112.5) (135) BT | 5/8™11UNC-2B Tap (%30 18 Thru (&3.) (33.75) (67.5) (101.25) (135) (168.75) P (BR) (&)
Axial Load #fi&]&k 7 kN(x103 Ibf) Axial Load f#iE#fsTkN(x 103 Ibf)
ﬁﬁg%ﬁﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%&% Slewing Drive Performance Parameters
Output Tilting Moment [lellsligfe} Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
e REHE RIFHE I ERETE R I EETET REEshEE | ORRL | BESR | B2 e B DE RIFHE TR R REEREE I E R RamEE | Rk | BESR | 2828
8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN 9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN
62:1 | <0.15° | 53kg 79:1 | <0.15° | 66.8kg
5904 Ibf.ft 26.3x10°Ibf.ft | 25.5x10°Ibf.ft | 129.9x10°Ibf 48.3x10%Ibf | 30.6x10°%Ibf 25.9%10° Ibf 7011 Ibf.ft 42.1x10%Ibf.ft | 32x10°Ibf.ft 171.1x10% Ibf 62.9x10°Ibf | 42.7x10°Ibf 33.3x10%Ibf
o A ©Please be sure to remain under the curve BEREETESFASERATER. | " A ©Please be sure to remain under the curve BRI EIELFAGEMATOER.
A éi\’;’éﬁlrgqaﬂs %I;EWED &  This drawing is just for your refenece.lA F B4R EES%, i A \%E\V;l%/ﬁl;r\gq&lns %I}EEWED A * This drawing is just for your refenece.LA F B RS %,

« This drawing is susbject to change due to new design without prior notice. /A SHREBAHF=REINF |
MABESTE. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEENINER I TS EY, BERATIIKR. :

g This drawing is susbject to change due to new design without prior notice. A A BIR B BUHF=FARIF |
5 WRESEEA. : |
T« Please contact the technical department for dimensions and performance parameters of the drives. SPECIAL DES_IJ%Q}EB?HSEEB?%%@I?QA;Z? REQUIREMENT
B NMRBEEBIINERITMEESEE, BSREATIIRKER. a 3 ATAFIRIZT

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRZT

- @R 30ILON




SLEWING DRIVE [E§5 iR %22

FRONT VIEW
ERE
Cover A

pPE\|

380

190
w_

2375
301.5 %

Ingut NI

SIDE VIEW @340

R240+2

INPUT NN

Based On 24 Equally Spaced

y

ARE
2265

-

y

&24519%

23-018

) @}7

Based On 24 Equally Spaced
%243 .19%

7R &k 7355 E MOMENT LOAD CHART————

—  72(53.14)
0 &
325 604428
2T 48(3542)
- X
g § 36(26.57)
2 @ 24(17.71)
2R 12(886)
= =

[

200
(51)

400 600
(152)

(101)

800 1000
(253)

(202)

Axial Load 3@ & fsTkN(x 103 Ibf)

+0.08

UNITS/8 {i:mm
1inch=25.4mm

Weight:75kg

[
N7
|| S i

382.55 0

25

6B Splinetti

i%;bﬁlﬁ Mounting Holes Option

M16x2 Tap (I&iR)30

N
(Inner Ring PIFE)

M16x2 Tap (I&iR)30

M16x2 Tap (I&ZiR)30

@18 Thru (G&EFL)

5/8"-11UNC-2B Tap (BU%)30

5/8"-11UNC-2B Tap (BIF)30

BT

5/8"-11UNC-2B Tap (BIF)30

@18 Thru (1@FL)

'Eﬁ%%ﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [El§58 iR #ESS

FRONT VIEW
TFHE
Cover

Frirs

380

190
w—i

R240+2 |

A

INPUT BNl

Based On 24 Equally Spaced

+0.15

+0.08
8 +0.02

e
X
N

N3

==
2 N

UNITS/# {i:mm
1inch=25.4mm

Weight:90kg

Pl [ ]
AV
\ N | 1041

382.55 o

2-M12x1.75 275
T T
@25
52
0 [
@25.3205 0 22
%O
= — [ 4741 %L 8
8 | o
¥ : |10 8
wn |
I
S © I z
© 2-M12x1.75 275

6B Splinettiz

i%ﬂ,iﬁlﬁ Mounting Holes Option

M
(Outer Ring 4MNE&])

N
(Inner Ring IFE])

M16x2 Tap (I&iR)30

M16x2 Tap (I&iR)30

M16x2 Tap (B1R)30

@18 Thru (i&@FL)

5/8"-11UNC-2B Tap (BIF)30

5/8"-11UNC-2B Tap (BIF)30

23-N
Based On 24 Equally Spaced Equally Spaced
#%247119% 4
L 2375 | 23715 |
603
[Input #IAUEG  Input EINIR |
SruI%EzVIEW 3340 ‘
e 0295 1 23-918
@265 ‘
- %243.39%
w
—— & FIHEE] MOMENT LOAD CHART
. 72(53.14)
o =
S5 60(44.28)
e 48 (35.42)
§ E  36(2657)
£ Z
S5 24 (17.71)
2R 12886)
E &
=3

200 400 600 800 1000
(51)  (101) (152) (202) (253)

Axial Load #iE)7aTkN (%103 Ibf)

BT

5/8"-11UNC-2B Tap (BG%)30

@18 Thru (@)

'Eﬁg%&i Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating [RE] Ratio Precision '/eight
ML & HE RIFHE IR R mmmEE | ROmEE | RR | BESR | 52
10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.13° 75kg
7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10%Ibf | 80.9%10%Ibf 51.7x10%Ibf 44.9x10° Ibf

“A” VIEW AS INPUT IS ALLOWED

BNRAFE ‘A" @RE

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AREMENE R TIFRZIT

& * Please be sure to remain under the curve.J%E TSR LPRE I E ML BER
* This drawing is just for your refenece.lA F B4Rt %,

- i 3O1LON

» This drawing is susbject to change due to new design without prior notice. 42X E1{R B8 B 7= A FIRLF)
MABBTEM. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
e EDE RISHRE I ERETE REEsEE IhE RN ZFamHEE | Rl BESR | E=82
16.2 kN.m 71.2 kN.m 82 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.15° 90 kg
11956 Ibf.ft 52.6x10°Ibf.ft | 60.5x10°Ibf.ft | 215.8x10%Ibf | 80.9%10°Ibf 51.7x10° Ibf 44.9x108 Ibf

“A” VIEW AS INPUT IS ALLOWED
BWNRAYFE A" ERE

A * Please be sure to remain under the curve. 5B R SR SEARE A ELSBEM
* This drawing is just for your refenece. LA B4 RS %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AREMENE R TIFRET

MRFEEBIIMER IS EY, ESRARRIIKER.

S e This drawing is susbject to change due to new design without prior notice. A</ B)R B8 BU# 7= fa HIALRI
o  MABSTEMN. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !



SLEWING DRIVE [ miESS

SLEWING DRIVE

145U iRE RS

UNITS/# {i:mm
1inch=25.4mm

UNITS/2  fizmm

1inch=25.4mm
Weight:66kg Weight:96kg
FRONT VIEW TEINIE] FRONT VIEW INPUTIEN U]
TERE EWRE
Cover R249 57008 70 Cover A R285+2 oo
Pt E ZT" iR E 8+0.02 66
Grease Nipple @05 19965 ®) 5\@ ®\ Grease Nipple o105 10085 - N
S - n 7 ~ - = 5 - ; r ==y
TG I D : A N A 59105 AN 8
i T P . : / < 1241 %2
~ i © R - 0 | © = 8
3 1 o = ® s ' % N 20-M o TT '%-J ‘ = SR g
? So VUl ’3' \ 0 A . - go N g S}
2 ! 24-M © \Q\ © ) \ - S L \ Equally Spaced @ % 62 /‘
& Equally Spaced % S 2-M12%1.75 =5 Nl g X Bt & 2-M12x1.75 575
1 1975 : 27.5 \ ==
23-N =
321595 Based On 24 Equally Spaced 25 @25
%&24719% 52 +2 Equally Spaced
Input F i 3491 L
22532183 22| lnput I \i og
05N\© \ﬁ e ?u‘?’ i
SIDE VIEW gggg 22159183 © - z SIDE VIEW 2406 <
e 2300 ‘ 23-918 1 A - ! 7 8] 8 M [2365.1] | 0018 ©
Based On 24 Equally Spaced ﬁgi b — Q 2 2332 051
N p @Ei 1%247.19% 5 S o g y . 21 5925
[} - S [T} X L [Te) 1\ +0.51 R L
o 3 - ) ©25.32 +03 N 2-M12x1.75
© 27.5
S 6B Splinefsig
6B Splinefeie plinetese
—— &&JI%EE MOMENT LOAD CHART————— — FZEEREIR Mounting Holes Option — — ®FHHIEE MOMENT LOAD CHART————— — IR Mounting Holes Option ———
Jg  1120259) " N o & 1%0010.7) Code M N
32 96 (70.78) (Outer Ring 4N (Inner Ring PIE]) § mi 125(92.25) v (Outer Ring 4M&]) (Inner Ring AE])
g% 80 (58.98) _ £ % 100(73.8)
£ f 4 (47.19) - M16x2 Tap (BIF)28 M16x2 Tap (JF)28 E’ E 75 (55.5) — M16x2 Tap (BIF)32 M16x2 Tap (BUR)32
£ Z 35.39 z : .
s w Ezs 59; T M16x2 Tap ()28 @17 Thru (@4L) = @ 50 (36.9) T M16x2 Tap (IF)32 @18 Thru (&7L)
o B E’ R
£ B 16 (11.8) B | 5/8"11UNC-2B Tap (07)28 | 5/8"-11UNC-2B Tap (IF)28 s@ 20849 B | 5/8"-11UNC-2B Tap ()32 | 5/8"-11UNC-2B Tap (IZi%)32
= L=
= 200 400 600 800 1000 : - ; 2267 4535 680.3 907.1 1133.9 BT | 5/8"-11UNC-2B Tap (IZiF)32 @18 Thru (&7
B0 855 88 2% BT | 5/8"-11UNC-2B Tap (BU%)28 @17 Thru (i@FL) {50.9) (107.9) (152.9) (2039) (254.9) p (BUR) (&1Ll)

Axial Load 3£ 7aTkN (%103 Ibf) Axial Load #fiE#farkN(x 103 Ibf)

ﬂﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬂﬁg%ﬁ% Slewing Drive Performance Parameters

Output Tilting Moment [glellsligfe} Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
e REHE RIFHE I ERETE R I EhETET REshEE | R | BEER | == e @ HIE RIFHE ISR R A EhE RomhEE | mEL | BESER | 22
12 kN.m 90 kN.m 50 kN.m 1000 kN 400 kN 240 kN 220 kN 12.96 kN.m 142.4 kN.m 72.3 kKN.m 1166 kN 435 kN 280 kN 231 kN
92:1 <0.1° 66 kg 104:1 <0.1° 96 kg
8856 Ibf.ft 66x10° Ibf.ft 37x10°Ibf.ft 224.8x10%Ibf | 89.9x10%Ibf | 54.0x10°%Ibf 49.5x10° Ibf 9564 Ibf.ft 105x10°Ibf.ft | 53.4x10%Ibf.ft | 262x10°%Ibf 97.8x10° Ibf 62.9x10° |bf 51.9x10° Ibf
o A ©Please be sure to remain under the curve BEREETESFASERATER. o A ©Please be sure to remain under the curve BRI EIELFAGEMAOER.
. é%ﬁﬁg‘gwf %;;,WED & * This drawing is just for your refenece. LA B4RVt &%, . %E\vg%/ﬁ#\gqu’s QJI}I;”.%WED A ° This drawing is just for your refenece.LLEEIRT RS

» This drawing is susbject to change due to new design without prior notice. 42X SR B8 B 7= S AIRLF)
MABBTEM. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUMEESEY, BERATIIHR. :

S e This drawing is susbject to change due to new design without prior notice. 22 B)R B8 BU# 7= fR HIRLRI
o  MABSTEM. |
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRBERENINERIMRESEH, BESRABIIKR.

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

e}
=
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT (ra
2 TRERENERH TR

AIREMENE R TIFRRT




SLEWING DRIVE [El§s=tiREiES SLEWING DRIVE [EI§5=iRiEsS

WEA19B

UNITS/&  {iz:mm
1inch=25.4mm

UNITS/# {i:mm
1inch=25.4mm

Weight:120kg Weight:118kg

FRONT VIEW INPUT RN FRONT VIEW INPUT RNl
TEHRE S R312.5
BCEC}\)% ‘ R285+2 " Cover : o
Grease Nipple 81008 PR 8 +0.02
TGS o5 10085 @25 1065 )
— XOf r ®
8 O 20 o 9,
N i > @ L iR/ EE [ ©
. % S
; Q) O]
3 So = ENAONE
"o @\@ 62 N Equally Spaced o NOY (‘2M12x1 e
& 2-M12x1.75 9% & - .
31-N
ETuaIIY Spaced Equallil Spac‘ed @25 Based On 32Equally Spaced @25
#%327119%
285 285 :
698 o [ Input BN
| Input B | Input NG b 58
SIDE VIEW 0 SIDE VIEW o
N N
MNE 2406 © MNE @490 | <
@365.1 © 2420 31-918 o
: 20-918 2380 nt
2332 Based On 32 Equally Spaced
Equally Spaced +0.51 \ +0.51
i @21.59 +03 2] 4 ki) @21.59 +03
S Py ClE@e T
23 925.32 03 2-M12x1.75 K2 ©25.3203
6B Splineft# 6B SplinefeE
— %% 1356 E] MOMENT LOAD CHART————— LEEFLIFEIR Mounting Holes Option — &F 5B E] MOMENT LOAD CHART—————— — ZEEREIR Mounting Holes Option ———
2 1o N ~ g 200(147.46) Code M N
2 ;é 125(92.25) (Outer Ring 4M&)) (Inner Ring &) g ;é 160 (117.97) 55 (Outer Ring 4M&)) (Inner Ring AIE)
2 2 100 (73.8) i e 2
- — M16x2 Tap (B%)32 M16x2 Tap (BU%)32 = ¥ 120 (88.48) — M16x2 Tap (KIF)32 M16x2 Tap (iR)32
5 E  75(5535) : E
p4
25 50 (369 T M16x2 Tap (B25)32 @18 Thru (&7L) S g 80 (58.98) T M16x2 Tap (B0F)32 @18 Thru (&)
(=2} [}
% B B84 B | 5/8"-11UNC-2B Tap (KiF)32 | 5/8"-11UNC-2B Tap (KF)32 £ 8 40 (29.49) B | 5/8"-11UNC-2B Tap (KF)32 | 5/8"-11UNC-2B Tap (L0iF)32
& F
2267 4535 680.3 907.1 1133.9 BT | 5/8"-11UNC-2B Tap (IF)32 18 Thru (3 400 800 1200 1600 2000 BT | 5/8" ! R i
(50.9) (101.9) (152.9) (203.9) (254.9) TN e 18 Thru (&) (89.92) (179.84)(269.76) (359.68) (449.6) 5/8"11UNC-25 Tap (1%)32 18 Thn e 7L

Axial Load i) #farkN(x 103 Ibf) Axial Load #liE)#7sTkN(x 103 Ibf)

'Eﬁ%%ﬁﬂ% Slewing Drive Performance Parameters

ﬂﬁg%ﬁ% Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
Lntaatz i R S%E REFNEE MOBHEE | ROHEE | HEsEE | fREsEE | REt | BESR | 8 BIHEELE [it:ay =l RIFNE HWEEEE | fEBREE | WEmEE | fOaHEET | Rkl | BESR | B2
19.44 kN.m 142.4 kN.m 94 kN.m 1166 kN 435 kN 280 kN 231 kN 18.5 kN.m 196 kN.m 80.1 kN.m 1800 kN 675 kN 290 kN 250 kN
104:1 | <0.15° | 120kg 94 :1 <0.1° 118 kg
14347 Ibf.ft | 105.1x10%Ibf.ft | 53.4x10°Ibf.ft | 262x10°Ibf 97.8x10°Ibf | 62.9%10°Ibf 51.9x10° Ibf 13653 Ibf.ft | 144.6x10%Ibf.ft | 59.1x10%Ibf.ft | 404.6x10%Ibf | 151.7x10%Ibf | 65.2x10°Ibf 56.2x10° Ibf

& * Please be sure to remain under the curve. J%E TSR LRE I E ML BEN
* This drawing is just for your refenece.lA F B4R tEES%, |
© This drawing is susbject to change due to new design without prior notice. AR EIREE 2= FRAILH |
MABBTEM. !
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEYERITUMERSEY, BERATIIHKR. :

A * Please be sure to remain under the curve. 5B R SR SEARE A ELBE M
* This drawing is just for your refenece.LA - B4 RS %, |
S e This drawing is susbject to change due to new design without prior notice. A~ SHREEUAFRAUEA |
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
B NRBERENINERIMRESEH, BESRABIIKR. :

“A” VIEW AS INPUT IS ALLOWED

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ENE

BNRAYE A" ERE

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

e}
=
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT (ra
2 TRERENE R TIFRIT

AIREMENE R TIFRZIT




SLEWING DRIVE [E§53E %28 SLEWING DRIVE [E§s=tiRESS

UNITS/E2 fi:mm UNITS/2  fizmm

1inch=25.4mm 1inch=25.4mm
Weight:172kg Weight:200kg
FRONT VIEW INPUT EERNEE] FRONT VIEW TEPNEZNE]
TEALE TEARE
A R346.5+3 Cover R346.5:3
Cover 1 ) 4-R1 4-R10 66
BRE Grease Nipple - FpinE N
> ;‘ gC’ B ? > 7 NAANNN
] ( IR :\ Grease Nipple 2 ‘//:/z/é;\:\§ -
& g @ TG R S ///I%///}//// 124152
re) 0 B - - ,/// = 8
H [Te}
N R 15— o Yl 106.4 ///;// & g
Q < +0.065 SN
u§) || \ ICIs‘G-M o5 19965 N @25 +0.025 ///,,,////“\\\
J quag}]?ﬁpaced 12x1.75 Tap(BR )21
120
o ‘—’4 Equally Spaced Based On 36 Equally Spaced
— 35-N 59 %3679 159%
415 2 Based On 36Equally Spaced @25 350 350 | @25
| 1#%367L19% 4-R10 830 ' 4-R10
Input S\ 52 |
Pt 28 : i [ Input AR [Tnput #IA# 25|\ ‘
N\ /}}\\\\ ??
SIDE VIEW 55013 8| 16%2:%0 i = SIDE VIEW 4
AES S T © "/ an o.é‘ / W + fe ANES ©
e o467 | 35.002 &) g?f%!é% M8 /// Z 2215 e 2550+3 of g
. =g } - ) -
0425 Il Based On 36 Equally Spaced w050 |\ ‘:}5., L X7~ 2106.4 // S 23657 o, 35-022 +051 2106.4
o[ —3 1%367L19% @21.59 +03 Y2 A\\ S Based On 36 Equally Spaced ©21.59 +03 —
©1 M @« L N0 S +051 0" /%H’////\\\\\ 0TS < 3671197 051
il — S ©25.32 +03 '@\ © @ ©25.32 103
‘ g 2-M12x1.75 Tap(B0F )21 — 2-M12x1.75 Tap(ISZ‘fE)21
@540 & 120 ' 120
3584.2
0629 inertiE L
‘ 6B Splinefti 6B Splinefz#
— &% 1356 E] MOMENT LOAD CHART————— — Z#EREIR Mounting Holes Option ——— — &F 5B E] MOMENT LOAD CHART—————— = #ER%IR Mounting Holes Option
o g 240 (177) M N o g 240 (177) M N
&2  200(147.5) ¢ (Outer Ring 4H&) (Inner Ring PIE8)) 2 200(147.5) : (Outer Ring #h&l) (Inner Ring PIE)
o O o O
2 S 160 (118) M20X2.5 Tap (B0 M20%2.5 Tap (I3R)40 = x 160 (118) M20x2.5 Tap (BGR)40 M20x2.5 Tap (BGR)40
£ = — x2.5Ta x a £ = — x a x a
2 E 120 (885) p =R p =R 2 E 120 (885) el el
s o 80 (59) T M20x2.5 Tap (BGE)40 @22 Thru (B7L) 2 @ 80 (59) T M20x2.5 Tap (BGE)40 @22 Thru (&7L)
R 40 (205) . o ; o SR 40 (295) ; .
=g B | 3/4"-10UNC-2B Tap (BUGF)40 | 3/4"-10UNC-2B Tap (BUF)40 =g B | 3/4"-10UNC-2B Tap (BUF)40 | 3/4"-10UNC-2B Tap (BIR)40
= =
600 900 1200 1500 1800 BT | 3/4"-10UNC-2B Tap (BIiF)40 @22 Thru (i 1200 1500 1800 BT | 3/4"-10UNC-2B Tap (Ki#)40 @22 Thru (i
B9 (132 8200 2)(280.%) (557) (408 %) ap (B) ru (E.) B2%) (1B) 202 2)(280.8) (337 (404 %) 2p (5%) ()
Axial Load i@ & 7arkN(x 103 Ibf) Axial Load i@ & faTkN(x 103 Ibf)
ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters ﬂﬁg%&% Slewing Drive Performance Parameters
Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating i Rating Rating Ratio  Precision
e B HIE RIFHE I ERETE R I EhETE REAzET | R | BEER | 2= HHERE REHIE R¥SHIE IR E REERETE A Eh g RamEET | OREtL | BESER | E==
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 48 kN.m 203 kN.m 179.9 kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 <0.1° 172 kg 90:1 <0.13° | 200kg
21180 Ibf.ft 150x10%Ibf.ft | 78.1x10°Ibf.ft 359x10° Ibf 144x10° Ibf 87x10%Ibf 75%103 Ibf 35400 Ibf.ft 150x10°Ibf.ft | 133x10°Ibf.ft 359x10° Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf
o A ©Please be sure to remain under the curve BEREETESFASERATER. 3 e A ©Please be sure to remain under the curve BRI EIELF G MAOER.
. éi\’;ﬁﬁ!‘rng %;;,WED & * This drawing is just for your refenece. LA L B4RVt &%, : : \%ivgﬁ‘—n/ﬁ#\gqu’s Q]I}I;”.%WED A * This drawing is just for your refenece.LLEEIRZ RS . |
& e This drawing is susbject to change due to new design without prior notice. A BHREBBUH#F=SHIRF] | & e This drawing is susbject to change due to new design without prior notice. AN EHRERBH = SRAUF] |
, 5 WABSTEM. 3 , 5 WABSTEA. 3
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT r('i * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT i * Please contact the technical department for dimensions and performance parameters of the drives. |
ARIERE N E R TIRRR T = MBEETEBHIER IS Y, BESRADIIHER. 3 AIRIBIE N ERETIRRZ T B '

MRFEEBOIIMER IS EY, ESRARIIKER.




SLEWING DRIVE [E§:=0RESS SLEWING DRIVE [E§=miES

UNITS/E8 fi:mm UNITS/E {iz:zmm

1inch=25.4mm 1inch=25.4mm
Weight:202kg Weight:273kg
FRONT VIEW T FRONT VIEW NPT S
ERE IERE
cover R396.5:3 ;;;; 4-R10 4008 66
4-R10 ~ 8 +0.02
WP - oo //67/,\\%
2o\ : R A N °
1 @ &) | AR = So
: 2 S5 \\\“\\ 22
& - B o o5 1008 )\% // ©106.4 \}}\ g
©l X I C N © R
] Equally Spaced @25 10050 4-M12x1.75 Tap (OF) 21 |35
9% 140x140 Equally Spaced
120 9%
35-N Equally Spaced Based on 30 Equally Spaced 025
Based On 36Equally Spaced 25 5 #%307L19%
, 13671197 T 416 | J
Input I\ 4-R10 486 486 | e 4-R10 52
28|\ [Input BN [ Input N ==
So Yo
SIDE VIEW 265023 ‘ " SIDE VIEW o628 80 o 5
mE @565 N 35.022 © 2o E 30-022 2560 o /76\},, Lz’ﬂ Qumi
+ © ~===—"10 . e I )
Based On 36 Equally Spaced = r 0 +0.51 A % o
, f§36}[?1gzﬁy P . I A @512 @21.59 +03 ? = 2106.4 8
8 Lg ‘d@i @21.59 +03 Q BSE o539 0 TR ©
e @25.32 403 2 3 L0208 4-M12x1.75 Tap (Iﬁzﬁﬁ) 21 |
A - 140x140 Equally Spaced
9%
Scr:;vjlug @512
! 6B Splinetti = 2630 6B Splinetti
‘ @675
—— FEH 735 E] MOMENT LOAD CHART———— FZEFLIEIR Mounting Holes Option ——— &K S FEE MOMENT LOAD CHART———— ——— TERFLIEIA Mounting Holes Option —————
0 & 352.3(260) M 5 g & 352.3(260) M ] N
%i 298.1(220) (Outer Ring 41E) (Inner Ring ) E & 298.1(220) (Outer Ring 4M&) (Inner Ring PIE)
=< s
€% 257.5(190) — M20x2.5 Tap (IiF)40 M20x2.5 Tap (IF)40 é% 257.5(190) — M20x2.5 Tap (BIR)40 M20x2.5 Tap (BGR)40
E = 5 2
SX 21680160 T | M20x2.5 Tap (BGF)40 @22 Thru (&3L) Sy 21680100 T | M20x2.5 Tap (BGR)40 @22 Thru (&)
2R 176.1(130) . . . o s 5 1761(130) . .
s g B | 3/4"-10UNC-2B Tap (BIF)40 | 3/4"-10UNC-2B Tap (BiR)40 = B | 3/4"-10UNC-2B Tap ()40 | 3/4"-10UNC-2B Tap (BGR)40
Hé’ =
500 1000 1500 2000 2500 BT | 3/4" ! R § 2000 2500 BT | 3/4"-10UNC-2B Tap (BF)40 @22 Thru (&7
) 398%) 3599 3% = 3/4"-10UNC-2B Tap (BUR)40 @22 Thru (iB7L) (1124) (224 8) (337 2) (4496) (562) p (BUR) (&£L)

Axial Load i@ &7aTkN(x 103 Ibf)

Holding

Static Axial

'Eﬁ%%ﬂﬁ Slewing Drive Performance Parameters

Static Radial

Axial Load i@ & fa7kN(x103 Ibf)

ﬂﬁg%&% Slewing Drive Performance Parameters

Tilting Moment Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio Precision ‘Veight Torque Torque Torque Rating Rating Rating Ratio  Precision
et R F%E RIFNE HESHET | FEBHET | SEsEE | fHEET | ORE | BESR | B8 HHEEE & H%E RIEFNRE HMEFBHT | FEBHT | BEmRET | fEmEET | OREt | BESR | 28
34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN 58 kN.m 310 kN.m 247 kN.m 2360 kN 945 kN 590 kN 470 kN
104 :1 <0.1° 202 kg 108:1 <0.12° | 273kg
25240 Ibf.ft 229x10%Ibf.ft | 117x10°Ibf.ft 531x10°Ibf 212x10% Ibf 133x%108 Ibf 106x 103 Ibf 42800 Ibf.ft 229x10%Ibf.ft |182.3x10%Ibf.ft| 531x10°Ibf 212x10°%Ibf 133x10°% Ibf 106%10° Ibf
o A\ *Please be sure foremain under the curve RN BRI EIMATSER . o A *Please be sure foremain under the curve MBS ERATES .
: éi\’;ﬁﬁ!‘rng %;;,WED & * This drawing is just for your refenece. LA L EIE(N &%, : : ;QJE\V;/%/;?‘#\EL{E"S Q]I}I;”.%WED A * This drawing is just for your refenece.LL LIRS . |
§ © This drawing is susbject to change due to new design without prior notice. AR EIREE 2= FRAILF § » This drawing is susbject to change due to new design without prior notice. AN A EHR B BUHF=RAIRGF]
, o MABSTEM. : , o  MABS{TEM. 3
SPECIAL DESIG){N};ASEEESN ;(}lell.J&S/‘[?é\:I_ER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEBgN %L;;Igg/l;R iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. !
PIRIERSHE R GIHRT 5 NRREEEMNIRIMMESEY, BERANIIEER. | FIRIBRIESHE R TAHRIY 5 NRBEEEMNIRIMESEY, BSRADIIEER. |




SLEWING DRIVE [E§53E %28 SLEWING DRIVE [E§:=tiRESS

UNITS/# {i:mm
1inch=25.4mm

UNITS/8  {izmm
1inch=25.4mm

Weight:418kg Weight:37kg

FRONT VIEW

\ INPUT BN FRONT VIEW TN IE
TERE R467+3 FRE
A T Cover A +0.08 66
Cover | [ - R13842 8 +0.02
pairE 145002 | +0.065 ? o
d 4-R10 2P g5, ) @25 +0.025 © 1
1| \ Equally Spaced Sy o Grease Nipple B \\,:N‘ _
# 0200l @ Il o5\ RS 1 el | 0
9 Yo O O} < &Il S LT
: A o i (™
© o [ ETH / 2 < S - \\ \}] Q
©® w0065 o7 “ONL N ‘?; \-‘/.Ié,\l 8
. 250 005 il o o 10-M = ; ‘*7\\ :
1 4-M16x2Tap( BUR )32 ~ ¥ o Equally Spaced —
Equally Spaced 180x180 = B 2-M12x1.75
S 39-N 575 I 11-N
== Based 0?;0 El?i%a%y Spaced = 1425 Based On 12 Equally Spaced 25
407 o %= 5
‘ 206.5 2 ®127.19% 52
Input %I N\if +051 L 22
Inp‘ut NI ©25.32 +03 ~
SIDE VIEW 700 SIDE VIEW 2195 221.59 03 ] N7 —
EAE EES : So
) 4[| Based On 40 Equally Spaced Based On 12 Equally Spaced o gl 1 — 8 4
g [ o 4031157 0 1271197 e < 10 g
=i B 0 v = ] & ~ L
g ¢ - f
@730 © 2-M12x1.75
@760 27.5
2810 @50 6B SplineftsE
2861
— & JI3EE] MOMENT LOAD CHART————— FEEFL IR Mounting Holes Option —i&F JIEEE] MOMENT LOAD CHART————— LEEFL IR Mounting Holes Option
. 600(442.74
W E ( ) M N g 15(11.07) v N
35 500(368.95) (Outer Ring 4MNE&]) (Inner Ring M) E 5 12.5(9.23) (Outer Ring M) (Inner Ring &)
S 5 400@sste) M24x3 Tap (BIR)36 M24x3 Tap (BIR)36 ° g 10038
X _ X3 Tap (B35 X3 Tap (KR Ex -
E’ § 300(22137) p (BR) p (BLR) é £ 7.5 (5.54) M12x1.75 Tap (BR)25 M12x1.75 Tap (iF)25
2 5 200(147.58) T M24x3 Tap (BR)36 @26 Thru (iE7L) SE 5 (369 T | M12x1.75 Tap (0F)25 @14 Thru (iB3L)
> R =
é g 100(73.79) B | 7/8"-9UNC-2B Tap (BF)36 | 7/8"-9UNC-2B Tap (BF)36 SR 25089 B | 1/2"-13UNC-2B Tap (BF)25 | 1/2"-13UNC-2B Tap (BF)25
L= [
1000 2000 3000 4000 BT | 7/8"-9UNC-2B Tap (BUF)36 @26 Thru (B - 4445 88.89 13333 177.78 222.22 BT | 1/2"-13UNC-2B Tap (KIF)2 14 Thru (i
(224.7) (4494) (674)  (8988) DY gE Gor B8 "B ey ® %% SUNC2BTap (BR)25| @14 Thru (&)

Axial Load 4B} AT kN (<103 bf) Axial Load #iIE# 75 kN(x103 Ibf)

ﬂﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
HLRE REE RIFHE I ERETE R I ENETET REshEE | R | BEER | == e REHIE RIFHE I ERETE R M EETE EmEhEE | R | BEER | ==
40 kN.m 600 kN.m 250 kN.m 3400 kN 1360 kN 850 kN 680 kN 3.5 kN.m 14.2 kN.m 20 kN.m 220 kN 90 kN 63 kN 48 kN
110:1 <0.15° | 418kg 47 :1 <0.15° 37kg
29516 Ibf.ft 443x10%Ibf.ft | 184x10°Ibf.ft 764x10° Ibf 306%10° Ibf 191x103 Ibf 152.8x10%Ibf 2583 Ibf.ft 10.5%10° Ibf.ft 14.8x10%Ibf.ft | 49.5x10°Ibf 20.2x10°Ibf 14.2x10% Ibf 10.8x10°Ibf
o A ©Please be sure to remain under the curve BREETESFASERATER. 3 e A ©Please be sure to remain under the curve BRI EIELFAGEMAOER.
. é%ﬁﬁg‘gwf %;;,WED & * This drawing is just for your refenece.LA B fitE&% : : %E\vg%/ﬁ#\gqu’s QJI}I;”.%WED A ° This drawing is just for your refenece.LLEEIRT RS .

» This drawing is susbject to change due to new design without prior notice. 42X SR 88 B 7= S AIRLF)
MABBTEM. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUMERSEY, BERATIIHR. :

S e This drawing is susbject to change due to new design without prior notice. 2x2 E)RE8 BU# 7= fa AR
o  MABS{TEM. |
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRBERENIMERIMRESEH, BESRABIIKER.

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AREMENE R TIFRET

[}
=
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT 7

AIREMENE R TIFRZT 2




SLEWING DRIVE [E§5= RS2 SLEWING DRIVE [E§=(iRiESS

UNITS/# {i:mm
1inch=25.4mm

UNITS/# {izmm
1inch=25.4mm

Weight:54kg Weight:70kg

FRONT VIEW INPUTIEREE FRONT VIEW INPUTIED ]
ERE A TERE
Cover +0.08 66 Cover A R222.5+2 10,08 66
FHiReE &l R180+2 8+002 " PRE ) 1 . - 8 +0.02
+0.065 %E\ .
4 @25 +0.025 @ H O ~ Grease Nipple
i 3 E T = T
] 7 i < S 1241 % 2 ( 1241 5°
3| 3 N e : <00\ T & i W e L
o TS T $s - \\\\\\\)\\\\\:] 2 ° 18-M S
7o ‘,_‘/,’gr’\%\ﬁ (S o L% Equally Spaced \ ;// Q
| | N J L S <! l
@ Equally Spaced Q © % © ’//////; = ® . ) '19 N %)
4 > =Sy |
; 11'5%,3 2-M12x1.75 Based On 20 Equally Spaced
. #%207L159%
Based On 16 Equally Spaced @25
167197 @25
286.5
I 52 T Ex 52
Input  EN\ i | Input i N 0. 1
nput BN 225.32 105 2| P 22532 105 0 22
+0. r — 051 ) I -
SIDE VIEW @220 22159 105 : o T SIDE VIEW 2300 ‘ 22159 103 s —
e ol 15-918 L —-%2 fuE 2259 \ 19-018 L T8
Based On 16 Equally Spaced i — 4 171 ml [re} @229 f i — 4+ 1741 Ml Q
_ };’216}[,?&] Zﬁy p: eg : ) o ‘ 4{\‘—1 \ Based O;L 220 E&li]a;l:;y Spaced og | Q N
5 R g s |10 S b © o] R20FLE L > | 10 S
150 } , o e 2 L &) 2| Lo 8 g f
© © = : @
T © w ©
2042 [ 27.5 @327 27.5
[270] 358 R
o 6B Splinetti# 2391 6B Splinetts
—— & & 7145 E] MOMENT LOAD CHART————— —— FTEEFLIEIR Mounting Holes Option ——— —— FE D EEE] MOMENT LOAD CHART———— — FTEEFIEIA Mounting Holes Option
& 36(2657) M N = 60(44.28) . =
S5 3002214 ¢ (Outer Ring M) (Inner Ring PIFE) S5 50 (36.9) : (Outer Ring 4ME) (Inner Ring )
e 2 S o
=y 2077 — | M16x2 Tap (BGR)30 M16x2 Tap (B7)30 Ty 402952) — | M16x2 Tap (BF)30 M16x2 Tap (B35)30
g = 18(13.28) g § 30 (22.14)
2 o 12(886) T M16x2 Tap (BIF)30 @18 Thru (&7L) S 0(1476) T M16x2 Tap (BF)30 @18 Thru (&7L)
[ o
£R 6 (43) B | 5/8"-11UNC-2B Tap (BZiR)30 | 5/8"-11UNC-2B Tap ()30 SR 10738 B | 5/8"-11UNC-2B Tap (BGF)30 | 5/8"-11UNC-2B Tap (BiF)30
= [
- 100 200 300 400 500 600 BT " - KR i = 150 300 450 600 BT n_ _ ] 3
(22.5) (45) (67.5) (90) (112.5) (135) 5/8"-11UNC-2B Tap (BZiR)30 @18Thru (1&7L) 2% &% 1% % gg% 5) 5/8"-11UNC-2B Tap (B1iF)30 @18 Thru ({@7L)
Axial Load HiIEIE AT kN (x 103 Ibf) Axial Load #[EZ7TkN(x 102 Ibf)
'Eﬁg%ﬂ% Slewing Drive Performance Parameters ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘'/eight Torque Torque Rating Rating Rating Rating Ratio  Precision

ot 23 A L%E RIFIE WA | FEBEET | BEsEE | fEshEE | ORE | BESR BB terak B I%E RIFNE WREEE | FEBEE | WEsEE | fEsEE | REl | BESR N BB
8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN 9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN
62:1 <0.15° 54kg 79:1 <0.15° 70kg
5904 Ibf.ft 26.3x10%Ibf.ft | 25.5x10°Ibf.ft | 129.9x10°Ibf| 48.3x10%Ibf | 30.6x10°Ibf 25.9x10° Ibf 7011 Ibf.ft 42.1x10°Ibf.ft | 32x10°Ibf.ft 171.1x10%Ibf | 62.9x10%Ibf | 42.7x10°Ibf 33.3x10° Ibf
o A\ °Please be sure to remain under the curve AR RS CER, 3 o A * Please be sure to remain under the curve ARE AR GESSBER, 000
A éi\’;ﬁﬁlg‘gqu*s %I};JWED & * This drawing is just for your refenece.l FE4R{RES% i A \%I;\VQI%IXICIFI\EL{FAI"S %;E%WED A * This drawing is just for your refenece. .l F B ES%

g This drawing is susbject to change due to new design without prior notice. 2\ B} 3 B0 7= BRI
o MABBTEN.
x

« This drawing is susbject to change due to new design without prior notice. 2 EHREBHGHT= REIIF] |
MABSTE. 1

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMINERI TS EY, BERARIIKR.

SPECIAL DESIGN BASE ON CUSTOMER'’S REQUIREMENT

. . : " | SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT
gty * Please contact the technical department for dimensions and performance parameters of the drives. !
ARIEENE R TIEFR PPN Wl P P W

MRBEEEINERINMRESE Y, BESEARIIHER. : AIRIERENE R TIFRRIT

- kR 30ILON




SLEWING DRIVE [E$53miESS

UNITS/# {i:mm
1inch=25.4mm

Weight:76kg

SLEWING DRIVE [E§53t %22

UNITS/E2 fizmm
1inch=25.4mm

Weight:92kg

FRONT VIEW INPUT EEDNGZVE] FRONT VIEW TERNIE]
ERE TFRE
Cover Al\ R2402 g100 66 Cover |5 R240£2| g 1008 €6
PR\, H s H
225 +0.065 T s J E\
+0.025 @ H O Mz \\S 4 B Grease Nipple 2 _
| + . ) ] TERHEE \\ ez
N : =
OL o °L \:/'"1'
= 1 S 7| l.\\\\ |
2|, Equal%?ﬁpaced % © % G =, //
23-N 2-M12x1.75
Based On 24 Equally Spaced 23-N 18-M
#&24F559% 025 Based On 24 Equally Spaced Equally Spaded @25
&245‘Li‘/]7-ﬁ ki
* s 52 237.5 237.5 52
Input I 2 603 +051 L 22
[ Input @AEE  Input BN | @25.32 +0.3 i —
SIDE VIEW @340 ‘ = ) o150 25! _ s )
HE e25] 23018 S g SIDE VIEW 0340 T > 2o
Ll H‘ Based On 24 Equally Spaced L1741 & ' MRE 23-018 I — »L»1711 %l 8
ot 1%243119% . ST 2265 f o8 ; ISR
b — &L © S Based On 24 Equally Spaced s3 10 8
@} - S 3 > |10 8 = ; 1%24739% p : =
= I IR 9 I
2 © 2
2363 7 o © 275
2390
2426 ‘ 6B SplinefesE 6B SplineftsE
—— & & 7145 E] MOMENT LOAD CHART————— — FTEEFLIEIR Mounting Holes Option ——— —— FE D EEE] MOMENT LOAD CHART———— FEEFLIEIR Mounting Holes Option
—_ 72(53.14 =
o £ (63.14) Code M N g 8§ 719 o o
g b 60(44.28) s (Outer Ring 4M&]) (Inner Ring PIFE]) 32 60(44.28) (Outer Ring 5H&l) (Inner Ring PIE)
o O o O
= - 48(35.42 =%
=1 ¢ ) — M16x2 Tap (BiF)30 M16x2 Tap (BF)30 =1 48(35.42) — M16x2 Tap (BUF)30 M16x2 Tap (KGF)30
2 = 36(26.57) 2= 36(26.57
E Z £ = ( )
=2 uprm) T M16x2 Tap (B5)30 @18 Thru (&7L) s B 24(17.71) T M16x2 Tap (I5%)30 218 Thru (&4L)
o B j=d
é B 120886 B | 5/8"-11UNC-2B Tap ()30 | 5/8"-11UNC-2B Tap (BUF)30 é B 12(889) B | 5/8"-11UNC-2B Tap (B(R)30 | 5/8"-11UNC-2B Tap (I%)30
& 5
200 400 600 800 1000 BT " T 3 200 400 600 800 1000 BT "-11UNC-2B Tap (R 18 Thru (i
By (ioh) (182) (02) (253) 5/8"-11UNC-2B Tap (Bi%)30 @18Thru (JEFL) (51) (101) (152) (202) (253) 5/8"-11UNC- ap (BUR)30 @18 Thru (1BFL)

Axial Load 3@, 7aTkN (<103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

Axial Load3#H@#7akN(x103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
R REHE RIFNE MEEREE | ARSEET | HEDRET | fEmEET | OREL | BESR | E58 Enfateie) REHE RIFNE HMEHHE | FABHE | HEsEE | fEmEE | OREt | BESR | B8
10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN 16.2 kN.m 71.2 kN.m 82 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.13° 76kg 86:1 <0.15° 92kg
7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10° |bf 80.9x10%Ibf | 51.7x10%Ibf 44.9x10° Ibf 11956 Ibf.ft 52.6x10°Ibf.ft | 60.5x10°Ibf.ft | 215.8x10°Ibf 80.9x10°Ibf 51.7x10°Ibf 44.9%10° Ibf
o A ©Please be sure to remain under the curve BERESTESFASERATER. 3 o A ©Please be sure to remain under the curve BRI R LFA G AOER.
A éi\’;ﬁﬁlg‘gqu*s %I};JWED & * This drawing is just for your refenece.lA B4Rt S %, i A \%I;\VQI%IXICIFI\EL{FAI"S %;E%WED A * This drawing is just for your refenece. LA B4 RS %, i
é © This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI § » This drawing is susbject to change due to new design without prior notice. AN EHR BB BUH = RAIRGF]
, o MABSTEM. : , o  MABS{TEM. 1
SPECIAL DESIGN BASE ON ClgS/‘[OMI_EB§ REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CEJS,IOM_EB? REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. |
AIREIRE R K TIRRR T S NETEEEMNERTTIAS T, BRI T, AIRIER SR ERETIFRRIT 4

NRFEEBNIIMER IS EY, ESRARIIKER.




SLEWING DRIVE [E]§5= iR %22

UNITS/# {i:mm
1inch=25.4mm

Weight:68kg

FRONT VIEW INPUT NS
EWE
Cover | R249 8 :3% a3
BFE N = =
. 225 ‘005 (6) FH0)
Il s |
] i < 1241 22
5 S i T
B1 S 4 I e m—— N0 - N ©
3 gl ©O%O =
& Equally Spaced 2-M12x1.75
I 5%
2 23-N
Based On 24 Equally Spaced @25
I #%24739% 52
Input IR +0.
P 2253205 2|
SIDE VIEW 20 -
. [2330] =
ﬂ”?ﬁl 9300 + 23-618 R ; 54
) Based On 24 Equally Spaced 1741 S 1]
o= i * 0
— 2| 2431575 ST
5 | @@2 o | % 10 8
. o — |
@305 o] -
0364 275
395
420 6B Splinef&iz
@445 plineig
—— &E 7356 B MOMENT LOAD CHART L %EF|IEIA Mounting Holes Option ——
o 112(8258) o " N
ey oae
“3" 5 96 (70.78) K1 (Outer Ring 9ME) (Inner Ring )
S 80 (58.98)
£ £ 64(47.19) — M16x2 Tap (IiF)28 M16x2 Tap (IKiF)28
£ Z  48(35.39
s= (35.39) T | M16x2 Tap (K3F)28 @17 Thru (B3L)
> 32(2359)
f =
S 16 (11.8) B | 5/8"-11UNC-2B Tap (BiF)28 | 5/8"-11UNC-2B Tap (BF)28
Ll =3
- 200 400 600 800 1000 BT | 5/8" ! R ]
200 4% 00 809 1900 5/8"-11UNC-2B Tap (BUF)28 @17Thru (&)

Axial Load i@ T kN(x 103 Ibf)

14 &EZ 4L Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight

SLEWING DRIVE [E§5=K iR %ES2

UNITS/E fizmm
1inch=25.4mm

Weight:101kg

FRONT VIEW INPUT 2N NE]
TEE
B%?;%; 'T‘ R285+2 szggg 66
5 ‘ %)\ Crease Nipple 05 o9 S ) aks
N/ N A0 MO -
T i 4 N\ LIS _
[To) “ =4~
9 g
N a o U
) ?° AN -‘(l iIN
o ° N~ )
N4 20-M & L
. K Equally Spaced
. 20-N 25
+2 Equally Spaced
3494
| ’ t SN o >
npu ./\ Uy g§ 22*
SIDE VIEW 2406 g @A@ I\s==
MR ‘ @ © ©) > g
2365.1 20-318 Vi < aT To
7 & © 17¢1 Q| 8
@332 ‘ | Equally Spaced J =) q Q1 &
] e 0 ©2159 105 - > 10 S
[t} — T i B : LA
K@} ol & 3 051 © ©
L2 i = Al @25.32 +03 o M12%1.75 7z
2437 : 27.5
@479.4 o
2509 | 6B Splinef&s
—— iFE JI5EE] MOMENT LOAD CHART L FLIFEIR Mounting Holes Option
L & 180(1107) v N
o2 125(92.25) v (Outer Ring 4MNE]) (Inner Ring P9E&)
£ 2 100 (73.8)
2 ‘ — M16x2 Tap (B0R)32 M16x2 Tap (B0R)32
g E 755535 ap (4%) ap (5)
% Eé 50 (36.9) T M16x2 Tap (KUR)32 @18 Thru (1&B7FL)
(2]
% @ 25 (18.45) B | 5/8"-11UNC-2B Tap (BiF)32 | 5/8"-11UNC-2B Tap (BUF)32
=
2267 4535 680.3 907.1 1133.9 BT | 5/8"-11UNC-2B Tap (K5)32 18 Thru (i
(80.0) (101.9) (152:9) (203.9) (254.9) 5/8"-11UNC-2B Tap (K%)3 @18 Thru (iB7L)

Axial Load 3 fsTkN(x 103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision VVeight

et 23 mEHE RIFIE WERHS | FEBEET | BEsEE | fEshEE | OREL | BESR B

]

12 kN.m 90 kN.m 50 kN.m 1000 kN 400 kN 240 kN 220 kN

92:1 <0.1° 68kg
8856 Ibf.ft 66x10° Ibf.ft 37x10%Ibf.ft 224.8x10°Ibf |  89.9x10°Ibf 54x10° Ibf 49.5x10° Ibf

& * Please be sure to remain under the curve. S8Rt iE 5 {RCRRE LB o
 This drawing is just for your refenece.lA B4Rt S %, :

© This drawing is susbject to change due to new design without prior notice. A A EIREB B~ RAIALFI
MABBTEM.

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

ik B I%E RSB RS | FEBEE | WEsEE | fEsEdE | REl | BESR | BB

12.96 kN.m 142.4 kN.m 72.3 kN.m 1166 kN 435 kN 280 kN 231 kN

104:1 <0.1° 101kg
9564 Ibf.ft 105x103Ibf.ft | 53.4x10°Ibf.ft | 262x10°Ibf 97.8x10°Ibf | 62.9x10%Ibf 51.9x10° Ibf

“A” VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the curve SRS IR EFRE T EMLEEEIN o
BNBAFE ‘A’ [NE * This drawing is just for your refenece.lA E B4R S %, :
* This drawing is susbject to change due to new design without prior notice. A A BIR BT~ R AILF

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEYIERITMERSEY, BERATIIHR. :

- i 3O1LON

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET

* Please contact the technical department for dimensions and performance parameters of the drives.
MRFELEEMINER I TS EY, BERATIIKR. :

[e]
§ TR BRTEA.
£ 3



SLEWING DRIVE [E§5= RS2

UNITS/# {i:mm
1inch=25.4mm

Weight:126kg

@25

FRONT VIEW INPUT NS
EHE
Cover R28522 +0.08
BIFE ‘ Buo0p
) . @25 10058
\%
2 2 WP
< W\ o
© o \JJ -
o o
g E’:\f‘) %\ @©
& 2-M12%1.75
Equally Spaced Equally Spaced
| 285 285 |
L 698 ‘
[ Input N Input BN | gé
0
N
SIDE VIEW S
. @365.1
MR E ‘25’3?3521 ) 20-018
-] Equally Spaced @21.59 :3:%1
3 o) - ©25.32 103"

—— & S 45 B MOMENT LOAD CHART—————

6B Splineftiz

M
(Outer Ring 4MNE&])

M16x2 Tap (I&iR)32

_— §§;L]‘E1ﬁ Mounting Holes Option —M8M8M

N
(Inner Ring M)

M16x2 Tap (BUF)32

M16x2 Tap (B0F)32

@18 Thru (i&7L)

5/8"-11UNC-2B Tap (#)32

5/8"-11UNC-2B Tap (EF)32

= 150(110.7)
S5 1259225)
o O
25 100038 B
£
BE 7565%9)
S O 50 (36.9) T
o)) =
£ 250845 5
o
BT

2267 4535 680.3 907.1 1133.9
(50.9) (101.9) (152.9) (203.9) (254.9)

5/8"-11UNC-2B Tap (#)32

@18 Thru (J@FL)

Axial Load3#H@# 1 kN(x103 Ibf)

E'ﬁg%ﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [E§53t %22

WEB19B

UNITS/# {i:mm
1inch=25.4mm

Weight:128kg

FRONT VIEW INPUT RN
TEE
‘ R312.5%2
Cover +0.08
|A 8 +0.02 66
FhiFE Grease Nipple 10065 |
S @25 +0.025 - .
<« Q 1241
[ © Q\ 1= 2
So \z-‘/lﬁi‘\ 8
2 32-M 5 @© N ©© 5
= Equally Spaced 8 \ =y
o a 5% Q 2-M12x1.75 2w73
31N
Based On 32Equally Spaced @25
%3279
77.5 1 52
IInput BN e8 )
0 _ N L
Y NN
SIDE VIEW © PREH g
UEES] 2490 l © \\\\\\I\‘& 1741 S "o
420 ;| 31-018 w051 \\\\w‘{ L8 e
@380 Based On 32Equally Spaced ©@21.59 +03 N\ 10 8
o : %3279 +0.51 N4
0 S @25.32 +03
) 275
=
6B Splinettit
— & #F4EE MOMENT LOAD CHART———— 2= 7L IR Mounting Holes Option
. 200(147.46)
0 =
2 160(117.97)
s
T 120(8848) — M16x2 Tap (I2F)32 M16x2 Tap (KF)32
g E
S g; 80 (58.98) T M16x2 Tap (BUR)32 218 Thru (&2L)
jo2]
£ @ 40 (29.49) B | 5/8"-11UNC-2B Tap (JiF)32 | 5/8"-11UNC-2B Tap (BiF)32
F o
= 400 800 1200 1600 2000 BT | 5/8"- M R i
(00) (195 %4y 2 e 5 Le0s) (2299, 5/8"-11UNC-2B Tap (BiF)32 @18Thru (&FL)

Axial Load 3@ TETkN (<103 Ibf)

T EEZSE4FE Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision ‘Veight
Enfatesie) R F%E RIFNE HEERETE FEEHETE mEEEE | ROmEE | RR | BESR | =52
19.44 kN.m 142.4 kN.m 94 kN.m 1166 kN 435 kN 280 kN 231 kN
104:1 | <0.15° 126kg
14347 Ibf.ft | 105.1x10°Ibf.ft | 53.4x10%Ibf.ft | 262x10°Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10%Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

& * Please be sure to remain under the curve.J%ES TSR LR E ML BEN
* This drawing is just for your refenece.lA B4Rt S %,

SPECIAL DESIGN BASE ON CUSTOMER'’S REQUIREMENT

AIREMENE R TIFRRT

- i 3O1LON

» This drawing is susbject to change due to new design without prior notice. 2~/ SR 88 B 7= R AVHF)
MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
HHEEE @ HIE RIEFNE ISR R A EhEE RomhEE | mEL | BESER | B2
18.5 kN.m 196 kN.m 80.1 kN.m 1800 kN 675 kN 290 kN 250 kN
94:1 <0.1° 128kg
13653 Ibf.ft | 144.6x10%Ibf.ft | 59.1x10%Ibf.ft | 404.6x10%Ibf | 151.7x10%Ibf | 65.2x10°Ibf 56.2x10° Ibf

“A” VIEW AS INPUT IS ALLOWED

BNRAVFE “A” ERE

A * Please be sure to remain under the curve. 5B R SR LR A LS BEA
* This drawing is just for your refenece. LA B4 RS %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRET

S e This drawing is susbject to change due to new design without prior notice. 2x2 B} E8 BU# 7= R IR
8 MABSTE .
x

* Please contact the technical department for dimensions and performance parameters of the drives.
MRFELEEMINERI TS EY, BERARIIKR. :




SLEWING DRIVE [E$53miESS

SLEWING DRIVE [E§53t %22

UNITS/E fizmm

UNITS/&  {iz:mm
1inch=25.4mm

1inch=25.4mm

Weight:182kg Weight:213kg

FRONT VIEW

: INPUT BN FRONT VIEW INPUT RN
IEMRE ERE
R346.53 R346.5+3
Cover |, 4-R1 Cover A 4-R10 66
BPE SN PR o
2 1 t "o %//\\a
4 © © \\\\ @
| — N 2 [ N %o
- 12615
3 i L =
5 I ///I/// Z g
< +0.065 S g +0.065 »A Q
) @25 +0.025 — ¢ — @25 +0.025 ~//// WHE
N Equally Spaced 12x1.75 Tap(BUR )21
31553:5 —¢4 36-M 35N
~Based On 36 Equally Spaced Equal%%paced Based O?ﬁ%%?ﬁ%%y Spaced 25
w1572 #%367L19% 4R10 @25 ’ | 350 - 350 | 4-R10
Input ¥ \ i 52 ’ v
[Inp og \ 1 [Input@ A% Input@iNiG | SS 1
SIDE VIEW ks e //4'/:'% 8 SIDE VIEW ks &
! ?550+3 ‘ P , \ 7 = ‘ ©
UEMES] B466.7 _‘ ©1 :’f’g% 4, ‘8 ///// - ‘T@ h ML E @550+3 © ] 8
0425 : 35022 st | \BET B 21064 // 7 o 94667 35.00 w051 21064
[Based On 36 Equally Spaced i1 59 153 DN O) S @425 ot @21.59 +03
© . ST 13670197 @ o) ] /w/////\ ) S Based Onﬁ36 Equally Spaced e
8] §~—@3 0 13 @25.32 405 L S LSS ST & —3 o] 3631197 @25.32 03
S © A 2-M12x1.75 Tap(BiR)21 N3 — 12x1.75 Tap(BUR )21
@546 L 120 ] e —
2584.2 _ o546 2|
2629 6B Splinefig agsggéz 6B Splinetti
—— & JI5EE MOMENT LOAD CHART———— FEEFLIEIR Mounting Holes Option —— FEH 7356 E] MOMENT LOAD CHART————— FEEFLIEIR Mounting Holes Option
0 = 240 (177) Code M N 0 & 240 (177) M N
52 200(147.5) K1 (Outer Ring 4ME&) (Inner Ring PIF) 22 200(147.5) (Outer Ring 4MNE&]) (Inner Ring PIF&)
2 S 160 (119) M20x2.5 Tap (BF)40 M20x2.5 Tap (BR)40 2§ moam M20x2.5 Tap (BR)40 M20%2.5 Tap (B%)40
e X — a a e X — al al
5 E 120 (885) PR pER o E 120 (885) el p (=
S= g (59) T M20x2.5 Tap (BO%)40 @22 Thru (B3L) 25 80 (59) T M20x2.5 Tap (BOF)40 @22 Thru (iE3L)
o 5 o
é @ 0 @5 B | 3/4"-10UNC-2B Tap (BZF)40 | 3/4"-10UNC-2B Tap (BZiR)40 é jm@ 0 (29.5) B | 3/4"-10UNC-2B Tap (BGF)40 | 3/4"-10UNC-2B Tap (BIF)40
& &
= 1500 1800 BT | 3/4" 3 300 1500 1800 BT | 3/4" 5
(67 4) (134 8)(202 2)(269 6) (309 1890, 3/4"-10UNC-2B Tap (BIF)40 @22 Thru (83L) & 4)(134 8)(202 2)(269 6) (299 1899, 3/4"-10UNC-2B Tap (BGF)40 @22 Thru (iB3L)

Axial LoadEErﬁ]ﬁzTﬁkN(Mm Ibf) Axial Loadﬂi}l‘jﬁ‘,ﬁkN(Mm Ibf)

'Eﬁ%%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear Tracking . Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision \Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘Veight
BILEERE & HE RIFHE AT R M ENETST RamEE | REt | BEER | 2= e REHE RIFHE IR R I EhETET EmshEE | Rl | EEER | =2
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 48 kN.m 203 kN.m 179.9 kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 <0.1° 182kg 90:1 <0.13° 213kg
21180 Ibf.ft 105x10%Ibf.ft | 78.1x10°Ibf.ft 359x10°Ibf 144x103 Ibf 87x103% Ibf 75%10° Ibf 35400 Ibf.ft | 105x10°Ibf.ft 133%x10% Ibf.ft 359x10° Ibf 144x10° Ibf 87x10°Ibf 75%10% Ibf

& * Please be sure to remain under the curve. S8Rt iE B R SCRRE I E BRI o
z
e}
3
[e]
m
4

“A” VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the curve BB R LIRE T E L TER o
Z
[}
Bl
(e}
m
=3

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

* This drawing is just for your refenece.lA B4Rt S %, BMNBRTFE ‘A7 BRE

» This drawing is susbject to change due to new design without prior notice. 2~/ SR 88 B 7= R AVHF)
MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

* This drawing is just for your refenece. LA B4 RS %, i
* This drawing is susbject to change due to new design without prior notice. A A BIR BT RAILF |

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

MABSTEN. :
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMINERI TS EY, BERARIIKR. :

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET




SLEWING DRIVE [E§5= RS2

UNITS/# {i:mm
1inch=25.4mm

Weight:212kg

FRONT VIEW INPUT NS
ERE
R396.5+3
Cover |A 4-R10 66
Fhips go I
) P ‘l//,/i:é/i = m
! N 7 ﬂﬂ“ go
%///" 1241 %
o : =
S g EE oz
+0.065 U <R Q
o @25 +0.025 S
© 55
N 7/ Equally Spaced 12x1.75 Tap(BUR )21
\ 2 35-N
300 Based On 36 Equally Spaced @25
16472 12367197 4-R10 o
| \
Input 3N\ £8 ! L
5 RS 7 - So
SIDE VIEW 2650 , S\ AN gl 0 e
S [@565] ! 35-022 0: IR %} g1oei:1 | §
nn +0. RS - Z o
0525 Based On 36 Equally Spaced  @21.59 +0.3 K> '}/:‘%:“‘E‘é Q
S oAy s of &367.19% +051 K N M
© Py @25.32 +0. ) z
& q@* e 2-M12x1.75 Tap(B0F )21
120

‘ 6B SplineftiE

7R & 7155 E MOMENT LOAD CHART————

_— §§;L]‘E1ﬁ Mounting Holes Option —M8M8M

—  352.3(260)

o E Code M N

T2  298.1(220) (%] (Outer Ring 4hE]) (Inner Ring M)

e

£ £ 2575(190) — | M20x2.5 Tap (iR)40 M20x2.5 Tap (B%)40

s E

5 5 216.8(160) T | M20x2.5 Tap (BR)40 @22 Thru (&7L)

[}

g 761039 B | 3/4"-10UNGC-2B Tap (BUF)40 | 3/4"-10UNC-2B Tap (BIF)40

F

N 500 1000 1500 2000 2500 BT | 3/4" . = i

% 399%) 3509, 299, &R 3/4"-10UNC-2B Tap (BUR)40 @22Thru (B7L)

Axial Load ¥ kN(x 103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

SLEWING DRIVE [E§53t %22

UNITS/EE {izmm
1inch=25.4mm

Weight:280kg

FRONT VIEW INPUT Nl
TEE
Cover
[YaEiak:s .
B 8138 60
ol O 4. © /4:/{/;
o] i NS 8
2 SIS\ NN [1221 %2
B {2 )1e N\ — R
X posiy G oea] LSS &
~ a g 1 =
K[ - o © Ao
— 4-M12 Tap (B5R ) 21 |35
140x140 Equally Spaced
36-M 15975
Equally Spaced Based on 30 Equally Spaced @25
igfﬁ 416 a16™ %w"m
486 486
| 0g -
IInput IR Input BN 99 4R10 52
& @ 4~ //‘vqi =
© 7 N\ N §o
= 30-922] st T3 > N\=i ©
Air Vent EQually Spaced @21.59 +03 RS % 01064 §\\E\\>\\\\}\§“ 8
ST L [ 2532105 9 Glieny
NS | = z 02032403 4-M12 Tap (B0F ) 21 |35
ISENZ . ® \ 140x140 __|Equally Spaced
Screw Plug 2512 1975
[FF . — _
6B Splineftig
—— 7R IEE MOMENT LOAD CHART 2= FLIBIR Mounting Holes Option
o 3523(260) T N
O W 2 .
s & 298.1 (220) (Outer Ring 41MNE]) (Inner Ring )
o O
= <
T L 257.5(190) — M20x2.5 Tap (BGR)40 M20x2.5 Tap (BUR)40
E Z
S @ 216.8(160) T M20x2.5 Tap (GF)40 @22 Thru (i&7L)
[=)]
Ep 17610130 B | 3/4"-10UNC-2B Tap (BUR40 | 3/4"-10UNC-2B Tap (BUR)40
=
- 500 1000 1500 2000 2500 BT H = §
D, S9N, J509, 2000 2800 3/4"-10UNC-2B Tap (BGR40 @22 Thru (&7L)

Axial Load3#H@# 7 kN(x103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight

ot 23 mEHE RIFIE WERBHS | FEBEET | mEsEE | fEshEE | OREL | BESR B

]

34.2 KN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN

104 :1 <0.1° 212kg

25240 Ibf.ft 229x103Ibf.ft | 117x10°Ibf ft 531x10° Ibf 212x10°% Ibf 133x10° Ibf 106x10° Ibf

A" VIEW AS INPUT IS ALLOWED & * Please be sure to remain under the curve. SRR iEHHIREFRE T EZSEEIN o
BN A" HE > This drawing is just for your refenece.lA B4Rt %, |
77777777777777777777777777777777777777777777777777777777777777 g ° This drawing is susbject to change due to new design without prior notice. A A BIRER BUHF=FARIF |
o TABBTEH. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
5 NRFEXENINERITIMERESEH, BERAMIKR.

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

Torque Torque Torque Rating Rating Rating Rating Ratio  Precision

et B I%E RISI5E HWEERE | FOHEE | WEsEE | fOsiHEE | Rkl | BESR | 28

58 kN.m 310 kN.m 247 kN.m 2360 kN 945 kN 590 kN 470 kN

42800 Ibf.ft | 229x10°Ibf.ft  |182.3x10%Ibf.ft| 531x10°Ibf 212x10°Ibf 133x10° Ibf 106x10°Ibf

108:1 | =0.12° | 280kg

BNIRAYFE A" ERE

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

“A” VIEW AS INPUT IS ALLOWED &
2
ARERENERETIERLT 2

* Please be sure to remain under the curve BB R LIRE T E L TER o

* This drawing is just for your refenece. LA B4 RS %, |

» This drawing is susbject to change due to new design without prior notice. &N A EHR B ELH RAIF]
MABSTE. 3

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMINERI TS EY, BERARIIKR. :



SLEWING DRIVE [E§53EiR%E28

UNITS/E {izmm

1inch=25.4mm
Weight:12kg
FRONT VIEW INPUT 2N
EMRE
1008 318 8
[ A R76 44002 =
@ @ o o
{ &/ % s 8
i /
e 6-M { ~ |98
Equally Spaced @12 10055 | A
/ G #5975 e - 4-@6Thrul_I@10 S
- Equally Spaced 7R
68x68 a ﬁ'] P 3.5
© 11.8
©
12
a7 —— & & JI4E B MOMENT LOAD CHART————
o
o ~
g & 880
T Input I\ e Z (649)
= E 660
52 (487)
S 440
= % (325)
SIDE VIEW S (%%(2))
MR E FE
2126 6 12 18 24 30
(1349) (2698) (4047) (5396) (6745)
6-311.5 Axial Load $[afaTkN (Ibf)
Equally Spaced 6-N
95 H - Equal%?ﬁpaced _— §§;Liﬁlﬁ Mounting Holes Option —————
} > 4]
[Te)
3l © © © Code M N
'5; v ] (Outer Ring 4| (Inner Ring RIE])
Hl@ © — M10x1.5 Tap (BUF)22 M10x1.5 Tap (BUF)17
@100
2115 B | 3/8"-16UNC-2B Tap (BIiF)22 | 3/8"-16UNC-2B Tap (BUF)17
'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque REN] Rating Rating Rating Ratio Precision Veight
KA @R RENE RIFHIE MEFBET | ARSEE | MoEE | foiEE | RR | BESR | B8
400 N.m 1100 N.m 2000 N.m 30 kN 16.6 kN 9.6 kN 8.4 kN
SE3C 62:1 <0.2° 12kg
295 Ibf.ft 811 Ibf.ft 1475Ibf.ft 6744 |bf 37321bf 2158 Ibf 1888 Ibf
400 N.m 1100N.m 2000 N.m 30 kN 16.6 kN 9.6 kN 8.4 kN
PE3C 62:1 <0.15° | 12kg
295 Ibf.ft 811 Ibf.ft 1475Ibf.ft 6744 Ibf 37321bf 2158 Ibf 1888 Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

& * Please be sure to remain under the curve.J%ES TSR LR E ML BEN
* This drawing is just for your refenece.lA B4Rt S %,

- i 3OILON

» This drawing is susbject to change due to new design without prior notice. 2~/ SR 88 B 7= R AVHF)
MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

SLEWING DRIVE [E§53t %22

FRONT VIEW
IEMRE
A |
\
@ ‘
6-M
@ Equally Spaced
oL
L4 2 R89.5
- s | & &
2 e T I
. L
5 \
o
5] =)
94
131.5
Input  $INIH
SIDE VIEW @126
AR E
@100
6-311.5 6-N
Equally Spaced -
i Equally Spaced
ki
] 3 o
8 @ [ o | /
N
o
o |_o -
@40 *
2128
2145

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

UNITS/# {izmm
1inch=25.4mm

Weight:16kg

N

4 +0.02 ] 33

é
213.8"97
(]
Q32+8039

+0.055 ] & .
[é Equally Spaced At
i) I

@12

7# % JIHEE MOMENT LOAD CHART

3250(2405)
2750(2035)
2250(1665)
1750(1295)
1250 (925)
750 (555)

{REIF%E N.m (Ibf.ft)

Tilting Moment Torque

15 25 35 45 55
(34) (56) (7.9) (10.1) (12.3)
Axial Load 3@ 7aT kN (x 102 Ibf)

- i%}l;iﬁlﬁ Mounting Holes Option ————

I\
(Inner Ring P3F&])

M
(Outer Ring 4MEl)

— M10x1.5 Tap (ZZ%)20 M10x1.5 Tap (BiF)18

B | 3/8™-16UNC-2B Tap (BF)20 | 3/8"-16UNC-2B Tap (BF)18

Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision Weight
RE | @i & H%E RIFHIE AT | ARSEET | BomEE | fOEE | RRlk | BESR | 28
600 N.m 2800N.m 5000 N.m 45 kN 22 kN 14.4 kN 11.1 kN
SE5C 62:1 <0.2° 16 kg
422.5 Ibf.ft 2066.4 Ibf.ft 3690 Ibf.ft 10116 Ibf 4945 .6 Ibf 3237.11bf 2495.3 Ibf
600 N.m 2800N.m 5000 N.m 45 kN 22 kN 14.4 kN 11.1 kN
PE5C 62:1 | <0.12° | 16kg
422.5 Ibf ft 2066.4 Ibf.ft 3690 Ibf.ft 10116 Ibf 4945 .6 Ibf 3237.11bf 2495.3 Ibf
o A ©Please be sure to remain under the curve BRI R LFA G AOER.
A \%E\VQI%IXICIFI\EL{TAI"S %I}REWED A * This drawing is just for your refenece. LA B4 RS %,

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET

« This drawing is susbject to change due to new design without prior notice. 2 EHREBHGHT= REIIF] |
MABSTE. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMINERI TS EY, BERARIIKR. :



SLEWING DRIVE [E$53miESS

SE/A-PE/A

FRONT VIEW
ERE
A R133+2
aa D~
— — \\E 3-1/8"-27NPT
- /“ e N BN
/ % | ‘|\\))
[/Plug /N et
- ) |/
S TR ayEE—
© \ RN | { / 8-M
S P ot Equally Spaced
- x\ aaly 975
R\ D e 10-N
132.7 Equally Spaced
170.2F
[input @G
SIDE VIEW
MINE
@150
% | 10-214
o Equally Spaced
ol @ | © | N 5
~ i [ce]
@ ® 1
o163 <
@170
2203.2
221

INPUT N

D12 +0.015 |~

—— 7R JI%EE MOMENT LOAD CHART—————

4-R7 43805

\

+0.055

4-@6Thrul_1210
Equally Spaced

UNITS/& {i:mm
1inch=25.4mm

Weight:25kg

12

68.04 90.71

113.39 136.07

Axial Load #frEEfer kN

- i%ﬂiﬁlﬁ Mounting Holes Option —————

® 13558

o

"9' € 12202

EZ 10847

5 R 9491

=

oK 8135

= 6779

45.36

Code M
vie] (Outer Ring F1E])

M12x1.75 Tap (BGF)25

N
(Inner Ring AIE])

M12x1.75 Tap (BGR)25

T

M12x1.75 Tap (IZi%)25

@14 Thru (G&FL)

B

1/2"-13UNC-2B Tap (IR)25

1/2"-13UNC-2B Tap (IR)25

BT

1/2"-13UNC-2B Tap (R)25

@14Thru (iB7L)

14 EEZ243E Slewing Drive Performance Parameters

SLEWING DRIVE [E§53t %22

SE9A-PE9A

FRONT VIEW

IEMRE

R170

N

<
®
©
<l 15-N
Based On 16 Equally Spaced
o R163L%
Equally Spaced
B
SIDE VIEW 2204
e @175 16-318
| Equally Spaced
- [Te) >
Bl | © = 3
© © 18] P A
1 ‘ N
02225 16-917.5
-®270
-_J Equally Spaced
@316 ‘ 9%

339
(25)

Tilting Moment Torque

R 4B kN.m(x10°Ibf.ft)
E

—— REHIEE MOMENT LOAD CHART—————

181.44 226.79 272.15 317.51 362.87

40:8) (1.0

) (61.2) (71

) (816)

Axial Load#iE)#7aTkN (%103 Ibf)

+0.15

6-6.25 +0.08 | |

+051 it
@25.32 +03

+0.51
321.59 +03

2-M12x1.75

UNITS/2 {i:mm
1inch=25.4mm

Weight:49kg

+0.08

W

@25

M
(Outer Ring 4M&)

N V2520 ‘

282.55 o

+0.08

@32

@82.55 o

27.5)
6B Splinefzig
- i%ﬂ;iﬁlﬁ Mounting Holes Option —————

M16x2 Tap (BG%)30

)\
(Inner Ring AIE])

M16x2 Tap (BG%)30

M16x2 Tap (BGF)30

@18 Thru (i&7L)

5/8"-11UNC-2B Tap (IZR)30

5/8"-11UNC-2B Tap (BF)30

BT

5/8"-11UNC-2B Tap (IZi%)30

@18Thru (IE7FL)

14 EEZ243E Slewing Drive Performance Parameters

Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision Weight
RE | B REE RIFHE MO | RRFHET | HOmEET | fEmET | REt | BESR | 5=
1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN
SE7A 73:1 | <02° | 25kg
1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf
1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN
PETA 73:1 | <0.11° | 25kg
1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

* This drawing is just for your refenece.lA B4Rt S %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI

MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !

& * Please be sure to remain under the curve. S8Rt iE B R SCRRE I E BRI o
z
e}
3
[e]
m
4

MRFBEBENIMERIMMEESE L, BEERATIIKER.

Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision Weight
ESIC IR RENE RIFHIE MEBHEE | ARHEE | MoEE | fomEE | REl | BESR | B8
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
SE9A 61:1 | <0.17° | 49kg
4794 1bf.ft 25x10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30x10° Ibf 18x10° Ibf 16x10° Ibf
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
PE9A 61:1 | <0.09° | 49kg
4794 Ibf.ft 25x10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30x10° Ibf 18%x10° Ibf 16%10° Ibf
" A ©Please be sure to remain under the curve BRI R LFA G AOER.
A \%E\VQI%IXICIFI\EL{TAI"S %I}EEWED A * This drawing is just for your refenece. LA B4 RS %, :
§ » This drawing is susbject to change due to new design without prior notice. AN EHR BB BUH = RAIRGF]
, o  MABS{TEM. 3
SPECIAL DE%%“;EB%SEEB(;%;@;?QA;;;REQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. !

NRFEEBNIIMER IS EY, ESRARIIKER.



SLEWING DRIVE [E$53miESS

SE12A-PE12A

UNITS/& {i:mm
1inch=25.4mm

Weight:61kg

FRONT VIEW INPUT ENENE]
1ERE
+0.08 66
8 +0.02
I s N
=
I g
NS So
NI 8
. \— o
Ny 8
g .‘i‘\\&\‘ =
- Equally Spaced oy
220 19-N
Based On 20 Equally Spaced 25
285 122071197
| Input iR ‘ 52
225.32 105 2
SIDE VIEW @289 on : =
MRE @259 20018 @21.59 +03 & 2 I
Equally Spaced . [ 1741 & +u'°,
3 ! p < 5% o gl o o
BLLO | = =) $s s 10 8
S -~ & I L
2308.5 Il 18-018 © - :
(2358 | ‘ Equally Spaced © 2-M12x1.75 275
976 .
@402 6B Splinettsz
— & 7 *EE MOMENT LOAD CHART————— L FLIBIZR Mounting Holes Option
L & 54.24(40) M N
g%
z 40.68(30) — M16x2 Tap (IZ3F)30 M16x2 Tap (IZiF)30
EZ 3392 _ .
g : e T M16x2 Tap (BF)30 @18 Thru (iB7L)
é @ 20.34 (15) B | 5/8"-11UNC-2B Tap (BUF)30 | 5/8"-11UNC-2B Tap (BIF)30
I
113.39 226.78 340.17 45356 566.95 BT | 5/8"-11UNC-2B Tap (BG%)30 @18Thru (BFL
(25.5) (51.0) (76.5) (102.0) (127.5) P (B L

Axial Load3#H@# 1 kN(x103 Ibf)

'Eﬁggﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [E§53t %22

SE14A-PE14A

UNITS/E2 fizmm
1inch=25.4mm

Weight:64kg

FRONT VIEW INPUT N E]
EALE R230 23-N
A Based On 24 Equally Spaced y 66
| 12431197
B
Grease Plug
eSS P ,
Plug g-
o Ui =018l ROV Q= =
© é | N &
2N\ Q
g 4 gﬁ /74 L“\ )
& 18-M
L& Equally Spaced
2376 925 325
303 5
[Input SN 051 | 22
©25.32 +03 =
SIDE VIEW 3325 +051 I ==
M @21.59 +03 & I
i 2295 | 24-318 %‘;
| Equally Spaced 3 = kL’ﬂﬂ gl &
ey |
Ble T £ o ** #s a0 &
1T & B
23425 - 18-0917.5 & :
: -o17. 27.5
@390 ‘ Equally Spaced .
4355 | 15 6B Splineftig
—— &E 7345 E] MOMENT LOAD CHART————— ———— TR FLIEIR Mounting Holes Option —————
0 & 67.8 (50) M N
35 6102045 (Outer Ring 41&) (Inner Ring )
2 S 54.24(40) . o
E £ — M16x2 Tap (BG#)30 M16x2 Tap (BG#)30
E S 47.46(39)
%» @ 40.68 (30) T M16x2 Tap (BGF)30 @18 Thru (E@7L)
g B 389 B | 5/8"-11UNC-2B Tap (B#)30 | 5/8"-11UNC-2B Tap (BIR)30
=
113.39 226.79 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (BG%)30 @18Thru (&7l
(255) (51.0) (76.5) (102.0) (127.5) P () OE#)

Axial Load3#H@# kN (x103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
KE | S & HE RIFHE MO | RRHET | HEsEET | fEmEE | REt | BESR | B2
7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
SE12A 78:1 | <0.17° | 61kg
5532 Ibf.ft 40%10%Ibf.ft | 32x10° Ibf.ft 107x10° Ibf 43x10°Ibf 26x10%Ibf 23x10°Ibf
7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
PE12A 78:1 | <0.07° | 61kg
5532 Ibf.ft 40%10%Ibf.ft | 32x10° Ibf.ft 107x10° Ibf 43x10°Ibf 26x103Ibf 23x10°Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ENE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

& * Please be sure to remain under the curve.J%ES TSR LR E ML BEN
* This drawing is just for your refenece.lA B4Rt %, :
é © This drawing is susbject to change due to new design without prior notice. A A EI{REB XL = RAIALF]
o TABBTE. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
5 NRFEXRENINERITIMERSEH, BERABIKR.

Model Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
KA MHeE R H%E RIFHIE HEHEE | FRHEE | BoEE | fomEE | REl | BESR | B8
8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
SE14A 85:1 <0.17° | 64kg
5900 Ibf.ft 50x10° Ibf.ft | 35x10% Ibf.ft | 125x10° Ibf 50x10° Ibf 30x10° Ibf 26%10° Ibf
8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
PE14A 85:1 | <0.09° | 64kg
5900 Ibf.ft 50x10° Ibf.ft | 35x10% Ibf.ft | 125x10° Ibf 50x103 Ibf 30x10° Ibf 26%10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNGBAYFE A" ERE

* This drawing is just for your refenece.lA B RS %, i
* This drawing is susbject to change due to new design without prior notice. A A BIR BT~ R AILF

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRET

MABSTEN. :
* Please contact the technical department for dimensions and performance parameters of the drives. !

A * Please be sure to remain under the curve. 5B R SR LR A ELSBEA

4

g

f

3
B OMRFBEEBNINERIFIMEES T, BERARIIRKR.




SLEWING DRIVE [E$53miESS

SE1/A-PE1/A

FRONT VIEW
2 &
IERE R276.3
Grease Plug
R
[Te)
~
N~
™
le)
I 20-M
o)
\n Equally Spaced
20-N
282.55 Equally Spaced
348 ki
|
Input  HIAGG
SIDE VIEW 2406 A
MR 036511 | 20.018
‘ ‘ Equally Spaced
© e ST N 1915
@%77 &
ol T
@425 20-017.5
2479.4 Equally Spaced
@522 ‘ B

—— R IEE MOMENT LOAD CHART—————

, & 1356(100)

32 12204(00)

o O

E T 108.48(80)

g E

25 9492 (70)

O X

= w  81.36 (60)

2R

S 678 (50)
=

226.7 4535 680.3 907.1

1133.9

(50.9) (101.9) (152.9) (203.9) (254.9)
Axial Load 3@ 75 kN (<103 Ibf)

INPUT N

+0.08
8 +0.02
+0.065
@25 +0.025 @
o~
_c+$ o
[se)
©
N
25
+051 !
@25.32 +03 £
+0.51 I
@21.59 +03
= 8:
??
v
N
© B
© 2-M12x1.75

N\\WAAR

UNITS/# {i:mm
1inch=25.4mm

Weight:105kg

+0.08

282.55 o

\\\\\\\\\\\‘N

3= ?“:k\‘\‘

52
22|
S &
IR
H-+ 1741 (“)l [te)
! Q N
g |10 Q
27.5

6B Splineftiz

i%}bﬁlﬁ Mounti

ng Holes Option

M16x2 Tap (BG#)32

M16x2 Tap (BIR)32

M16x2 Tap (BI%)32

@18 Thru (i®7L)

5/8"-11UNC-2B Tap (0732

5/8"-11UNC-2B Tap (BUF)32

BT

5/8"-11UNC-2B Tap (B5)32

@18Thru (IE7FL)

14 EEZ243E Slewing Drive Performance Parameters

SLEWING DRIVE [E§53t %22

FRONT VIEW INPUTIERE]
I R334
Grease Plug
’[* S
36-M
E Equally Spaced
Plug A?’\ ? 1
N o | P
< - Grease Plug
[te} N
8l il
\ 35-N
339.1 Based On 36 Equally Spaced 25
403 1#%367L19%
|
Input  HINiiG +051 L
@25.32 +03 b
SIDE VIEW 9533.4 " 22159 %5 r
AR [o467] .
MR [os67 | 36.022
Equally Spaced =
580 eg
"o
N
©
©

—— & 7135 E] MOMENT LOAD CHART

Tilting Moment Torque
B SHE kN.m(x10°Ibf.ft)

216.96 (160)
189.84 (140)
162.72(120)
135.6 (100)

108.48 (80)

81.36 (60)

907.1

1133.9 1360.7 1587.5

1814.3

(203.9) (254.9) (305.9) (356.9) (407.9)
Axial Load ¥ EkN(x 103 Ibf)

UNITS/2 {i:mm
1inch=25.4mm

Weight:149kg

8
1241 22
————— — 9
< N
eI Q
"*““\\\‘ L

52
22|
— [ 1744 ﬁl 8
| S %
- |10 Q
27.5

6B Splineftiz

ﬁ%ﬂ;i&lﬁ Mounting Holes Option

M20x2.5 Tap (BGR)40

M20x2.5 Tap (BUFR)40

M20x2.5 Tap (B0F)40

@22 Thru (iB7L)

3/4"-10UNC-2B Tap (KR)40

3/4"-10UNC-2B Tap (LR)40

BT

3/4"-10UNC-2B Tap (BIF)40

@22 Thru (iE7L)

14 EEZ243E Slewing Drive Performance Parameters

Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision Weight
HE | e REE RIFHE MO | FRHET | HOsEET | fEmEE | REt | BESR | 5=
10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
SE17A 102:1| <0.15° | 105kg
7400 Ibf.ft 100x10°Ibf.ft | 42.8x10°% Ibf.ft | 218x10°Ibf 88x10°Ibf 53x10%Ibf 46x10°Ibf
10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
PE17A 102:1| <0.09° | 105kg
7400 Ibf.ft 100%10° Ibf.ft | 42.8%10° Ibf.ft | 218x10°Ibf 88x10° Ibf 53x%10° Ibf 46x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

 This drawing is just for your refenece.lA B4Rt S %, :
© This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF |

MABSTEN.

& * Please be sure to remain under the curve. S8Rt iE 5 {RCRRE LB o
z
e}
3
[e]
m
4

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEYIERITMERSEY, BERATIIHR. :

Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
RE | B REE RIFHE MOERET | RRHET | HOmsEET | fEmET | REt | BESR | =2
15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN
SE21 125:1| <0.15° | 149kg
11000 Ibf.ft | 150x10° Ibf.ft | 52x10° Ibf.ft | 359x10° Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf
15kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN
PE21 125:1 | <0.09° | 149kg
11000 Ibf.ft | 150x10° Ibf.ft | 78x10° Ibf.ft | 359x10° Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf

“A” VIEW AS INPUT IS ALLOWED

BRI

YFE ‘A7 EE

* This drawing is just for your refenece.lA B RS %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRET

MABSTEN. :
* Please contact the technical department for dimensions and performance parameters of the drives. !

NRFEEBNIIMERIMMESEY, ESRARIIKER.

A * Please be sure to remain under the curve.i%BR SR LR A LS BEM
4
g
f
iz

» This drawing is susbject to change due to new design without prior notice. 2~ S} 88 B R AIIF]



SLEWING DRIVE

5=k EES SLEWING DRIVE [E§53t %22

UNITS/# fi:mm UNITS/8 {iZ:mm
1inch=25.4mm SE A9 PE A9 1inch=25.4mm
Weight:204kg Weight:48kg

FRONT VIEW INPUT RN FRONT VIEW INPUTIERNGZE]
EWE R396 IEAE B R171
A — Grez:,\se Plug o0s 66 +0.08 66
l T 8 +0.02
G Plug @;\ is ~
rease +0.065 I ""'7 ANNNAN
% Plug 5,\1 R @25 +0.025 @ ; ///A= I+ -~ o
¢ 2 H le g 1241 92
Yo L B i 1241 ?u"’i o —4—fgeYEE dabept 0 OO s 1 8
A\ P\ A\ B 23 ¥ e B L SN =1\ I : ™ NSRNNNNW S
N 4 Equal?:/3 -SN;I)aced go “})2%\!}\; % - Equally Spaced \‘7\:;//&:\'! = 8
1945 o =\ ] e 5 Z)) )
= 35-N o - R 75 15-N 275
2-M12x1.75 . X% - .
401.8 Based On~36 Equally Spaced T T Based On 16 Equally Spaced —
467 1%367.197 174.15 -
1167197 @25
@25 238
Input %I Ni% 52 [ Input  FINif 52
22 +051 ! 22|
SIDE VIEW o SIDE VIEW @204 @25.32 +03
i 28 o1 JN= Toms] ] * i
e — ‘ ! - e o178 15-018 221.59 05 > r
L 36-022 S 8. ‘ Based On 16 Equally Spaced é °
Equally Spaced — 7 &8 o 2 ®167L19% = 1 4741 %l B
7 STREPY ] 0 N oo og i STREPN
N $ 2 © s P NS S o ]
Qo J{ 0 Q © N ~ T > 10 Q
IR ,,,} B - | 0 I I
- - N
- ; @145 b3 - ;
2-M12x1.75 275 22205 2-M12x1.75 275
) 2270 N
6B Splinetti 2296 | 6B Splineft$
—— 7&E 73%EE MOMENT LOAD CHART FHEFLIEIR Mounting Holes Option 7R & JI4EE MOMENT LOAD CHART————— FHEFL IR Mounting Holes Option
o 298.28(220) o & 339 (25 M 5
O S o v - N -
g5 271.16(200) g% 3051(225) (Outer Ring 4M&) (Inner Ring FIEE)
S o e
=< _—
£ ¥ 244.04(180) — | M20x2.5 Tap (BGR)40 M20x2.5 Tap (BGFR)40 5§ € 271200 — M16x2 Tap (BF)30 M16x2 Tap (BIF)30
£ 2 216.93(160) 5 2 23.73(17.5)
22 18981 (140) T M20x2.5 Tap (BUR)40 @22 Thru (1B7L) 2w 5034 (15) T M16x2 Tap (BU%)30 @18 Thru (IB7L)
o K : £ R
g 8 16270(120) B | 3/4"-10UNC-2B Tap (IZR)40 | 3/4"-10UNC-2B Tap (BIR)40 E R 1695125 B | 5/8"-11UNC-2B Tap (B%)30 | 5/8"-11UNC-2B Tap (BZ%)30
= =
800 1200 1600 2000 2400 BT | 3/4"-10UNC-2B Tap (BiF)40 @22 Thru (E&7L) 181.44 22679 272.15 317.51 362.87 BT | 5/8"-11UNC-2B Tap (BG%)30 @18 Thru (&7L)
(179.9) (269.8) (359.7) (449.6) (539.5) 408) “(51) (612) (71.4) (816)

Axial Load 3@ 75 kN (<103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision Weight
HE | e REE RIFHE MO | RRFHET | HOsEET | fmET | REt | BESR | 5=
18 kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN
SE25 150:1 | <0.15° | 204 kg
13300 Ibf.ft | 200x10°Ibf.ft | 62.4x10° Ibf.ft | 531x10°Ibf 212x10%Ibf 133x10° Ibf 106x103 Ibf
18kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN
PE25 150:1 | <0.09° | 204 kg
13300 Ibf.ft | 200x10°Ibf.ft | 62.4x10° Ibf.ft | 531x10°Ibf 212x10° Ibf 133x10° Ibf 106%10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

& * Please be sure to remain under the curve. S8Rt iE 5 {RCRRE LB o
 This drawing is just for your refenece.lA B4Rt S %,

SPECIAL DESIGN BASE ON CUSTOMER'’S REQUIREMENT

AIREMENE R TIFRRT

- i 3OILON

» This drawing is susbject to change due to new design without prior notice. 2~ SR 88 B 7= R AVHF)
MABBTEM. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEYIERITMERSEY, BERATIIHR. :

Axial Load ¥ isTkN(x 103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision Weight
ESIC Ik R F%E RIFHIE MEBHEE | ARHEE | MoEE | fOmEE | REl | BESR | B8
6.5 kN.m 33.9 kN.m 34.5kN.m 338 kN 135 kN 81 kN 71 kN
SEA9 61:1 <0.17° | 48kg
4794 Ibf.ft 25x10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30x10° Ibf 18x10° Ibf 16x10° Ibf
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
PEA9 61:1 | <0.09° | 48kg
4794 Ibf.ft 25x10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30%x10° Ibf 18x10° Ibf 16x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET

A * Please be sure to remain under the curve.i%BR SR LR A LS BEM

* This drawing is just for your refenece.lA B RS %, |
S e This drawing is susbject to change due to new design without prior notice. A BIR BT R AILF
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRFERENIMERIMRESEH, BERABIIKR. :



SLEWING DRIVE [E$53miESS

SEA12/PEA12

TEDNGE

UNITS/# {i:mm
1inch=25.4mm

Weight:63kg

+0.08 66
8 +0.02 .
i
+0.065 i
@25 +0.025 @ i Z / ‘ J
I ,‘.,‘\\\\ r
:,;,4 ,(/(\'(((‘““ >
i ii A
N
? o
«Q
@ L
N

FRONT VIEW
IFE A
R218.5
& 18-M
Equally Spaced
o 1 Grease Plug
ug 9 3

o L 5z [0 e

< == 7

3 \ ‘ ]

o ‘
| 4
| _ 19-N
220 Based On Zag%ually Spaced
284 B
N
Input  EINIH
SIDE VIEW @300 ‘
AR E (@259 |
] 20-018

(30.5)

Equally Spaced

>

—— iR & I IEE] MOMENT LOAD CHART——————

Tilting Moment Torque
IRE S kN.m(x10°Ibf.ft)

54.24(40)
47.46(35)
40.68(30)
33.9 (25)
27.12(20)
20.34(15)

113.39 226.78 340.17 453.56 566.95

(25.5)

(51.0)

(76.5) (102.0) (127.5)

Axial Load 4575 kN (103 Ibf)

6-6.25 +0.08 | |

+0.08

2-M12x1.75

6B Splineftiz

©82.55 o

- f%?lﬂ‘ilﬁ Mounting Holes Option —————

Code
(8]

M
(Outer Ring F1E])

M16x2 Tap (B0F)30

N
(Inner Ring AIE])

M16x2 Tap (BUF)30

T

M16x2 Tap (B#)30

@18 Thru (G&FL)

B

5/8"-11UNC-2B Tap (R)30

5/8"-11UNC-2B Tap (R)30

BT

5/8"-11UNC-2B Tap (B0F)30

@18 Thru (1@FL)

'Eﬁggﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [E§53t %22

SEA14/PEA14

113.39 226.79 340.17 453.56 566.95

(25.5)

(51.0)

(76.5)

(102.0) (127.5)

Axial Load 4[5 7aTkN (<103 Ibf)

UNITS/E fizmm
1inch=25.4mm

Weight:68kg

+0.08

T
-
t
N
ol N
H
=
@32
=02

©82.55 o

N
~
o

)\
(Inner Ring AIE])

M16x2 Tap (B0F)30

@18 Thru (G&FL)

5/8"-11UNC-2B Tap (R)30

BT

5/8"-11UNC-2B Tap (BGF)30

FRONT VIEW INPUT N
EMRE R240+2 !
18-M
[Te}
N J
o 4
[sp]
o -
@
23-N
Based On 24 Equally Spaced
%24719%
Y o
Input I\l |
+0.51
@25.32 +0.3
M E @295 23-918 >
@265
= Based On 24 Equally Spaced =
c — I 12431197 28
] —c = q >
o © L
@355 o 2-M12x1.75
@390 ]
@415 6B Splineftig
— &k E 7356 B MOMENT LOAD CHART————— ———— FEEREIR Mounting Holes Option —————
_ 67.8(50) Code M
< 61.02(45) (v ] (Outer Ring 4hE])
g5
g 5424(40) — M16x2 Tap (BF)30
§ E  47.46(35)
é < 40.68(30) T M16x2 Tap ()30
B
2 @ 33.9 (25) B | 5/8"-11UNC-2B Tap (¥i%)30
F o

@18 Thru (J@FL)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
SISt REHIE RIFHE MO | FRHEET | HEEE | fEshEE | REt | BESR | B2
7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
SEA12 78:1 | <0.17° | 63kg
5532 Ibf.ft 40x10%Ibf.ft | 32x10° Ibf.ft | 107x10°Ibf 43%10° Ibf 26x10°Ibf 23%x10°Ibf
7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
PEA12 78:1 | <0.07° | 63kg
5532 Ibf.ft 40x10°%Ibf.ft | 32x10° Ibf.ft 107x10° Ibf 43x10° Ibf 26x10° Ibf 23x10°Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

7'}

- i 3O1LON

* Please be sure to remain under the curve B RH EHRLIRE S LS BRI o
* This drawing is just for your refenece.lA B4Rt S %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI
MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR.

Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
SISt REHIE RIFNE MEEEST | FRHEET | BemEE | fEshEE | RE | BESR | B2
8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
SEA14 85:1 | <0.17° | 68kg
5900 Ibf.ft 50x10% Ibf.ft | 35x10% Ibf.ft | 125x10° Ibf 50x10° Ibf 30x10° Ibf 26%10° Ibf
8 kN.m 67.8 kKN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
PEA14 85:1 | <0.09° | 68kg
5900 Ibf.ft 50x10° Ibf.ft | 35x10° Ibf.ft 125x10° Ibf 50x10° Ibf 30x10° Ibf 26%10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNGBAYFE A" ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SR LR A LS BEA

* This drawing is just for your refenece. LA B4 RS %,

- kR 30ILON

« This drawing is susbject to change due to new design without prior notice. 2 EHREBHGHT= REIIF] |
MABSTE. 1
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMINERI TS EY, BERARIIKR.



SLEWING DRIVE [E$53miESS

SEA17C/PEA17C

FRONT VIEW
EMLE R281
= Grease Plug
SHE
10
N~ _
(o]
Dl
5 20-M
T Equally Spaced
20N 9%
Equally Spaced
282.55 %5
347
Input  FI i
SIDE VIEW 0430 '
MARE gggg 20-018
H Equally Spaced
8 S ey o 0
@355 N
@435
4794
@505
—— iR E I IEE] MOMENT LOAD CHART——————
. & 1356(100)
22 122.04(90)
o O
£ X 108.48(80)
g5 as02 (70
O X
= W 81.36 (60)
g R
S @m 678 (50)
-

6.7 4535
(50 9) (101.9) (152 9) (203 9) (254 9)

Axial Load 4575 kN (x103 Ibf)

TEDNGE

UNITS/8 {iZ:mm
1inch=25.4mm

Weight:88kg

+0.08 66
8 +0.02
I
225 100 Q) p. / S
A‘.,‘\\\\ - _
,(I\I\'(((‘\\“ So
B P | 1241 ‘i’m
————— 1— [T}
o o
g o
© Q
o L
N
25
52
|
225.32 %05 8 2
@21.59 +03 2 "
= L1741 %] ‘8
eg ! Q N
T > _9 Q
[Te) L
N
© L
© 2-M12x1.75 27.5
6B Splinetti
- i%ﬂiﬁlﬁ Mounting Holes Option —————
Code M N
v (Outer Ring 9ME]) (Inner Ring AIE])
— M16x2 Tap (BIF)32 M16x2 Tap (BUR)32
T M16x2 Tap (IR)32 @18 Thru (&%)
B | 5/8"-11UNC-2B Tap (IiR)32 | 5/8"-11UNC-2B Tap (IZF)32
BT | 5/8"-11UNC-2B Tap (KF)32 @18 Thru (&FL)

'Eﬁggﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [E§53t %22

Axial Load 48 7aTkN (103 Ibf)

UNITS/& {iz:mm
1inch=25.4mm

Weight:140kg

FRONT VIEW INPUTIERE]
ERE R344
Cover l 3*8'82 66
GTEE] = 10
225 10058 ' : ]
U©W -
3 ( ‘ "\x g 77777 1221 +5§.
N
:r)' S %JJ - g
3 /&) Equally Spaced % %\ 2 \'g
& 2-M12x1.75
- : 275
339.1 Based On 36 Equally Spaced
404 1367197 @25
! 52
Input I 0g
put i £g -
SIDE VIEW o534 , g @‘&@ =i
e [2466.7] W © %\q g
Based On 16 EquaIIy Spaced %) 8 i 8 @
@ o 1%367L19% +051 J - , &
17 21.59 +03 ® @ — Q
== +0.51 @ = -
25.32 +03 2-M12x1.75 10
: 27.5
2615 6B Splinefzig
—— & 7456 E] MOMENT LOAD CHART—————— ——— FTEFLIEIR Mounting Holes Option ——————
o & 216.96(160) o M N
T 2 189.84(140) v (Outer Ring FH) (Inner Ring PIEE])
2% \
£ & 16272(120) — | M20x2.5 Tap (BF)40 M20x2.5 Tap (BF)40
E 2 1356 (100)
2 & 10848 (80) T M20x2.5 Tap (BOF)40 @22 Thru (B3L)
o R .
=
= B 8136 (60) B | 3/4"-10UNC-2B Tap (BGE)40 | 3/4"-10UNC-2B Tap (BGR)40
=3
133,9 1360.7 1587.5 1814.3 BT | 3/4"-10UNC-2B Tap (BGE)40 @22 Thru (&L
(203 9) (254 9) (305.9) (356.9) (407.9) P wRd)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Model  Qutput Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
SISt REHIE RIFHE MEEES | FRHEET | HEsEE | fEshEE | REt | BESR | B2
SEA 10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
102:1 | <0.15° | 88kg
17c 7400 Ibf.ft 100x10°Ibf.ft | 42.8x10° Ibf.ft | 218x10°Ibf 88x10°Ibf 53x10%Ibf 46%10°Ibf
10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
PEA 102:1| <0.09° | 88kg
17C 7400 Ibf.ft 100x10°Ibf.ft | 42.8x10° Ibf.ft | 218x10°Ibf 88x10°Ibf 53x10%Ibf 46%10°Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AR

PRI TIRRIRIT

* Please be sure to remain under the curve B RH EHRLIRE S LS BRI o
* This drawing is just for your refenece.lA B4Rt S %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{R BB P~ RAIALFI
MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR.

Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
SISt REHIE RIFHE MEEESE | FRHEET | BemEE | fEshEE | REt | BESR | B2
15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN
SEA21 125:1| <0.15° | 140kg
11000 Ibf.ft | 150x10° Ibf.ft | 52x10° Ibf.ft | 359x10% Ibf | 144x10° Ibf 87x10° Ibf 75%10° Ibf
15 kN.m 203 N.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN
PEA21 125:1| <0.09° | 140kg
11000 Ibf.ft | 150%10° Ibf.ft | 52x10° Ibf.ft | 359x%10° Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNGBAYFE A" ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SR LR A LS BEA
* This drawing is just for your refenece. LA B4 RS %, |
S e This drawing is susbject to change due to new design without prior notice. A& BIR BT R AILF
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRBERENINERIMRESEH, BERABIIKR. :



SLEWING DRIVE [El§30iRi%EaS SLEWING DRIVE [E%550iR =S

SEA25/PEA25 g = SEB7/PEB7 s e

Weight:165kg Weight:26kg
FRONT VIEW INPUT NS FRONT VIEW INPUT Nl
e, ERE
| (456) 390
386.8 R133+2 4-R7 4:8:82 35
Grease Plug J A — S
JEE 2
§\\§s\;\'(('\'\\\\ go
e +0.055 \® g '~
- D12 +0.015 % h5e)
Q Plug - ol 4-96Thrul_1210 Q
HEEE | e Equally Spaced
- 75%75
e - =
[te} N
g “c
N o] @25 § Equally Spaced 212
I 32-N - 9%
= Based On 36 Equally Spaced -
Input NI 23671597 52 A — iRk &} 5B E] MOMENT LOAD CHART
£g 10 ly
T o 137.2 13558(10000)
el . i el
EUI??'EVIEW o628 | < 0°9 ;{/{'I%?-}; g 1702 % S & 12202 (9000)
o [ 2565 | o @/ \@ < 772) | | 2241 SS g3
@527 : “ 82-022 1 G > g %/ﬂisj - B [ Input #AGH - < 10847 (8000)
ased On 36 Equally Spaced 051 @ ﬂ - //////J,///{{f ® 2 Z 9491 (7000)
slale "5 123671197 2215903 X 546 Gz S # 8135 (6000)
< 212532 105 2-M12x1.75 27.5 £® 6779 (5000)
SIDE VIEW SR
s e 4536 68.04 90.71 113.39 136.07
6B Splinetei# @150 ; (162) (183) (204) (255) (30.6)
@120.6 ‘ 10-014 Axial Load #[E# kN (x103 Ibf)
©98 1T Equally Spaced
. - s ) ) L — qually Space 5 N
—— FEH BB MOMENT LOAD CHART—————— ——— FTZEFLIEIT Mounting Holes Option ————— o ﬁ/yﬁ; —— ZEEP IR Mounting Holes Option —————
g 298.28(220) Code M N ol @ | 9 | 8 Code M N
2 271.16(200) v (Outer Ring FH) (Inner Ring AIE) P ] (Outer Ring 4ME) (Inner Ring PIFE)
[<) 2 T <]
% 244.04(180) - - j ‘ © . N
% 216,93 §160< — M20x2.5 Tap (BIR)40 M20x2.5 Tap (BUR)40 © © — M12x1.75 Tap (BUR)25 M12x1.75 Tap (BUR)25
z' . ]
2 189.81(140) T M20x2.5 Tap (iR)40 @22 Thru (i@4l) o182 | T M12x1.75 Tap (BUR)25 @14 Thru (i@7L)
@ 162.70(120) B | 3/4"-10UNC-2B Tap (BIR)40 | 3/4"-10UNC-2B Tap (IiF)40 @203.2 B | 1/2"-13UNC-2B Tap (Bi%)25 | 1/2"-13UNC-2B Tap (I%iF)25
=
(187%09) (z'lgg%) (:;568%) (4%28%) (52:;1805) BT | 3/4"-10UNC-2B Tap (KR )40 @22 Thru (J@FL) 221 BT | 1/2"-13UNC-2B Tap (BiR)25 @14 Thru (&%)
Axial Load #fi@#7EkN(x 103 Ibf)
'Eﬁggﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Model  OQutput Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Model  Qutput Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
ESS ] mEDE REFNIE HEFHEE | FRFREE | WBosEE | fomiiEiE | REl | BESH | BEE ESS ] REDE REFNIE HEFEE | FRHEE | BooiEE | RO | REl | BESH | BEE
18 kN.m 270 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN 1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN
SEA25 150:1| <0.15° | 165kg SEB7 73:1 | <02° | 26kg
13300 Ibf.ft | 200x10°Ibf.ft | 62.4x10° Ibf.ft | 531x10%Ibf | 212x10°Ibf | 133x10°Ibf | 106x10°Ibf 1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf
18 kN.m 270 kKN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN 1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN
PEA25 150:1| <0.09° | 165kg PEB7 73:1 | £0.11° | 26kg
13300 Ibf.ft | 200x10%Ibf.ft | 62.4x10°% Ibf.ft | 531x10°Ibf 212x10°%Ibf 133%x10° Ibf 106%10° Ibf 1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf
””””””” AYENASNATSMLOND ) [Pesebesrobonanunde e e sEEARERERRTHARES. | wuewsmewsauower  f) [Pemebecusiommanune honne pEmamEsERRTREES.
O\ 4 “A EE ) 3 =l e, : s\ i 4 OXNE™ . . & s,
m)\MﬁﬁF& ,,,,,, I‘]?ﬂl ,,,,,,,,,,,,,,,,,,,, § © This drawing is susbject to change due to new design without prior notice. A A EIREE 2= FAIELF | m)\%ﬁﬁzﬁ A I‘]%A”EI 77777777777777777777 5 e This drawing is susbject to change due to new design without prior notice. 22X EHR BB BUH 7= MAILF |
, o MABBEA. : , 5 WAESTEA. 3
SPECIAL DES_IE%;%S@E@%%?‘[?Q:E;?}_REQUIREMENT %‘; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘;EBASE ON CUSIOM_ERS REQUIREMENT rn; * Please contact the technical department for dimensions and performance parameters of the drives. !
FIRIER A7aHimRY T NRRBEEMNYRTINESEE, BORABIEER, | FIRIEMENERIETIFRR T NRRBEENRTIESEY, BORABIIER. |



SLEWING DRIVE [E§s=RESS SLEWING DRIVE [E§=miES

SEB9/PEB9 | e SEB12/PEB12 e o

Weight:49kg Weight:68kg

FRONT VIEW INPUT RN FRONT VIEW INPUTIERNGZE]
EE FE R218.5
|A R171 A
B +0.08 66 . 66
8 +0.02
+0.065 E
B25+0.025 @ iz ~ _
A _ § o Ie} § o
of TH e i . R\ A || 1241 "o S 4 PegrEE L oGl RN\ 3 S | |f2s1 %2
) & )
o Equally Spaced 3o NI g 2 Equally Spaced NS 2
~| & 975 ™ \7‘;"?‘\\‘\%\ 1 5 ‘2,:,’?\\\\\%\ |
15-N & — 1 N —8
] -~ ey 19-N “
174.15 Based 0%1166?&[;%)’ Spaced Based On 20 Equally Spaced 27.5
238 @25 220 207,897 7525
[input SN 52 o
051 | 22 Y Input PN 52
2204 22532 103 i +051 \ 2
~—1 = - 325.32 +03 ~
EUI%%VIEW o] _ 15-918 ‘ @ r I\ = ) SIDE VIEW @300 . =i
Based On 16 Equally Spaced S 2 fuinE 0259 20-318 & s 1
NP i S #163L19% 7 & : 8 Equally Spaced R L ~T Fa
° Il ES Q i o i 1575 3 — 17 @ 9
’’’’ P = k=] = ! N i w o 1 Q ol
® o) © i) = 0 @ (u\lv =9 0
S 1 10 ) i B ?? > 10 Q
5 - | 1Y
3145 ; = - - N -
\.v © | -
4-% 2:-M12x1.75 275 & 2-M12x1.75 275
@296 inath s
‘ 6B SplinefesE 6B SplineftsE
- - =] - - ] . " - .
TRELTIFEE MOMENT LOAD CHART F23FLEIR Mounting Holes Option & 7745 E] MOMENT LOAD CHART—————— ———— FEEFLIEIR Mounting Holes Option
. & 33.9 (25) Code M N £ 54.24(40) M N
— s e 0 = . )
5’ «32 30.51(22.5) (A5 (Outer Ring 5HE) (Inner Ring PIE) = =2 47.46(35) > (Outer Ring 4MNE&]) (Inner Ring &)
£ 5 2712 (20 — M16x2 Tap (0F)30 M16x2 Tap (BGF)30 e 4 68(30)
€ 2373(17.5) ap (BUF) ap (BUF) T3 ' — M16x2 Tap (F)30 M16x2 Tap (F)30
§2 g e o . 2 £ 3395
2 ;é 20.34 (15) T M16x2 Tap (B#)30 @18 Thru (iE7L) SE L, (20) T M16x2 Tap (BUR)30 @18 Thru (IBFL)
2R 16.95(125 y s g - o 5 )
=B (129) B | 5/8"11UNC-2B Tap ()30 | 5/8"-11UNC-2B Tap ()30 SR 203419 B | 5/8"-11UNC-28 Tap ()30 | 5/8™-11UNC-28 Tap (F)30
=
181.44 226.79 27215 317.51 362.87 BT | 5/8"-11UNC-2B Tap (KIF)30 @18 Thru (1@FL) = " = N
113.39 226.79 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (I%)30 @18 Thru (G@FL
(40.8) (51.0) (61.2) (71.4) (81.6) o8 50 Hes (tovo) (2rE) p (BUR) (&#L)
) - 3 \
Axial Load SIREERTKN(x102 16 Axial Load ST kN (x103 Ibf)
'Eﬁggﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Model  OQutput Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
ESIC It EDE RIFHE MEEESE | fRHEET | HEsEE | fEshEE | REtE | BESR | B2 SISt REDE RIFNE AT | FRHEET | BemEE | fEshEE | RE | BESR | B2
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN 7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
SEB9 61:1 | <017° | 49kg SEB12 78:1 | <0.17° | 68kg
4794 Ibf.ft 25x10%Ibf.ft | 25.5%10° Ibf.ft | 76x10°Ibf 30x10° Ibf 18x10° Ibf 16x10° Ibf 5532 Ibf.ft 40x10° Ibf.ft | 32x10° Ibf.ft | 107x10° Ibf 43x10° Ibf 26x10° Ibf 23x10° Ibf
6.5 kN.m 33.9 kN.m 34.5 KN.m 338 kN 135 kN 81 kN 71 kN 7.5 kN.m 54.3 N.m 43 kN.m 475 kN 190 kN 114 kKN 100 kN
PEB9 61:1 | 0.09° | 49kg PEB12 78:1 | <0.07° | 68kg
4794 Ibf.ft 25x10°Ibf.ft | 25.5x10° Ibf.ft | 76x10°Ibf 30x10° Ibf 18x10° Ibf 16x10° Ibf 5532 Ibf.ft 40%10° Ibf.ft | 32x10° Ibf.ft 107x10° Ibf 43%x10° Ibf 26%10° Ibf 23%x10° Ibf
o A ©Please be sure to remain under the curve BERESTESFASERATER. 3 o A ©Please be sure to remain under the curve BRI R LFA G AOER.
. QE\V;%AELEXEU‘&I”S QJI}J;,WED & * This drawing is just for your refenece. LA L B4RVt &% : . %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A * This drawing is just for your refenece.LL LIRS , |
& e This drawing is susbject to change due to new design without prior notice. A SHR B HGH = REF) | 5 This drawing is susbject to change due to new design without prior notice. A\ E{R BB B = SRAINF
, 5 WABSTED. 3 , 5 WABESTEA. 3
SPECIAL DESIG){N}EBASEEE(;N %’J&S,I?Q:ER iREQUIREMENT E * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘;EBASEEB(;N %L;;Igg/l;R iREQU'REMENT i * Please contact the technical department for dimensions and performance parameters of the drives. !
FIRRRUE IR R AR 5 NREBEEMNUR TSRS SN, BERANIIEER, | FIRIBRE MR TR 5 MERBEENNYRTIMESEN, HSRABIIEER. |




SLEWING DRIVE [E§:=RESS SLEWING DRIVE [E§miES

SEB14/PEB14 e SEB17C/PEB17C s g

Weight:74kg Weight:92kg
FR|9NT VIEW TN ZIE FRSNT VIEW 20-M INPUT RN
=] =
FE IA R240 IEMRE Equally Spaced
+0.08 66 20-N +0.08 66
8 +0.02 Equally Spaced
J Grease Plug ~ 515
i +0.065 / \\\\ B Grease Plug
j 25 +0.025 @ 2 ./“{\ ~ i ~
2 ! | \‘\\/\’\’((\"'\\“ § IS e | B BE - § o
5 —_—— <i2i1 +h°a % 77777 H71211 +t8
o ~ g E g
2 . 18-M ¥ g S} | o | g Q |
Equally Spaced X
9%
23-N
Based On 24 Equally Spaced 282.55
‘ #%24311978 25 347
Input  FiNEE 52 | Input BN ‘ 52
| +0. | 22
225.32 103 2 925.32 105 ~
SIDE VIEW % w051 4 SIDE VIEW 2430 w051 "‘ - =5
IS @295 @21.59 +03 3 r 71 | @21.59 +03 > T
MR E ‘ 23-018 8 _ e gggg - ‘ 20-918 So
F I
TH Based ;;leitli]q%ally Spaced : T 4724 ‘C‘N’l 8 0350 ‘1 EquaIIi/JSpaced 3 4741 gl 9
b = o 0g | SIS 8 = s i S
S © 1N= 39 S 0 @ e ?T > 10 S
© I N— [ 10 Q 0 [
w | « —
| N LO L =
© T
2352 ® 2-M12x1.75 275 ® 2-M12x1.75 275
@390 ) )
@415 6B Splinefeiz 6B Splinefts2
E— E‘ﬁﬁ*ﬁ MOMENT LOAD CHART—— E— §§;Liﬁ1ﬁ Mounting Holes Option ————— _— E(ﬁjj*ﬁ MOMENT LOAD CHART ———m8 _— *"t}l, Iﬁ Mounting Holes Option ———————
° & 67.8 (50) M N 0 & 135.6(100) M N
g2 61.02(45) : (Outer Ring 4M8)) (Inner Ring &) 2 8 122.04(90) e (Outer Ring 4M8)) (Inner Ring AIE])
S o 5 ©
< -
=X i‘;-ig(‘;z) — | M16x2 Tap (B3F)30 M16x2 Tap (BL)30 =X 19‘:8:28(32) — | M16x2 Tap (K3R)32 M16x2 Tap (0732
§ £ 009 T M16x2 Tap (BIR)30 @18 Thru ((@FL 5 E 20 T M16x2 Tap (BIR)32 @18 Thru ((@FL
2 40.68(30) ap (UR) ru (@£L) S5 8136 (60) ap (UR) ru (&@#L)
jo2]
_R jo2]
% @ 33.9 (25) B | 5/8"-11UNC-2B Tap (KF)30 | 5/8"-11UNC-2B Tap (IKZiF)30 % @ 67.8 (50) B | 5/8"-11UNC-2B Tap (KF)32 | 5/8"-11UNC-2B Tap (IKi%F)32
= =
113.39 226.79 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (BR)30 @18 Thru ((&7FL) 453.5 907.1 BT | 5/8"-11UNC-2B Tap (iR)32 @18 Thru ((&7FL)
(25.5) (51.0) (76.5) (102.0) (127.5) (50 9) (101.9) (152 9) (203.9) (254 9)
Axial Load @& kN (%103 Ibf) Axial Load kN (%103 1bf)
'Eﬁggﬂﬁ Slewing Drive Performance Parameters Egg ;ﬂﬁ Slewing Drive Performance Parameters
Model  OQutput Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
SISt mEDE RIEFNE MEEES | FRHEET | HEsEE | fEshEE | REt | BESR | B2 ESS ] REDE RIFNE HEFEE | FRREE | BosiEE | RO | REl | BESH | BEE
8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN 10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
SEB14 85:1 | <017° | 74kg SEB 102:1| <0.15° | 92kg
5900 Ibf.ft 50x103Ibf.ft | 35x10° Ibf.ft | 125x10°Ibf 50%10° Ibf 30x10° Ibf 26x10° Ibf 17C | 7400 Ibf.ft | 100x10° Ibf.ft | 42.8x10° Ibf.ft| 218x10° Ibf 88x10° Ibf 53x103 Ibf 46x10°3 |bf
8 kN.m 67.8 kKN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN 10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
PEB14 85:1 | <0.09° | 74kg PEB 102:1 | <0.09° | 92kg
5900 Ibf.ft 50x103Ibf.ft | 35x10° Ibf.ft | 125x10°Ibf 50%10° Ibf 30x10° Ibf 26x10°Ibf 17C | 7400 Ibf.ft | 100x10° Ibf.ft | 42.8x10° Ibf.ft | 218x10° Ibf 88x10° Ibf 53x10° Ibf 46%10° Ibf
o A ©Please be sure to remain under the curve B RESTESFASERATER. ; o | ©Please be sure to remain under the curve BRI EIELF A AOER.
. QE\V;%AELEXEU‘&I”S QJI}J;,WED & * This drawing is just for your refenece. LA L B4RVt &%, : : %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A ° This drawing is just for your refenece.LL LIRS |
g ° This drawing is susbject to change due to new design without prior notice. A EHRERH = FHIRLF g e This drawing is susbject to change due to new design without prior notice. A EIREBBUHF=FRAIIFI
! 5 MABSTE. : ) 5 MABSTE. 1
SPECIAL DES;EEE,%%%?%%@;?;;Z;REQU'REMENT E * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DE%%E%%;;%;&;;??;;;REQU'REMENT i * Please contact the technical department for dimensions and performance parameters of the drives. !
o 5 NRFEEENINERITIEAESEY, BERARMIIHER. ! ” L

MRFERBNIIMER IS EY, BESRARIIKER.




SLEWING DRIVE [ miESS

SEB21/PEB21 s wrn

Weight:142kg

SLEWING DRIVE [E§53t %22

SEB25/PEB25 s o

Weight:168kg

R390 Ly
FRHONT VIEW R344 TN FRSNT VIEW INPUT BN
=] =
1IERE A EE Grease Plug
Grease Plug n +0.08
3 8 +ggg 66 1 - N 8 +0.02
SRR 10 go
+0.065 i i T & s S
@25 +0.025 S VESS Q @ ©)
0 /,4§g* Y
2| | ey HE © : ‘“\\ 8
© & 2 \ < ) | 1241 %2 © *1(' —
g 36-M o 8 = © o
Q Equalg]%paced 3| lo R J@J A “‘)‘1‘»(“{ § J 25 12058
go ] N\e\ 2 +0.025 -
soN ol NO¥L N e=h 32N 2-M12x1.75
- N 2-M12x1.75 275
Based on 36 Equally Spaced = Based or;;gs?ﬁtl’{]a;flﬁy Spaced
123671197 386.8 £ 025
|1 LN 7% (458)
nput AIJ Mfuﬁ LA )\ bl
| Input  EINif 52
52 0
og - £8 0
SIDE VIEW @534 gs —£2 "5 £ A e
e [2466.7 | S * N SIDE VIEW ﬁws 5| (979 g7 s
-—1 N \\\ // g I @565 T @ / ,Al' So
2425 35-922 g = =R e n 32-222 @] N © = {////{L/// 2241 9
Based on 36 Equally Spaced L 17+1 gt P @527 Based on 36 Equally Spaced y § - //////llﬁi B &
3 2367197 o5t A T T - 1#%367.19% +051 /»4 g
T 9 @21.59 +03 8 S| Wﬁa @21.59 +03 %0 ,,‘,',',l,,A,,,Z
22532 103" 10 - ° 225.32153 2-M12x1.75 275
27.5
T 6B Splinefeiz
6B Splineti 2710
—— & I E MOMENT LOAD CHART————— ——— FTEEFLIEIR Mounting Holes Option —————— —— &E 46 E] MOMENT LOAD CHART————— ———— FEEZL5IE Mounting Holes Option
o g 216.96(160) M N o g 298.28(220) M N
o 2 189.84(140) : (Outer Ring 41M&) (Inner Ring AIEE) 2 2 271.16(200) > (Outer Ring 41M&) (Inner Ring M)
o O o O
s 120 5 b X 244 ;
z & 162720120 — | M20x2.5 Tap (HRMO M20x2.5 Tap (Bi%)40 £ ¥ 244.04(180) — | M20x2.5 Tap (HRMO M20x2.5 Tap (K740
£ - 135.6(100) £ = 216.93(160)
2 ;é 108.48 (80) T M20x2.5 Tap (Bi%)40 @22 Thru (&%) S o 189.81(140) T M20x2.5 Tap (BZi%)40 @22 Thru (&%)
(=] o H -
% @ 81.36 (60) B | 3/4"-10UNC-2B Tap ()40 | 3/4"-10UNC-2B Tap (iF)40 § Tu'fg 162.70(120) B | 3/4"-10UNC-2B Tap (%)40 | 3/4"-10UNC-2B Tap (IiF)40
= =
1133.9 1360.7 1587.5 1814.3 BT | 3/4"-10UNC-2B Tap (KIi®)40 @22 Thru (J&@7L) 2000 BT | 3/4"-10UNC-2B Tap (KIiR)40 @22 Thru (J&7L)
(203 9) (254.9) (305.9) (356.9) (407.9) (179 9) (269 8) (359 7) (449.6) (539 5)
Axial Load & kN (x103 Ibf) Axial Load kN (%103 1bf)
'Eﬁggﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Model  Qutput Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
SISt mEDE REFNE MEEES | FRHEET | HesEE | fEshEE | REt | BESR | B2 ESS ] REDE REFNIE HEFEE | FRHEE | BosiEE | RO | RRl | BESH | BEE
15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN 18 kN.m 271 kN.m 84.5 kKN.m 2360 kN 945 kN 590 kN 470 kN
SEB21 125:1| <0.15° | 142kg SEB25 150:1| <0.15° | 168kg
11000 Ibf.ft | 150x10°Ibf.ft | 52x10° Ibf.ft | 359x10°Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf 13300 Ibfft | 200x10° Ibf.ft | 62.4x103 Ibf.ft| 531x103 Ibf | 212x10% Ibf | 133x10% Ibf | 106x10° Ibf
15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN 18 kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN
PEB21 125:1| <0.09° | 142kg PEB25 150:1 | <0.09° | 168kg
11000 Ibf.ft | 150x10%Ibf.ft | 52x10° Ibf.ft | 359x10°Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf 13300 Ibf.ft | 200%10° Ibf.ft | 117x10°% Ibf.ft | 531x10% Ibf | 212x10% Ibf | 133x10° Ibf | 106x10° Ibf
o A\ ©Please be sure to remain under the curve BEREETESFASERATER. 3 o A ©Please be sure to remain under the curve BRI R LFA G AOER.
. QE\V;%AELEXEU‘&I”S QJI}JI;T,WED & * This drawing is just for your refenece. LA L B4RVt &% : . %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A * This drawing is just for your refenece.LL LIRS , |
& e This drawing is susbject to change due to new design without prior notice. A SHR B HGH = REF) | & e This drawing is susbject to change due to new design without prior notice. AN EHRERHIH = SRAUF] |
, 5 WABSTED. 3 , 5 WABESTEA. 3
SPECIAL DESIG,fNEASEEEgN %’J&S,I?Q:ER iREQUIREMENT E * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘;EBASEEB(;N %L;;Igg/l;R iREQU'REMENT i * Please contact the technical department for dimensions and performance parameters of the drives. !
AREmEA R AT 5 NREBEEMNUR TSRS SN, BERANIIEER, | ARSI R TR = ‘

NRFEEBNIIMER IS EY, ESRARIIKER.




SLEWING DRIVE [E§s=RESS SLEWING DRIVE [E§=miES

UNITS/# {i:mm
1inch=25.4mm

UNITS/E2 fizmm
1inch=25.4mm

Weight:37.5kg Weight:55.5kg

FRONT VIEW INPUTIEREE FRONT VIEW INPUT NGNS
EE EWLE
Cover [ 66 A 66
A R138+2 +0.08 Cover +0.08
PR E 10-M 0065 87002 10| RE 1 R18042 w00 81002 10|
@25 +0.025 @25 +0.025
Equally Spaced T T
_ O % — O > i —
G s = uACY S o Grease Plug uACY X o
— I’E?SE ug | = < 1241 go iz 1 i < 1241 %O
- L e % < = "9 3 ! E < =8
8 = % e & % = o
| Yol \\ = > 8 " 15-N Yol \ > 8
2 / 11-N 2 O% 0 ©f . / Based On 16 Equally Spaced 2 ©%. 0
< N 3 = ®167L19% “‘ 3 =
] : Based On 12 Equally Spaced 2-M12x1.75 275 16-M 2-M12x1.75 275
o5 #127L19% 1+§0 Equally Spaced
206.5 4 @25 ‘244 2 975 725
| Input %N\ 051 52 Input  HINii% 051 52
- ©25.32 +03 22 ©25.32 +03 22
@195 2 @220
SIDEVIEW  gigg #2150 25" o = ) SIDE VIEW 5175 . 2215905 E2®, Nz )
R oo, [2135 o4 8 e 2145 - 8
‘o 2105 -+ < g° ‘ ‘ Based On 16 Equally Spaced < So
~ sl Based On 12 Equally Spaced 1 S L] 1721 gl 8 ; 1670157 1 S L] 1721 g8
o St 2127197 g - * 8 & | 2 8 - * 8
ov|® ~ $< S |10 S D) < . |3 g< S 10 S
NN D 8 3 9 - 2 -
© 22 2138 © —
@98 © 2-M12x1.75 27.5 o042 © 2-M12x1.75 27.5
@182 =
L 2270 .
2205 6B Splineftig 2301 6B Splineftig
@231
— & &F H5EE] MOMENT LOAD CHART—————— — ZEEREIE Mounting Holes Option ——— — & &F 155 E] MOMENT LOAD CHART———— L FLIFEIR Mounting Holes Option
= 15(11.07) Code N N o 36(26.57)
85 125(9.23) e (Outer Ring 4M&) (Inner Ring PIFE) % & 30(22.14)
22 10 (7.38) B - 2T 24(17.71) - -
= % — | M12x1.75 Tap (B%)25 M12x1.75 Tap (BF)25 z % — M16x2 Tap (BUF)30 M16x2 Tap (BIF)30
$E 7565 2 E  18(1329
g @ 5 (3.69) T M12x1.75 Tap (BUR)25 @14 Thru (iE@7L) 2 ;é 12 (8.86) T M16x2 Tap (IEiR)30 @18 Thru (1B7L)
j=2] (2]
g @ 2.5(1.85) B | 1/2"-13UNC-2B Tap (BGF)25 | 1/2"-13UNC-2B Tap (BR)25 % ;@ 6 (4.43) B | 5/8"-11UNC-2B Tap (BUi®)30 | 5/8"-11UNC-2B Tap (BIF)30
= L=
4445 8889 13333 177.78 222.22 BT | 1/2" 4 R & 100 200 300 400 500 600 BT | 5/8" 4 R 5
445 8880 13533 177,78 2222 1/2"-13UNC-2B Tap (BF)25 @14Thru (B7L) (o3, 79 S 40 S50 8%, 5/8"-11UNC-2B Tap (B0F)30 @18 Thru (&7L)

Axial Load i@ arkN(x 103 Ibf) Axial Load #fiE#fakN(x 103 Ibf)

14 EEZ243E Slewing Drive Performance Parameters

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear Tracking . Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘'/eight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
R B H%E RIFNE AR FosEa | mEshEdE RamEsE | REt | BESR | 2= MLEE REHIE RIFHE I ERETE R A EhETE RO | mE | BESR | EE
3.5kN.m 142kN.m 20kN.m 220 kN 90 kN 63 kN 48 kN 8 kN.m 356 kN.m 34.5kN.m 578 kN 215 kN 136 kN 115 kN
47 :1 <0.15° | 375kg 62:1 <0.15° | 55.5kg
2583 Ibf.ft 10.5x10%Ibf.ft | 14.8x10°Ibf.ft| 49.5%10°Ibf 20.2x10%Ibf | 14.2x10%Ibf 10.8x10° Ibf 5904 Ibf.ft 26.3x10°Ibf.ft | 25.5x10%Ibf.ft | 129.9x10%Ibf | 48.3x10°Ibf 30.6x10°Ibf 25.9%10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

& * Please be sure to remain under the curve.J%ES TSR LR E ML BEN
* This drawing is just for your refenece.lA B4Rt S %,

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

g This drawing is susbject to change due to new design without prior notice. 2 A F)R 88 B0 7= R AIRLF
o MABSTEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
5 NRFEXRENINERITIERESEH, BERAMIIKR. :

“A” VIEW AS INPUT IS ALLOWED
BNGBAYFE A" ERE

A * Please be sure to remain under the curve. 5B R SR LR A LS BEA
* This drawing is just for your refenece. LA B4 RS %,

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET

S e This drawing is susbject to change due to new design without prior notice. <A E)R 88 B0 = R HIRLF
o  MABS{TEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRBERENINERIMRESEH, BERABIIKR. :




SLEWING DRIVE [EI§5=tiEiES SLEWING DRIVE [EI§5=t %S

UNITS/E fi:mm UNITS/E {iz:mm

1inch=25.4mm 1inch=25.4mm
Weight:74kg Weight:82kg
FRONT VIEW INPUTIERNGEE] FRONT VIEW INPUT RNl
EWRE TERE
Cover A Reesi2 o 66 Cover |, R240+2 4108 &6
- +0.02 +0.02
ik | Equally Spaced +0.065 10 BipE 7 +0.065 10
) s @§25+0.025 H— l: - @25+0.025 H—
Grease Plug 0 © _ AN 4 4 R Grease Plug 0 © WS _
o E s ] E!\ 1241 § S ] 4 9 R B E!\ = 12+1 é o
8 A M £1 73 2 [ , D\ M £ %
] LY =] o e} 18-M % = { o
9 19-N go = - 8 Equally Spaced go Ry - Pt 8
x \ Based On 20 Equally Spaced oo S | S i},’f]?ﬁ oo N -{/g;i\!'\\*\ |
i #207L197% g \ORO T g \©%RO e
: 2-M12x1.75 275 % 23-N 2-M12x1.75 275
222-? 2378 Based On 24 Equally Spaced
286.5 ° : 1%2431197
‘ : @25 6 301.5 7 25 o
Input FI 051 [ Input HINif 051
225.32 +03 22 ©25.32 +03 22
SIDE VIEW @300 ) +051 — @340 +051 —
. @21.59 +03 D i — SIDE VIEW @21.59 +03 D N =
AR [o29] | © | - : [0295] © | .
e g;gg ) 19-218 N : 3 MIRE % 23-918 , - 8
Based On 20 Equally Spaced < 1 ~T @ ~ " ||[jBased On 24 Equally Spaced < ] ~T o
T ®207.19% . o | 1781 @ @ ol 1%243L397% 1 S| - L1741 @ ©
~ ) 1 Q) o ~ N I Q) o
© © 0y = I © bl £ of © vz =) I ©
- 3 S Ss > 10 Q © = ] > 10 Q
& B & -
2220 © — 2256 P ez
@327 © 2-M12x1.75 275 2363 © 2-M12x1.75 275
2358 - 2390 —
@391 6B Splinefrig 0426 6B Splinefrig
— & &F H5EE] MOMENT LOAD CHART—————— — ZEEREIE Mounting Holes Option ——— — & &F 155 E] MOMENT LOAD CHART———— — Z#EFIR Mounting Holes Option
. E 60 (44.28) Code M N 0 g 72 (53.14)
2 ;g 50 (36.9) G (Outer Ring 4MNE)) (Inner Ring &) g 60 (44.28)
S o e 2
=y 40@9%) — M16x2 Tap ()30 M16x2 Tap (KF)30 ry MBG542 — M16x2 Tap ()30 M16x2 Tap ()30
€ o E
2 E 30(2214) EzZ 362057
S5 2001478 T M16x2 Tap ()30 @18 Thru (E7L) 2w 2401771 T M16x2 Tap (B2i)30 @18 Thru (iE3L)
o R
s jw'fu 10 (7.38) B | 5/8"-11UNC-2B Tap (KF)30 | 5/8"-11UNC-2B Tap (IZiF)30 é = 12 (8.86) B | 5/8"-11UNC-2B Tap (K#)30 | 5/8"-11UNC-2B Tap (IKi%)30
o =
- 150 300 450 600 750 BT | 5/8"-11UNC-2B Tap (%i%)30 @18 Thru (IBFL 200 400 600 800 1000 BT | 5/8"-11UNC-2B Tap (B%)30 @18 Thru (Bl
(33.75) (675) (101.25) (136) (168.75) PR ol & @ & &3 P (KR (L)
Axial Load @7 kN(x103 Ibf) Axial Load #ifa) & /a7kN(x103 1bf)
! % Slewing Drive Performance Parameters = Slewing Drive Performance Parameters
6= g Be® [¢]

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Torque Rating Rating Rating Rating Ratio  Precision

HHEEE B H%E RIFNE IR RFEgHE | mEmEET | fEmEET | OREt | BESR | Z8 LR REHE RIFHE IR RFOfBEE | HEsEE | FasEE | REt | BESR | 82
9.5kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN 10.8kN.m 712kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN
79:1 <0.15° 74 kg 86:1 <0.13° 82kg
7011 Ibf.ft 42.1x10°Ibf.ft | 32x10°Ibf.ft 171.1x10% Ibf 62.9x10%Ibf | 42.7x10°Ibf 33.3x10° Ibf 7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10°Ibf 80.9x10%Ibf | 51.7x10%Ibf 44.9%10° Ibf
o A\ ©Please be sure to remain under the curve BEREETESFASERETER. 3 o A ©Please be sure to remain under the curve R ERESFEFENSTEAN. 0
A éi\’;ﬁﬁlrgqu*s %I};JWED & * This drawing is just for your refenece.lA B4R ES %, i A \%E\V;l%/ﬁl;r\gq“;lns %;;‘%WED A * This drawing is just for your refenece. LA B RS %, i
é © This drawing is susbject to change due to new design without prior notice. A A EI{REB B P~ RAILFI § » This drawing is susbject to change due to new design without prior notice. AN A EHR B BUHF=RAIEF]
, o TABBTE. ! ) o MABBTEM. 1
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. |
FIRERENR R TIFERL T NRRBEEMUYRTINESEE, BORABIEE, | FIRIEIEARRETIFRR T NRRBEENRIIEESEY, BORABIIER.




SLEWING DRIVE

FRONT VIEW

IEMRE

Cover

Pairs

A
|

[E14E =V iR RS

405

202.5
%

285

3497F

!
Input 3N

R285+2

Grease Plug

ety
20-M

Equally Spaced
ki)

20-N

>

Equally Spaced

SIDE VIEW 2406 ’
MARE | 20-018
%{ m Equally Spaced
i 3 g
_o322 |
@439
J479.4
@511

— & E HIEE MOMENT LOAD CHART—————

, & 150(1107)

32 152(92.25)

o O

£ X 100 (73.8)

g E

= 75 (55.35)

O X

=@ 50 (36.9)

2R

S @ 25(1845)

F i
226.7
(50.9)

453.5 680.3

907.1

Axial Load a1 farkN (x103 Ibf)

1133.9
(101.9) (152.9) (203.9) (254.9)

INPUT N

UNITS/# {i:mm
1inch=25.4mm

Weight:108kg

+0.08 66
8 +0.02
0253 °
025 | =
195 NS
SR - i
< 1241 ?I_g
)8 -8
leg | Nl &
.o u‘\\\ I
{2 -
2-M12x1.75
325
52
0w |22
gi ; o) —
0| AOYO ]
° @/ © S 8
T ? o
pEas ﬁ p 1761 Q| B
it B ﬁ g I = @ %
2159403 @ © ‘ Z “
.0Y+0.3 L
T on YO © 4
25.32+03 2-M12x1.75 .10
27.5
6B Splinettiz
E— §§;L&Iﬁ Mounting Holes Opton —— 8
Code M N
(e z] (Outer Ring 4hE]) (Inner Ring )
— M16x2 Tap (IZR)32 M16x2 Tap (IR)32
T M16x2 Tap (BIR)32 @18 Thru (J&@7FL)
B | 5/8"-11UNC-2B Tap (KIi%)32 | 5/8"-11UNC-2B Tap (IZiF)32
BT | 5/8"-11UNC-2B Tap (IiF)32 @18 Thru (&7L)

14 &8 Z243E Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
HHEEE ELE REEHIE IR D=0 A EhE e REmHEE | R | BESR | Z8
12.96 kN.m 1424 kN.m 72.3 kN.m 1166 kN 435 kN 280 kN 231 kN
104:1 <0.1° 108 kg
9564 Ibf.ft 105.1x10%Ibf.ft | 53.4x10°Ibf.ft | 262x10°Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10° |bf

“A” VIEW AS INPUT IS ALLOWED
BNBRWFE “A” ERE

 This drawing is just for your refenece.lA B4Rt S %,

SPECIAL DESIGN BASE ON CUSTOMER'’S REQUIREMENT

AIREMENE R TIFRRT

MABBTEM. :
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEYIERITMERSEY, BERATIIHR. :

& * Please be sure to remain under the curve. S8Rt iE 5 {RCRRE LB o
z
e}
3
[e]
m
4

» This drawing is susbject to change due to new design without prior notice. 482X E1{R 88 B 7= S FIALF)

SLEWING DRIVE [E§53t %22

UNITS/&  {iz:mm
1inch=25.4mm

Weight:122kg

FRONT VIEW INPUT N
ERE
R312.5+2 +0.08 66
Cover oo 8 +0.02 10
WHiRE Grease Plug @25+0025 W ,ﬁy N
i 9% 4 "(é\f ——
i 3@ ‘ < S| | 1241 22
9 % 8 ~ o
<6 80 A - &
~ 32-M ol (© © N: ;.“\\\\\ |
N Equally Spaced Q Q‘ © I/////
2l 2-M12x1.75
31N
312;52 Based On 32 Equally Spaced
377.5 4 327197 @25
| Input BN 22 1 22
SIDE VIEW ‘g ©/©{ %5 = i}
iR 2490 ‘ S / - g,
[@420] \ 31-018 o -ﬁﬁ g - 1701 8] 8
2380 Based On 32 Ec%ally Spaced % =] it — 9 g
3 - " #%327.19% 215028 | & © Z Q
. +0.3 L
8 : 7051 O \\ @ ——
2370 25.32103 2-M12x1.75 .10
2490 1275
2520 .
yrad
s 6B Splinefrig
—— E‘ﬁﬁ*ﬁ MOMENT LOAD CHART—— *at;l, Iﬁ Mounting Holes Option
L8 20 (147.46) " N
g2 160 (117.97) (Outer Ring 4M&) (Inner Ring PIFE)
o O
= <
T L 120 (88.48) — M16x2 Tap (BOF)32 M16x2 Tap (BIF)32
E Z
g = 80 (58.98) T M16x2 Tap (BUR)32 @18 Thru (iBFL)
) o
£ w10 (@949 B | 5/8™11UNC-2B Tap (BZi%)32 | 5/8"-11UNC-28 Tap (KZ%)32
=
400 800 1200 1600 2000 BT | 5/8" LR ;
) (19994 212%%) (519 2999, 5/8"-11UNC-2B Tap (BGR)32 @18 Thru (&7L)

Axial Load 3#ia TG kN (=103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Torque Rating Rating Rating Rating Ratio Precision VVeight
BItHEEsE R S%E fRISO5E R REEEE | MEmEs | fasiEdE | Rkl | BESR | 28
18.5kN.m 196 kN.m 80.1kN.m 1800 kN 675 kN 290 kN 250 kN
94:1 <0.1° 122 kg
13640 Ibf.ft | 144.5x10%Ibf.ft | 59.1x10°Ibf.ft | 404.64x10°Ibf | 151.4x10°Ibf | 65.2x10°Ibf 56.2x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE “A” ERE

* This drawing is just for your refenece.lA B RS %,

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREMENE R TIFRET

MABSBTEM.

NRFEEBNIIMERIMMESEY, ESRARIIKER.

A * Please be sure to remain under the curve.i%BR SR LR A LS BEM

§ » This drawing is susbject to change due to new design without prior notice. 482X S5 88 B0 7= S ARIRLFI
a
=3

* Please contact the technical department for dimensions and performance parameters of the drives. !



SLEWING DRIVE [E§s=RESS SLEWING DRIVE [E§=miES

UNITS/E2 {iZ:zmm

UNITS/&  {iz:mm
1inch=25.4mm

1inch=25.4mm

Weight:188kg Weight:205kg

FRONT VIEW INPUTIEDRNGE] FRONT VIEW INPUT RN
ERE TFRE
Cover 'T‘ R346.5+3 g 10% 66 1A 830 IAV
o +0.02 350 350 ,R346.5+3 S
RIS\ g° \ go
! ™ Cover ’ | Cover ©
Grease Plug Q o _ é i Q
i < o N Grease Plug < o
S - gl 2| - T R -8l @
0 ~ ~
M 0 0 w
2 +0.065 o | e lHAE BE | ol ol +0.065
N @25 +0.025 ) Q @25+0.025
35.N \2|v|12x1 75 Tap (BUR ) 21 35 ”ﬁ | ‘ R \2M12x175Tap(151 )
Based On 36 Equally Spaced ﬁL_J L N i .L_J
1367197 z
‘ 25 Input BN | | Input SN 25
Input AL ez 52 36-M 35N g 52
fF | Equally Spaced Based On 36 Equally Spaced -
& O~ % 136711975 &
SIDE VIEW 255043 , € i, © Jpe1 50 SIDE VIEW g Jpe1 0
MR 2466.7 | 35022 S DI === g EE @550+3 sl 8 === g
Tt T 2| © NS o ©466.7 S| © N5 o
Based On 36 Equally Spaced o - @ - X
. +051 8o Q e} @425 +051 Q
o[ BT ﬁ; 1%363L19% @21.59 403 ~—0— . 1@ o] , @21.59 03
- n . [sp]
- ;@F +051 | 2-M12 Tap (BUR ) 21 L35 8 { q{ 2| 3 +051 2-M12x1.5 Tap (HUR) 21 L35
w @25.32 +03 120 - =) © i @25.32 +03 120
@425
@547
. 2584.2 N
6B SplinefeE 2629 6B SplinefesE
— ®&&F 5EE] MOMENT LOAD CHART—————— — ZEEREIE Mounting Holes Option ——— — & # 1355 E] MOMENT LOAD CHART———— L FLIFEIR Mounting Holes Option
o 240 (177) i T N L & 240(177) - 5
f’é 2 200(147.5) v ] (Outer Ring 4M&)) (Inner Ring PIFE]) g5 200(147.5) (Outer Ring 4M&l) (Inner Ring PIFE)
23 11 22 160 (118
£ 160 (( 8)) — M20x2.5 Tap (BUR)40 M20x2.5 Tap (B5)40 E 120 ((88 5)) — M20x2.5 Tap (BUR)40 M20x2.5 Tap (BUR)40
S ;_; 80 (59) T M20x2.5 Tap (BUR)40 @22 Thru (B7L) 2 E,:Z 80 (59) T M20x2.5 Tap (BIR)40 @22 Thru ({B%L)
(=) o
g @ 40 (29.5) B | 3/4"-10UNC-2B Tap (BUR)40 | 3/4"-10UNC-2B Tap (I&iF)40 é @ 40 (29.5) B | 3/4"-10UNC-2B Tap (BIF)40 | 3/4"-10UNC-2B Tap (KiF)40
= =
200 1500 1800 BT | 3/4" i 1500 BT | 3/4" KGR ;
(674)(134 8)(202 2)(269 %) 598 48%% 3/4"-10UNC-2B Tap (BIR)40 @22 Thru ({@7L) (674) (134 8)(202 2)(269 6) 59 (404 4) 3/4"-10UNC-2B Tap (BIiF)40 @22 Thru ({@7L)

Axial Load a1 farkN (x 103 Ibf) Axial Load 3#[a)3 kN (x103 Ibf)

14 &8 Z243E Slewing Drive Performance Parameters

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output

Holding

Tilting Moment Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking . Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘'/eight Torque Torque Torque Rating Rating Rating Rating Ratio  Precision
HHEEE REHE REEHIE IR D=2 A Eh & RamEsE | REt | BESR | 2= e & HE RISE I ERETE BT A EhETET RamsEs | mE | BESER | EE
28.7 kN.m 203kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 48 kN.m 203kN.m 179.9kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 | <0.4° | 188kg 90:1 | <0.1° | 205kg
21180 Ibf.ft 150x10%Ibf.ft | 78.1x10°Ibf.ft| 359x10°Ibf 144%10° Ibf 87x10°Ibf 75%10° Ibf 35408 Ibf.ft 150x10%Ibf.ft [132.7x10°Ibf.ft | 359%x10°Ibf 144x108 Ibf 87x10°Ibf 75%10°Ibf
o A ©Please be sure to remain under the curve BRESTESFASERATER. § o A ©Please be sure to remain under the curve BRETBERESFEFENSTEAR. 00 |
. QE\V;%AELEXEU‘&I”S QJI}JI;T,WED & * This drawing is just for your refenece. LA B4RVt &%, : %E\VQI%IXLJF’;;L{TA'"S Q]I}I;”.%WED A ° This drawing is just for your refenece.LL LIRS %

» This drawing is susbject to change due to new design without prior notice. 2/ SR 88 B 7= R AIHF)
MABBTEN. |
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

S e This drawing is susbject to change due to new design without prior notice. <A E)R B8 B0 = R HIRLF
o  MABS{TEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
B NRBERENIMERIMRESEH, BERABIIKR. :

[}
=
SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT (ri

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZT

AREMENE R TIFRET




SLEWING DRIVE [E§5= RS2

UNITS/8 {iZ:mm
1inch=25.4mm

Weight:255kg

FRONT VIEW INPUT RN lE
ERE
R407.5+3 o
=2 4-R10 43.30
A
| v SR -«
] N 2165 T
ol Plug SN g
NG HEEE | / Wé\ \ So
= ‘ s ==a) o
9] 1 7 T N
40025\ ' / @ 3
= _@40 0 X" \:@ksﬁ 3
Equally Spaced = ~ -
5% “\«4"‘? T -
B |B
416
29-N 140x140 68 || 12
486 Based On 30 Equally Spaced E—
]Input LN 2307195
B-B
SIDE VIEW 2628 4-M12
MARLE 2560 Equally Spaced
30-918 B
Equally Spaced .
g2 ©
§ s T re) 4-@13.5
= 4 & Equally Spaced
9%
240
— & E HIEE MOMENT LOAD CHART————— — ZZEFLEIA Mounting Holes Option —
o E 298.28(220) - .
g2 271.16(200) > (Outer Ring 4ME) (Inner Ring PIE)
o O
F <
- 244.04 (180
g § (180) — M16x2 Tap (BGR)40 @18 Thru (J&FL) LI@30 T 17
E Z 21693(160)
= @ 189.81(140) T M16x2 Tap (BUR)40 218 Thru (&4L) L1230 T 17
c R
= 5 162.70(120) B | 5/8"-11UNC-2B Tap (¥iF)40 | @18 Thru (iBFL) LI@30 T 17
N 800 1200 1600 2000 2400 BT H iR i
%) 280%) 3589, #S8%) 245% 5/8"-11UNC-2B Tap (Ii#)40 | @18 Thru (&¥L)LI@30 T 17

Axial Load i arkN(x 103 Ibf)

14 &8 Z243E Slewing Drive Performance Parameters

Output Max Output  Tilting Moment  Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Torque Rating Rating Rating Rating Ratio  Precision

SLEWING DRIVE [E§53t %22

UNITS/EE {izmm
1inch=25.4mm

Weight:275kg

FRONT VIEW INPUT ENGE
IEAE A
| 486 | 02
416 2?2 4-R10 43.30
R416+3 \y I
@165 = -
(o8] o=,
/ 4 < \
Plug 1{ \-}?\“ ‘,
| 7 T
2 iﬁg/ i 10025 Y C ¢ /I R
S @40 o @ X L\??'
~Z f?ﬁhl o
: B |B
. . 68 12
B Input | | Input BN 140x140
29-N 30-M
Based On 30 Equally Spaced Equally Spaced
1=307L.1597 B
2628 B-B
SIDE VIEW 2512 = ‘}I'MS“ .
AR E | 30-018 i qually Space
Equally Spaced N
%
o e ! )
Sleri ] RN © 4-013.5
& Equally Spaced
k]
40
@972

—— R E JI5EE] MOMENT LOAD CHART————

ﬁ%;biﬁlﬁ Mounting Holes Option

298.28 (220)

271.16(200)

N
(Inner Ring IR

M
(Outer Ring 4M&])

244.04 (180)

— M16x2 Tap (BGR)40 @18 Thru (1E7L) LI@30 T 17

216.93(160)

189.81(140)

T M16x2 Tap (BUF)40 @18 Thru (&%) LI@30 T 17

Tilting Moment Torque
IREB S kN.m(x10°Ibf.ft)

162.70(120)

B | 5/8"-11UNC-2B Tap (BGX)40 | @18 Thru (i&7L) LI@30 T 17

800 1200 1600 2000 2400
(179.9) (269.8) (359.7) (449.6) (539.6)
Axial Load &1 kN(

Output Max Output  Tilting Moment
Torque Torque Torque

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

BT | 5/8"-11UNC-2B Tap (BGF)40 | @18 Thru (iBFL) LI@30 T 17

%103 Ibf)

Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Rating Rating Rating Rating Ratio  Precision

otaet 23 BAEE R E AR FOFEE | W@ | FrEshEE | ORER | BESR N BB

25kN.m 30kN.m 180 kN.m 2360 kN 945 kN 590 kN 470 kN

94:1 <0.15° | 255kg

18439 Ibf.ft 22140Ibf.ft  |132.8x10%Ibf.ft| 531x10°Ibf 212x10°% Ibf 133x10° Ibf 106x10° Ibf

A" VIEW AS INPUT IS ALLOWED & * Please be sure to remain under the cu\rve.iiﬁ!ﬂ?i%m{%étﬁiﬁﬁﬁﬂﬁﬁlﬁ?\]u |
ENAYE ‘A [E = ° This drawing is just for your refenece.lA B4Rt %, :
S This drawing is susbject to change due to new design without prior notice. AR ABHREA M= FRHIRLF |

2

[

8

MABBTEN. !
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRRT

fante RAREE jlitbaris

WS | FEBEE | WMEsEE | fEsEE | Rl | BESR | B2

50 kN.m 60kN.m 180 kN.m

2360 kN 945 kN 590 kN 470 kN

36878 Ibf.ft 44280Ibf.ft  |132.8x10°Ibf.ft

94:1 <0.15° | 275kg
531x10° Ibf 212x10%Ibf 133x10° Ibf 106x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAVFE “A” ERE

* This drawing is just for your refenece. LA B4 RS %, i
* This drawing is susbject to change due to new design without prior notice. A A BIR BT RAILF |

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRET

MABSTE . !
* Please contact the technical department for dimensions and performance parameters of the drives. !

A * Please be sure to remain under the curve. 5B R SR LR A LS BEA

4

g

f

3
B OMRBEEBNINERIFIMEES T, BERATIIRKR.




SLEWING DRIVE [E$53miESS

FRONT VIEW
IEMRE

15-M16x2 Tap (BUR ) 32

Based On 16Equally Spaced

#Z167.19%
2-G1/2
Oil ports
HO
&,
©
8| ottt Hf-2
(127)
192
252
(308)
SIDE VIEW
MR E

Based On 16
Equally Spaced
#%167L19%

Ty,

Equally Spaced @270
% | 2306

16-M16x2 Tap

(BR) 32

k

UNITS/# {i:mm
1inch=25.4mm

Weight:53kg

- fﬁ%{#ﬂ]'ﬁﬁ%a}& Spur gear Drive Performance Parameters -

Module 1&2§ 4
GearRatio JHELY 5.33

Static Radial Rating 1R &% 135 kN

Static Axial Rating #[a)&# k7 338 kN

Dynamic Radial Rating 1R [a1zh#1ar 71 kN

Dynamic Axial Rating #iEzh%k7ar 81 kN
Rated Torque #E4E4E 3216 N.m
Rated Speed ZNELEE 5.06 rpm

- iﬁEEi&ﬁﬁ%ﬁ& Hydraulic Motor Performance Parameters =

Motor Displacement HE& ( ml/r) 625
Flow 78 (Ipm) 20
Pressure £/ (Mpa) 8.5
Torque #4%E (N.m) 710
Speed #5& (rpm) 27

—— REEBAZEE MOMENT LOAD CHART—————

24(17.7)

20(14.8)

16(11.8)
12 (8.9)

8 (5.9)

Tilting Moment Torque

4 (2.95)

1 H%E kN.m(x10° Ibf.ft)

50 100 150 200 250 300 350
(11.2)(22.5)(33.7) (45) (56.2)(67.4)(78.7)

Axial Load a1 farkN(x103 Ibf)

* This drawing is just for your refenece.lA B4R ES %,

SPECIAL DESIGN BASE ON CUSTOMER'’S REQUIREMENT

AIRIERE A E R TIFRRIT MABSTEN.

- i 3O1LON

& * Please be sure to remain under the curve. J%E TSR LRE I E ML BEN
» This drawing is susbject to change due to new design without prior notice. 482X SR B8 B 7= S FIALF)

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEAIERITUMERS Y, BERATIIHR. :

SLEWING DRIVE [E§53t %22

UNITS/E2 fi:mm
HESPH-0480
Weight:131kg
FRONT VIEW [ INPUT RN ]
ERE AA
[_- A+0 08 89

12 +0.02

2-1/8-27NPT b

+0.065
D42 +0.025

L Equally Spaced
A 1975

@42
- fﬁﬁﬁ{ﬁiﬂﬁﬁ%eﬁ}ﬂ Spur gear Drive Performance Parameters =

31-M16x%2 Tap 32
Based On 32 Equally Spaced

#%327.19% Module &1 8
GearRatio JEiELL 4.8
Radial Load (Max.) 2@ 1000 kN
Axial Load (Max.) #H[a1#7a 2800 kN
Output Torque (Max.) ¥iHiEEsE 18.5 kN.m
Tilting moment (Max. ) &% 250 kN.m
EJI|D-|E VIEW Number of teeth (wheel ) AtqEiE%L 72
EMES
Number of teeth ( pinion ) /G4 HG% 15
@470 .
[2420 | — R E 2 E] MOMENT LOAD CHART——————
Input | 31-918Thru(i&7L)
2382 Based On32 250
© Equally Spaced o & (184.5)
[7% O - 3271970 g2 (1%806)
o o .
HEE fTﬂg > s X 150
3 ‘ = e s & E (110.7)
52 100
@472 = (73.8)
[o520 | 2 & 50
@520 E W (36.9)
@550 =

1200 1800 2400 3000
(134 9) (269.8) (404.7) (539.6) (674.5)

Axial Load 3#[a1EfakN (<103 Ibf)

A * Please be sure to remain under the curve. 5B R SR LR A ELBEM

* This drawing is just for your refenece. LA B RS %, '
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT § » This drawing is susbject to change due to new design without prior notice. A R BT RARIIFI |
ARIERE N ERBTIFRZIT o  MABSTEM. '
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
B NRTERENINERIMRESEH, BERABIIKR. :




WHEEL DRIVE  {3EIRE)

WHEEL DRIVE  {FEIRE

° UNITS/8 {iz:mm UNITS/&  {iz:mm
1000 Series
Weight:53.5kg Weight:39.9kg
TOP VIEW FRONT VIEW VIEW P SIDE VIEW FRONT VIEW VIEW P
1ARE ERE P RE ERE P A
9 5-M12x1.5 ;h
© Tap(BF)23min R1.14max.] P
_ 113048
| — | | o |
4 9 8% .5 |5o| 9.65min | A 5 2ol §
— o o 7 $2| o| Q| 2575 S°%| p
= < = , 3| 2| =|Splinez®) 88—
- 2=< |4 =g —P » — ‘ 8| & | S[137 16/32DR a8
= HE AW/ § | s
Q Q S N\ N /
] ] ., SS=— N &
L 6x3/8"-16UNC-2B e
I Tap(BGR)19 ¥ ‘ - Equally Spaced
Equally Spaced Paint +0.54 ud
6.35|| 89.14 q t’éﬁp M 1095 | | ooy 9-M16x1.5-6g
256.65 42.46 i . 3 —
106£1.3 (111.92)
15&%5&5” ﬁﬁ‘é%ﬁﬁ Wheel Drive Performance Parameters ﬁi'é—?liﬁ] ﬁﬁggﬁﬁ Wheel Drive Performance Parameters
Item IE DC Drive Parameters(EIiFBIKES%) | AC Drive Parameters(3 IR S %)) Item INH DC Drive Parameters(EFEEBIKSE])
N ; ; ic Dri R ; i ic Dri eEit SE A SR R f f f “® O o = =
Application Type i%FREEH| 25 8-14m S(gisz; Igé,ftg,(le'é!;cytl;c Drive) 14-16m (81(:_515;:] I%%%E;cytr)lc Drive) Application Type iEFEEH12EEY 14-16m Articulating Boom Lift(Electric Drive)(14-16mEBIKGNHHE S = Z%)
- = = = Gradeability i&FREEHICIRE 45%
Gradeability 1&FIZEHICIH R 25% 25% Ratio JERHLEIELL
= = atio JHIRHLSIE 64.08:1
ERALSELL 45.13:1 45.13:1 Output Type JFEEHE LB Hub O L=t
e S utpu e i A A ub Output(ECER )
Output Type JEEEH AT Hub Output((6#REiH) Hub Output(4$E8#H) put Type = E: PUt(ELEREALE)
Rated Output Torque(Nm) ZREH LHRAE(Nm) - - Rated Output Torque(Nm) ZiE i HH%E(Nm) 2800
Output Torque(Max.)(Nm) &K% HHAE(Nm) 790 1000 Output Torque(Max.)(Nm) £ A% HHH%E(Nm) 5600
Rim Bolts Circle Diameter(mm) 2£#8i24& () E EL/E (mm) 216 216 Rim Bolts Circle Diameter(mm) $#8iRie OB EHZ(mm) 241.30
Rim Bolts Specification 3HEIZAR IS 5-M12x1.5 5-M12x1.5 Rim Bolts Specification 3 HEIZAR 1K) 9-M16x1.5
Rim Pilot Diameter (mm) #&38.E B2 (mm) 184.15-8.13 184.15-0.13 Rim Pilot Diameter (mm) #48.E & (mm) 200-0.046
Outer Diameter of Reducer Housing(Max.)(mm) 240 240 Outer Diameter of Reducer Housing(Max.)(mm)
RIS FSARAYME (mm) TR SRR ASME(mm) 278
Frame Installation Pilot Depth(mm) ZE22%2% 1E iR E (mm
pth( )E;tﬁﬁfmg(z ) 6'350 6'350 Frame Installation Pilot Depth(mm) ZE28222& 1F 3R EE (mm) 101833
Frame Installation Pilot Diameter(mm 2222t |IEOE2R(mm ~ ~
(mm) 228 (mm) 171.45-013 171450413 Frame Installation Pilot Diameter(mm) ZE28%22¢ 1 [ EH1%(mm) 177.80-0.13
Frame Mounting Bolts Circle Diameter(mm) 190.50 190.50 = Mounting Bolts Circle Diameter(mm)
B : . rame Mounting Bolts Circle Diameter(mm
o # 2R D E B (mm) 209,95
6-3/8"-16UNC 6-3/8"-16UNC
Frame Mounting Bolts Specification ZEZ2Zz 3248 1S 6-5/8"-11UNC
Distance from Rim Mounting Surface to Motor Rear(mm) 256/218 258 e T RRERRE
R B R E R R T (mm) otal Length of Reducer(mm) J&i£es = 1<E (mm) 216
0
Voltage(V) FEHLEEE(V) 24V DC Motor(24VETEBH1) 24V AC Motor(24VETEEH) VORI ) 101.63-0.13
Power(W) EBHLIIZE(W) 800 870/1000 Power(W) FB#E03(W) 112048
Rated Braking Torque(Nm) =028 8tE 5 z0HHE(Nm) 20 20 Rated Braking ue(Nm) Flzhzs 8RSz (Nm) 137-16/32 DP
§ —~ *° This drawing is just for your refenece.lA EEIRIZ 2% . : § — * This drawing is just for your refenece. LA L EILE{Nfit5% :
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT G This drawing is susbject to change due to new design without prior notice. A R BB U = RANA) | SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT G This drawing is susbject to change due to new design without prior notice. ANAEHR BB U= RAIA) |
AIRIEIRE B K TR MR T o MABSTEN. : AIRIE I A0 B K AT IEARR T o MABBTEX. :




